

FIRST AMENDMENT TO TOWN OF CASTLE ROCK CONSTRUCTION CONTRACT (WORK PACKAGE ONE FOR FIFTH STREET UTILITIES PROJECT - CRW)

DATE:

PARTIES: TOWN OF CASTLE ROCK, a Colorado municipal corporation, 100 N. Wilcox Street, Castle Rock, Colorado 80104 ("Town").

GLOBAL UNDERGROUND CORPORATION, a Colorado corporation, 641 Winters Drive, Colorado Springs, Colorado 80907 ("Contractor").

RECITALS:

- I. The Town and Contractor are parties to the Town of Castle Rock Construction Contract (Fifth Street Utilities Project) dated February 5, 2025 (the "Agreement"), attached hereto as *Exhibit A*. The Agreement approved preconstruction services for a not-to-exceed compensation amount of \$200,000.00.
- II. The Fifth Street Utilities Project (the "Project") will be completed in one Work Package. Contractor is to be paid a not-to-exceed Contract Price for completion of the Work Package in accordance with the Contract Documents. The Contract Price will be no greater than the Guaranteed Maximum Price ("GMP") established for the Work Package.
- III. The Parties hereby desire to amend the Agreement to expand Contractor's scope of work to incorporate Work Package One and to establish the Initial GMP for Work Package One, as provided in the supplementary scope of work attached as *Exhibit B*. The Parties further desire to amend the Agreement to set a completion of work date for Work Package One.
- IV. The Town and Contractor wish to memorialize these changes in this First Amendment to the Agreement ("First Amendment").

TERMS:

1. <u>Amendment</u>. The Section of the Agreement titled "SCOPE OF WORK" is amended to read as follows:

"SCOPE OF WORK. The Contractor shall execute the entire scope of work described in the Contract ("Work"), in accordance with *Exhibit 1* to the Contract and *Exhibit B* to the First Amendment, subject to any Modifications or Change Orders issued and approved after execution of the Contract, under the guidelines in the General Conditions. Contractor shall perform the Work for Work Package One, as set forth in *Exhibit B* to the First Amendment, and the Drawings and Specifications for Work Package One, all of which shall be a part of the Contract Documents."



2. <u>Amendment</u>. The Section of the Agreement titled "LIST OF CONTRACT DOCUMENTS" is amended to read as follows:

"LIST OF CONTRACT DOCUMENTS.

The Contract Documents consist of this Agreement and all documents to be added by Amendment to this Agreement upon completion of the scoping, design and pricing of the Project. The work associated Contract Documents, Contractor's pricing as agreed to, and all other necessary components shall be added to this Agreement by Amendment and shall become a fully enforceable part of this Agreement.

Contract Documents include the following for Preconstruction Services:

Construction Contract General Conditions Rates/fees/scope of work in Contractor's Proposal

Contract Documents that will be added to this Agreement by Amendment shall be as follows:

Construction Contract General Conditions Supplemental Conditions, if applicable Final Drawings and Specifications Change Orders Notice of Award and Notice to Proceed Performance, Labor and Material Payment Bonds Insurance Certificates Notice of Substantial Completion Notice of Final Completion Exhibit A1. Initial Guaranteed Maximum Price ("IGMP") Cost Summary Exhibit B1. Labor Rates Exhibit C1. IGMP Detail - Work Package #1 Exhibit D1. Project Schedule"

3. <u>Amendment</u>. The Section of the Agreement titled "CONTRACT PRICE" is amended to read as follows:

"CONTRACT PRICE.

The Town shall pay the Contractor for performing the Work and the completion of the Project according to the Contract, subject to Change Orders as approved in writing by the Town, under the guidelines in the General Conditions.



Preconstruction Services shall be based on actual costs using approved billable rates for staff, and reimbursable expenses at actual cost without mark-ups. The preconstruction compensation shall be a not-to-exceed amount of \$200,000.00.

The Town shall pay Contractor a not-to-exceed Contract Price for completion of Work Package One in accordance with the Contract Documents. The Contract Price shall be no greater than the Guaranteed Maximum Price (GMP) established for the Work Package. Any costs above the GMP shall be paid by Contractor without reimbursement by the Town, subject to additions and deductions by Change Order as provided in the Contract Documents. The Town and Contractor shall together develop the GMP for the Work Package.

The Initial GMP for Work Package One shall be a not-to-exceed amount of **\$1,749,820.25**, and is subject to the full and satisfactory performance of the terms and conditions of the Contract. (The Initial GMP for Work Package One includes a contingency in the amount of \$112,625.84.) Any early material procurement paid for during the preconstruction phase shall be eliminated from the construction costs. The Agreement shall be amended to establish the Final GMP when the design for Work Package One is sufficiently complete to describe the clear intent and scope of the Work Package, at 90% Design Documents for the Work Package. Any costs above the GMP for Work Package One shall be paid by Contractor without reimbursement by the Town, subject to additions and deductions by Change Order as provided in the Contract Documents. The Town has appropriated money equal to or in excess of the Contract Price for this work.

Contractor acknowledges and agrees that this Agreement does not commit the Town to a full construction contract with Contractor (including but not necessarily limited to if for example an additional work package is subsequently needed), beyond the preconstruction compensation not-to-exceed amount of \$200,000.00 for preconstruction services and the GMP for Work Package One."

4. <u>Amendment</u>. The Section of the Agreement titled "COMPLETION OF WORK" is amended to read as follows:

"COMPLETION OF WORK.

Substantial Completion of the Work will be made as set forth in the Drawings and Specifications in the Work Package. Construction Completion of the Work will be made on or before the date set forth in the Work Package. Construction Completion of the Work for Work Package One shall occur by no later than one hundred twenty-five (125) calendar days after the issuance of the Notice to Proceed. The Town and Contractor recognize that time is of the essence of this Contract and that the Town will suffer financial loss if the Work is not completed by the Substantial Completion Date, plus any extensions thereof allowed in accordance with Article 12 of the General Conditions. The General Conditions are attached hereto and incorporated herein as *Exhibit 2*."



5. **<u>Ratification</u>**. In all other respects, the Agreement shall remain in full force and effect.

ATTACHED EXHIBITS:

EXHIBIT A – Agreement

EXHIBIT B – Scope of Work for Work Package One

- EXHIBIT A1 Initial Guaranteed Maximum Price ("IGMP") Cost Summary
- EXHIBIT B1 Labor Rates
- EXHIBIT C1 IGMP Detail Work Package #1
- EXHIBIT D1 Project Schedule

ATTEST:

TOWN OF CASTLE ROCK

Lisa Anderson, Town Clerk

Jason Gray, Mayor

Approved as to form:

Approved as to content:

Kaitlin Parker, Assistant Town Attorney

Mark Marlowe, Director of Castle Rock Water

CONTRACTOR – GLOBAL UNDERGROUND CORPORATION:

By:

(Signature)

Robert Meadows

(Print Name)

Its: President / CEO

(Title)



EXHIBIT A

AGREEMENT



TOWN OF CASTLE ROCK CONSTRUCTION CONTRACT (PRECONSTRUCTION SERVICES FOR FIFTH STREET UTILITIES PROJECT - CRW)

THIS CONSTRUCTION CONTRACT ("Contract") is made between the **TOWN OF CASTLE ROCK**, a Colorado municipal corporation ("Town"), 100 N. Wilcox Street, Castle Rock, Colorado 80104 and **GLOBAL UNDERGROUND CORPORATION**, a Colorado corporation, 641 Winters Drive, Colorado Springs, Colorado 80907 ("Contractor").

In consideration of these mutual covenants and conditions, the Town and Contractor agree as follows:

SCOPE OF WORK. The Contractor shall execute the entire scope of work described in the Contract and *Exhibit 1* ("Work").

CONTRACT. The Contract represents the entire and integrated agreement between the parties hereto and supersedes prior negotiations, written or oral representations and agreements. The Contract incorporates Contract Documents attached as Exhibits and or added by Amendment. In resolving inconsistencies among two or more of the Contract Documents, precedence will be given in the same order as enumerated.

LIST OF CONTRACT DOCUMENTS

The Contract Documents consist of this Agreement and all documents to be added by Amendment to this Agreement upon completion of the scoping, design and pricing of the Project. The work associated Contract Documents, Contractor's pricing as agreed to, and all other necessary components shall be added to this Agreement by Amendment and shall become a fully enforceable part of this Agreement.

Contract Documents include the following for Preconstruction Services:

Construction Contract General Conditions Rates/fees/scope of work in Contractor's Proposal

Contract Documents that will be added to this Agreement by Amendment shall be as follows:

Construction Contract General Conditions Supplemental Conditions, if applicable Final Drawings and Specifications Change Orders Notice of Award and Notice to Proceed Performance, Labor and Material Payment Bonds Insurance Certificates Notice of Substantial Completion Notice of Final Completion Exhibit A. Final Guaranteed Maximum Price Cost Summary Exhibit B. Labor Rates Exhibit C. Allowance List, Alternates and Unit Prices – Work Package #1 Exhibit D. Project Schedule



CONTRACT PRICE.

Preconstruction Services shall be based on actual costs using approved billable rates for staff, and reimbursable expenses at actual cost without mark-ups. The preconstruction compensation shall be a not-to-exceed amount of **\$200,000.00**. Contractor acknowledges and agrees that this Agreement does not commit the Town to a full construction contract with Contractor, beyond the preconstruction compensation not-to-exceed amount of **\$200,000.00** for preconstruction services.

If the Parties proceed thereafter to contract for Work Package One, the Town shall pay Contractor a not-toexceed Contract Price for completion of Work Package One in accordance with the Contract Documents. The Contract Price shall be no greater than the Guaranteed Maximum Price (GMP) established for the Work Package. Any costs above the GMP shall be paid by Contractor without reimbursement by the Town, subject to additions and deductions by Change Order as provided in the Contract Documents. The Town and Contractor shall together develop the GMP for the Work Package.

COMPLETION OF WORK. Substantial Completion of the Work will be made as set forth in the Drawings and Specifications in the Work Package. Construction Completion of the Work will be made on or before the date set forth in the Work Package. The Town and Contractor recognize that time is of the essence of this Contract and that the Town will suffer financial loss if the Work is not completed by the Substantial Completion Date, plus any extensions thereof allowed in accordance with Article 12 of the General Conditions; the General Conditions are attached hereto and incorporated herein as *Exhibit 2*.

LIQUIDATED DAMAGES. If the Contractor fails to complete the Work by the date set for completion in the Contract, or if the completion date is extended by a Change Order, by the date set in the Change Order, the Town may permit the Contractor to proceed, and in such case, may deduct the sum of \$1,000.00 for each day that the Work shall remain uncompleted from monies due or that may become due the Contractor. This sum is not a penalty but is a reasonable estimate of liquidated damages.

The parties agree that, under all of the circumstances, the daily basis and the amount set for liquidated damages is a reasonable and equitable estimate of all the Town's actual damages for delay. The Town expends additional personnel effort in administering the Contract or portions of the Work that are not completed on time, and has the cost of field and office engineering, inspecting, and interest on financing and such efforts and the costs thereof are impossible to accurately compute. In addition, some, if not all, citizens of Castle Rock incur personal inconvenience and lose confidence in their government as a result of public projects or parts of them not being completed on time, and the impact and damages, certainly serious in monetary as well as other terms, are impossible to measure.

SERVICE OF NOTICES. Notices to the Town are given if sent by registered or certified mail, postage prepaid, to the following address:

TOWN OF CASTLE ROCK Town Attorney 100 N. Wilcox Street Castle Rock, CO 80104

With a copy to: <u>Legal@crgov.com</u>

INSURANCE PROVISIONS. The Contractor must not begin any work until the Contractor obtains, at the Contractor's own expense, all required insurance as specified in the General Conditions. Such insurance must have the approval of the Town of Castle Rock as to limits, form and amount. *The Certificate of Insurance ("COI") must be submitted along with the executed contract as Exhibit 3*.



RESPONSIBILITY FOR DAMAGE CLAIMS. See Article 6 of the General Conditions in *Exhibit 2*.

The Contractor also agrees to pay the Town all expenses, including attorney's fees, incurred to enforce this Responsibility for Damage Claims clause.

Nothing in the **INSURANCE PROVISIONS of the General Conditions** shall limit the Contractor's responsibility for payment of claims, liabilities, damages, fines, penalties, and costs resulting from its performance or nonperformance under the Contract.

STATUS OF CONTRACTOR. The Contractor is performing all work under the Contract as an independent contractor and not as an agent or employee of the Town. No employee or official of the Town will supervise the Contractor. The Contractor will not supervise any employee or official of the Town. The Contractor shall not represent that it is an employee or agent of the Town in any capacity. The Contractor and its employees are not entitled to Town Workers' Compensation benefits and are solely responsible for federal and state income tax on money earned. This is not an exclusive contract.

THIRD PARTY BENEFICIARIES. None of the terms or conditions in the Contract shall give or allow any claim, benefit, or right of action by any third person not a party to the Contract. Any person, except the Town or the Contractor, receiving services or benefits under the Contract is an incidental beneficiary only.

INTEGRATION. This Contract integrates the entire understanding of the parties with respect to the matters set forth. No representations, agreements, covenants, warranties, or certifications, express or implied, shall exist as between the parties, except as specifically set forth in this Contract.

DEFINITIONS. The Definitions in the General Conditions apply to the entire Contract unless modified within a Contract Document.

AMERICANS WITH DISABILITIES ACT. Contractor agrees to ensure that any deliverables, work, services, or equipment developed, designed, constructed or produced pursuant to this Contract, to include website design services, will comply with all requirements of Title II of the Americans with Disabilities Act and, where applicable, Section 504 of the Rehabilitation Act, the Architectural Barriers Act, and the Colorado Anti-Discrimination Act. To the extent any deliverables, work, services, or equipment developed, designed, constructed or produced pursuant to this Contract fail to comply with the requirements of this Section, Contractor shall indemnify the Town in accordance with the terms or this Contract and, at the Town's option, shall re-vise, re-construct, or similar, the non-compliant deliverable, work, service, or equipment, or reimburse the Town for the cost associated with bringing the non-compliant deliverable, work, service or equipment into compliance.

NO DISCRIMINATION IN EMPLOYMENT. The Town is a governmental agency and, therefore, in connection with the performance of Work or Services under this Contract, Contractor shall not refuse to hire, discharge, promote or demote, or to discriminate in matters of compensation against any person otherwise qualified, solely because of race, color, religion, national origin, gender, age, military status, sexual orientation, gender identity or gender expression, marital status, or physical or mental disability, or any other protected class under Federal or State law; and Contractor shall insert the foregoing provision in any subcontracts hereunder.

TITLE VI COMPLIANCE. To the extent applicable, Contractor shall ensure its current and future compliance with Title VI of the Civil Rights Act of 1964, 42 U.S.C. § 2000d et seq., as amended, which prohibits the exclusion from participation, denial of the benefits of, or subjection to discrimination under



programs and activities receiving federal financial assistance, of any person in the United States on the ground of race, color, or national origin.

ADVERTISING AND PUBLIC DISCLOSURE. Contractor shall not include any reference to this Contract or goods or services provided pursuant to this Contract in any of Contractor's advertising or public relations materials without first obtaining the written approval of the Town. Nothing herein, however, shall preclude the transmittal of any information to officials of the Town, including without limitation, the Town Attorney, Town Manager, and the Town Council.

VENUE, CHOICE OF LAW AND DISPUTES. Venue for all legal actions shall lie in the District Court in and for the County of Douglas, State of Colorado, and shall be governed by the laws of the State of Colorado as well as the Charter and Municipal Code, rules, regulations, Executive Orders, and fiscal rules of the Town.

AUTHORITY. The individuals executing this Contract represent that they are expressly authorized to enter into this Contract on behalf of the Town and the Contractor and bind their respective entities. This Contract is executed and made effective as provided herein.

LICENSES/TAXES. Contractor affirms it is licensed to do business in the State of Colorado and is in good standing. Further, Contractor shall be solely responsible for paying all applicable taxes associated with or rising out of this Contract.

CONFIDENTIALITY. Contractor agrees that it shall treat as confidential all information provided by the Town regarding the Town's business and operations. All confidential information provided by the Town hereto shall be used by Contractor solely for the purposes of rendering services or work pursuant to this Contract and, except as may be required in carrying out the terms of this Contract, shall not be disclosed to any third party without the prior consent of the Town. The foregoing shall not be applicable to any information that is publicly available when provided or which thereafter becomes publicly available or which is required to be disclosed by any regulatory authority in the lawful and appropriate exercise of its jurisdiction over a party, any auditor of the parties hereto, by judicial or administrative process or otherwise by applicable law or regulation.

ATTACHED EXHIBITS:

EXHIBIT 1 – SCOPE OF WORK EXHIBIT 2 –TOWN OF CASTLE ROCK CONSTRUCTION CONTRACT GENERAL CONDITIONS EXHIBIT 3 – CONTRACTOR'S CERTIFICATE OF INSURANCE

REMAINDER OF PAGE INTENTIONALLY LEFT BLANK



Executed this <u>5th</u> day of ATTEST: <u>Docusigned by:</u> <u>Bisa Anderson</u> <u>2 IsisateAnderson</u> , Town Clerk	TOWN OF CASTLE ROCK SEAL Signed by: David L. Corliss 1David Fasoreliss, Town Manager	C O L O R A D O
Approved as to form: Signed by: Laitlin. farker Kaitlin. Rarker, Assistant Town	Attorney Attorney Attorney Approved as to content: Signed by: Mark Marlowe Marked Markowe, Director of Castle	Rock Water

CONTRACTOR:

GLOBAL UNDERGROUND CORPORATION

By: (Signature)

Robert Meadows (Print Name)

Its: President / CEO (Title)



EXHIBIT 1

SCOPE OF WORK

The preconstruction services to be provided by Contractor under this Contract will include, but not be limited to, the services set forth below, including providing design input, completing value engineering assessments, performing cost estimating, completing exploratory potholing, tunnel calculations as needed, and early material procurement among other services as needed.

During the preconstruction period, Contractor will work with the Town and the Town's Design Consultant to ensure that construction fits within the budget, and will provide services including but not limited to: project management, budgeting, estimating, scheduling, constructability reviews, value analysis of all systems and components, determination of sequencing of work, information and reporting systems, subcontractor bid strategies and procurement throughout the construction document design phase, and attendance at regularly scheduled meetings during the design phase.

The Town intends to release completed designs of the Work to Contractor in one Work Package, which if the Town elects to so proceed, shall be an Amendment to the Agreement. The Work Package shall include a Guaranteed Maximum Price ("GMP") for the Work described in the Drawings and Specifications for that Work Package, all of which shall be part of the Contract Documents. Work Package One (WP#1) includes the construction of the water and sanitary sewer utilities. Any early material procurement paid for during the preconstruction phase will be eliminated from the construction costs.

No portion of the Work shall begin until the Town has approved the Work Package describing such portion of the Work and establishing the GMP.

The Contractor shall perform the Work in a good and workmanlike manner. The Work shall include, in addition to the Work expressly described in the Contract Documents, any and all work reasonably inferable by Contractor from the Contract Documents. Contractor shall exercise reasonable diligence and critical judgment in the review of all information, reports, surveys, drawings and tests pertaining to the Work or Project prior to proceeding with any work or activity based upon the same. Contractor is expected to be reasonably familiar with local building codes and requirements, and to bring to the attention of the Town's Design Consultant any discrepancy or compliance issue Contractor suspects or becomes aware of during the course of the Project.



Global Underground would like to offer the following services regarding the design build for the 5th Street Utility Improvements.

- Global will assign experienced, professional and dedicated team members to this project, that will attend meetings, build
 cost estimates, and offer our 25+ years of experience to the design and construction of this project. Our anticipated rate
 for preconstruction services would be approximately \$10,000.00, however if Global is awarded the construction contract
 we would waive the preconstruction fees.
- The daily rate for potholing will be \$3,900 plus disposal costs of \$150 each. Backfill and asphalt repairs will be billed at cost plus 9% overhead. Backup documentation will be submitted with billing. Costs are estimated to not exceed \$20,000.
- HDD and load Calculations will be billed at cost plus 9% overhead. See the attached GEI Consultants Rate sheet. GEI will bill hourly for all services complete. Costs are estimated to not exceed \$20,000.
- Most of the materials described, 1500 LF of 8" sanitary, 800 LF of 8" water, etc., are stock materials and would be on the shelves at the vendor's yard. The only questionable procurement would be sanitary manholes, those might have a 6-to-8week lead time. This lead time can be eliminated if pour in place bases are acceptable.
- Global strives to diligently work with the design teams in the early stages of projects to help mitigate any problems, issues, or potential setbacks prior to beginning the actual construction. We have spent countless hours in the preconstruction phases with clients assisting in troubleshooting issues to make sure we achieve a safe, and successful project.



FEE SCHEDULE 5th STREET UTILITY IMPROVEMENTS

 Services will be billed on the time worked by staff personnel as follows unless noted otherwise in the proposal or contract. Overtime hours will be charged at straight time rates.

Senior Consultant – 8	\$310
Senior Professional – 7	\$285
Senior Professional – 6	\$255
Senior Professional – 5	\$195
Project Professional – 4	\$185
Project Professional – 3	\$170
Project Professional – 2	\$155
Project Professional – 1	\$135
Administrative	\$100

- Direct non-salary expenses will be billed at GEI's cost plus a fifteen (15) percent markup for the following:
 - a. Reproduction and printing costs for project-related documents
 - b. Transportation and subsistence costs for travel including rental cars, truck, boats, trains, and other public carriers.
 - c. Express delivers such as UPS.
- 3. Mileage for use of personal or company vehicles will be billed at \$0.80/mile.
- Subcontractors retained by GEI for project-related services will be billed at our cost plus fifteen (15) percent.



EXHIBIT 2

TOWN OF CASTLE ROCK CONSTRUCTION CONTRACT GENERAL CONDITIONS

SCOPE: Since the General Conditions are general, some conditions may not apply to a particular Project.

Article 1--DEFINITIONS AND ABBREVIATIONS

- 1.1 Whenever used in the Bidding Documents and Contract Documents, the following terms shall have the following meanings, applicable to both the singular and plural:
 - 1.0.1 Addenda: Written changes to the Bidding Documents issued at least two days before the Opening of Bids which modify or interpret the Contract or changes the date set for the Opening of Bids.
 - 1.1.2 **Allowances**: Items of Work that cannot be definitively quantified prior to the actual performance of the Work. The Allowances used to develop the Work Package will not be used for payment to Contractor but shall be adjusted accordingly by Change Order.
 - 1.0.3 **Alternate Bid**: An Alternate Bid is an amount stated in the Bid added to or deducted from the base amount of the Bid when the Town accepts a corresponding change in project scope, materials or method of construction described in the Contract.
 - 1.0.4 **Bid**: The proposal the Bidder submits on the prescribed Bid Forms stating the prices for the Work to be performed.
 - 1.0.5 **Bid Forms**: The Bid Proposal, Bid Bond, Bid Schedule, Bidder's Qualifications and Data, Bidder's Officials Data, Non-Collusion Affidavit of Prime Bidder, and Subcontractors and Related Data.
 - 1.0.6 **Bidder.** The person, partnership, or corporation submitting a Proposal for the performance of the Work covered by the Contract.
 - 1.0.7 **Bidding Documents**: The Invitation to Bid, Bid Forms, Information and Instructions to Bidders, Specifications, Drawings, Sample Forms, Special and General Conditions and Addenda (if any).
 - 1.0.8 **Bonds**: Bid Bonds, Performance, and Labor and Material Payment Bonds or other instruments of security, furnished by the Contractor and its Surety according to the Contract.
 - 1.0.9 **Change Order**: A written modification of the Contract, issued after award to the Contractor, authorizing an addition, deletion or revision in the Work within the general scope of the Contract or authorizing an adjustment in the Contract Price or Contract Time, mutually agreed upon between the Town and the Contractor. The approved price of the Change Order will be added or subtracted to the Guaranteed Maximum Price. Change Order Work shall be accounted for in the same manner as all other items of Work contained in the applicable Work Package.



- 1.1.10 **Claim**: A written demand for payment of money, extension of time, or other relief allowed by this Contract.
 - 1.0.11 **Completion Date**: The date the Contract specifies the Work is to be completed.
 - 1.1.12 **Construction Completion**: Construction Completion of the Work occurs following Substantial Completion and when the Contractor has completed the Work in accordance with the Contract Documents, including completion of all punch lists and cleanup work, and the Contractor has submitted to the Owner:
 - (a) an affidavit that payrolls, bills for materials and equipment, and other indebtedness connected with the Work have been paid or otherwise satisfied;
 - (b) a certificate evidencing that insurance required by the Contract Documents to remain in force after final payment is currently in effect;
 - (c) a written statement that the Contractor knows of no reason that the insurance will not be renewable to cover the period required by the Contract Documents;
 - (d) consent of surety, if any, to final payment;
 - (e) all operating and maintenance manuals;
 - (f) identification lists of all materials and equipment;
 - (g) inspection Certificates;
 - (h) record documents;
 - (i) demonstration by the Contractor to the Owner concerning the proper operation and maintenance of all equipment;
 - (j) documentation of any special warranties, such as manufacturers' warranties or specific Subcontractor warranties, and
 - (k) if required by the Contract Documents, other data establishing payment or satisfaction of obligations, such as receipts and releases and waivers of liens, claims, security interests, or encumbrances arising out of the Contract, to the extent and in such form as may be designated by the Owner.
 - 1.0.13 **Contract**: The Construction Contract for the Fifth Street Water and Sewer Improvements Project, consisting of the Agreement for a Construction Contract and the incorporated Contract Documents.
 - 1.0.14 **Contract Coordinator**: The authorized representative of the Town designated to act for the Town in processing the Award of Contracts, maintaining centralized official Contract documentation, providing administrative liaison/coordination, legal liaison/coordination via Town Attorney, and processing of Contract Payment authorizations as approved by the Project Manager.



- 1.0.15 Contract Documents: All the documents expressly incorporated into the Contract by the Agreement for Construction Contract, including but not limited to Addenda, Bid Forms, Change Orders, Town Project Final Acceptance, Drawings, General Conditions, Information and Instruction to Bidders, Insurance Certificates, Invitation to Bid, Notice of Award, Notice of Construction Completion, Notice to Proceed, Notice of Substantial Completion, Performance and Labor and Material Payment Bonds, Special Conditions, Supplemental Drawings and Schedules, Technical Specifications, Work Packages, and documents establishing the Guaranteed Maximum Price. No one part of the Contract Documents shall constitute the Contract, but the whole taken together shall be the Contract between the parties.
- 1.0.16 **Contract Price**: The total monies payable to the Contractor under the terms and conditions of the Contract.
- 1.0.17 **Contract Time**: The number of days stated in the Contract for the completion of the Project.
- 1.0.18 **Contractor**: The person, company, firm or corporation contracting with the Town to construct, erect, alter, install or repair any work or construction project.
- 1.1.19 **Contractor's Contingency**; A cost included within the Guaranteed Maximum Price that can be utilized exclusively by the Contractor for the completion of Work that is required by the Contract Documents. The Contractor's Contingency may not be used for General Conditions Costs or the Contractor's Fee.
- 1.1.20 **Contractor's Fee**; An amount specifically identified in the Guaranteed Maximum Price, which the parties have agreed Owner will pay Contractor for performing Work in addition to the Costs of the Work itself. The Contractor's Fee, defined as Overhead and Profit, shall be calculated as a percentage of the Cost of the Work, including Direct Work and the General Conditions Costs only. At the time of the acceptance of the Final Guaranteed Maximum Price, this fee shall be converted into a fixed dollar amount.
- 1.1.21 **Cost of the Work**: Costs necessarily incurred by the Contractor in the proper performance of the completed construction exclusive of General Conditions Costs
- 1.0.22 **Date of Contract**: The execution date in the Construction Contract.
- 1.0.23 **Day**: A calendar day of twenty-four hours each.
- 1.1.24 **Defective**: Work and/or Materials that are unsatisfactory, faulty or deficient, do not conform to the Contract Documents, do not meet the requirements of any inspection, reference standard, test or approval referred to in the Contract Documents, or have been damaged prior to final payment (unless responsibility for the protection thereof has been assumed by Owner in accordance with this Contract).
- 1.1.25 **Direct Work**: Actual Work that is required by the Contract Documents exclusive of Work that has been identified as General Conditions Costs. Direct Work is the actual Work performed by Subcontractors, Suppliers and Self-Perform Work by the Contractor.
- 1.0.26 **Drawings**: The part of the Contract prepared or approved by the Project Manager showing the characteristics and scope of the Work to be performed.



- 1.0.27 **Field Order**: A written order directing a change in the Project issued by the Project Manager to the Contractor during construction, but does not involve a change in the Contract Price or the Contract Time.
- 1.1.28 **Final Guaranteed Maximum Price**: The maximum amount that the Owner agrees to compensate the Contractor for the successful completion of the Work including Contractor's Fee, as defined in the Contract Documents, based on actual and justifiable costs as demonstrated by the Contractor to the Owner, and subject to adjustments as provided for in the Contract Documents.
- 1.1.29 **General Conditions Costs:** All the costs required by the Contractor to manage and perform all aspects of the Work that are not elements of the Direct Work. These costs are all costs required by the Contractor to manage all aspects of the Project that are not permanent elements of the Work.
- 1.1.30 **Guaranteed Maximum Price (GMP)**: A price guaranteed by the Contractor as a not-toexceed amount for full performance of the Work including the Contractor's Fee.
- 1.1.31 **Initial Guaranteed Maximum Price**: The initial estimated price of the Work, including detailed costs based on assumptions including 30% design documents, preliminary project schedules, fixed general conditions costs, billable rates and rental rates, Contractor's Fee and additional information as required by the Owner.
- 1.0.32 **Inspector**: The Town's authorized representative assigned to make detailed inspection of the Work performed by the Contractor.
- 1.1.33 **Milestone**: A principal event specified in the Contract Documents relating to an intermediate completion date or time prior to Substantial Completion of all the Work.
- 1.0.34 **Notice of Award**: The written notice of the acceptance of the Bid from the Town to the successful Bidder.
- 1.0.35 **Notice of Construction Completion**: The written acknowledgment that construction is complete which starts the warranty period.
- 1.0.36 **Notice of Final Acceptance**: The written acceptance of Work performed under the Contract, following satisfactory conclusion of the warranty period.
- 1.0.37 **Notice to Proceed**: The written notice by the Town to the Contractor authorizing it to proceed with the Work which establishes the Contract commencement and Contract Coordinators.
- 1.0.38 **Notice of Substantial Completion**: The written notice of the date, as certified by the Project Manager, when the Project or a specified part is sufficiently completed, according to the Contract, so the Project or specified part can be used for the intended purposes.
- 1.0.39 **Owner.** The Town; see Section 1.1.52.



- 1.1.40 **Owner's Design Consultant**: The person, firm or corporation retained by Owner to provide engineering services as Owner's independent professional associate or consultant for the Work.
- 1.0.41 **Project**: The undertaking to be performed as provided in the Contract.
- 1.0.42 **Project Manager**: The authorized representative of the Town, known as the Project Manager, assigned to the Project to ensure that all Work is performed according to the terms and conditions of the Contract. Also see Article 10, "Project Manager's Responsibilities."
- 1.1.43 **Self-Perform Work**: Certain Direct Work identified in the Bidding Documents to be performed by the Contractor's own forces under a separate subcontract, other than Work defined in the General Conditions Costs.
- 1.0.44 **Shop Drawings**: All Drawings, diagrams, illustrations, brochures, schedules, and other data prepared by the Contractor, a Subcontractor, manufacturer, Supplier or distributor which illustrate how specific portions of the Work will be fabricated or installed.
- 1.0.45 **Special Conditions**: Additions to the General Conditions containing instructions and conditions peculiar to an individual Project.
- 1.0.46 **Specifications**: A part of the Contract Documents consisting of written technical description of materials, equipment, construction systems, standards, and workmanship.
- 1.1.47 **Subcontract**: A contract between a Contractor and a Subcontractor.
- 1.0.48 **Subcontractor**: Any person, company, firm or corporation, having a subcontract with the Contractor to furnish and perform on-site labor, with or without furnishing materials for the project.
- 1.1.49 **Substantial Completion**: Substantial completion occurs when the Work (or a specified part thereof) has progressed to the point that it can be utilized for the purposes for which it is intended, as further specified in Article 14. The terms "substantially complete" and "substantially completed" as applied to any Work refer to Substantial Completion thereof. A certificate of occupancy alone is not evidence of Substantial Completion.

Substantial Completion for the Project is further defined as (i) that degree of completion of the Project's operating facilities or systems sufficient to provide the Owner the full time, uninterrupted, continuous beneficial operation of the Work; and (ii) all required functional, performance and acceptance or startup testing has been successfully demonstrated for all components, devices, equipment, and instrumentation and control to the satisfaction of the Owner's Design Consultant in accordance with the requirements of the Specifications; and (iii) all inspections required have been completed and identified conditions corrected.

Specific items of Work, which shall be completed prior to declaration of Substantial Completion date includes, but are not limited to the following:

(a) Correction of all state, local, and other regulatory agencies defective work lists.



- (b) Operation and maintenance manuals have been received and approved by the Owner including, but not necessarily limited to, the following:
 - (i) Contractor's redline mark-ups to Owner's Design Consultant.
 - (ii) Operation and maintenance manuals, including service and maintenance agreements.
 - (iii) Equipment and data forms.
- (c) All special accessories have been provided that are required to place each item of equipment in full operation. These special accessory items include, but are not limited to, specified spare parts, valve operators, and other expendable items required for startup and operation of the operating facilities or systems as a whole.
- (d) All additional warranty or insurance coverage requirements have been provided.
- (e) All safety features are completed.
- (f) Any and all required occupancy permits have been issued by any governmental entity having jurisdiction.

Owner occupancy and use of substantially completed Work does not constitute final acceptance by the Owner of such Work.

- 1.0.50 **Supplier**: Any person or organization who supplies materials or equipment for the Work, including that fabricated to a special design, but who does not perform labor at the site.
- 1.0.51 **Surety**: The entity which is bound with and for the Contractor for the Performance of the Work and for the Labor and Material Bond.
- 1.1.52 **Town**: The Town of Castle Rock, in the State of Colorado, acting by and through its Mayor, Town Council, Town Manager, or other authorized representative.
- 1.1.53 **Undefined Holds**: An amount specifically identified in the Guaranteed Maximum Price which the parties have agreed will be required costs to complete the work but have not yet been secured as a component of Self-Perform Work or through Subcontractors or material suppliers.
- 1.0.54 **Unit Price**: An amount stated in the Bid as a price per unit of measurement for materials or services as described in the Contract.
- 1.1.55 Unit Price Work: Work to be paid for on the basis of unit prices.
- 1.1.56 **Warranty Work**: Work that is not in conformance with the Contract Documents. This includes Work that is defective.
- 1.0.57 **Work**: The construction and services required by the Contract, whether completed or partially completed, including all other labor, materials, equipment and services provided or to be provided by the Contractor to fulfill the Contractor's obligations. The Work may be the whole or a part of the Project.



- 1.1.58 Work Change Directive: A written directive to Contractor, issued on or after the Effective Date of the Agreement, ordering an addition, deletion or revision in the Work, or responding to differing or unforeseen physical conditions under which the Work is to be performed as provided in the Agreement or responding to emergencies under the Agreement. A Work Change Directive may not change the Contract Price or the Contract Time, but it is evidence that the parties expect that the change directed or documented by a Work Change Directive will be incorporated in a subsequently issued Change Order following negotiations by the parties as to its effect, if any, on the Contract Price or Contract Time as provided in the Agreement.
- 1.1.59 **Work Package**: The set of documents, including Drawings and Specifications, describing a phase of the total Work upon which a Guaranteed Maximum Price is based.
- 1.1.60 Written Amendment: A change to the Contract Documents that is signed by Owner and Contractor on or after the Effective Date of the Contract and normally addresses nonengineering or non-technical rather than strictly Work-related aspects of the Contract Documents. A Written Amendment may also add Work to the scope of the Contract.
- 1.1 **Abbreviations:** When the following abbreviations appear in the documents, they are defined as follows:

AASHTO	American Association of State Highway and Transportation Officials
ACI	American Concrete Institute
AISC	American Institute of Steel Construction
ANSI	American National Standards Institute
ASA	American Standards Association
ASCE	American Society of Civil Engineers
ASME	American Society of Mechanical Engineers
ASTM	American Society for Testing and Materials
AWS	American Welding Society
AWWA	American Water Works Association
CDOT	Colorado Department of Transportation
EPA	Environmental Protection Agency
MUTCD	Manual on Uniform Traffic Control Devices
OSHA	Occupational Safety & Health Administration
WW-P	Federal Specifications Prefix

Article 2--PRELIMINARY MATTER

- 2.1 **Notice to Proceed:** Following the execution of the Contract by the Parties, the Project Manager will give the Contractor written Notice to Proceed with the Work. The Contractor shall begin and continue the Work regularly and without interruption (unless otherwise directed in writing by the Project Manager) with the force necessary to complete the Work within the time stated in the Contract.
- 2.2 **Contractor's Understanding:** The Contractor agrees that, by careful examination, it is satisfied as to the nature and location of the Work, the conformation of the ground, the character, quality, and quantity of the materials to be encountered, the character of equipment and facilities needed before beginning and for the Project, the general and local conditions, and all other matters, which can in any way affect the Work under the Contract. No oral agreement with any officer, agent or



employee of the Town either before or after the execution of the Contract shall affect or change any of the terms or obligations contained in the Contract.

- 2.3 **Contractor's Warranty:** The Contractor warrants that it has the knowledge, ability, experience, and expertise to perform the Work competently. The Contractor warrants the capacity of the Contractor's construction plant, personnel, and its ability to complete the Project within the allotted time.
- 2.4 **Contractor's License and Permits:** Contractor, or if applicable Subcontractor, shall be responsible for applying for, and obtaining all Town, County, State and/or Federal licenses and permits required to do the Work. Contractor will not be required to pay for Town permits,.

2.5 Schedules, Reports, and Records

- 2.5.1 Before beginning construction, the Contractor shall submit to the Project Manager a Construction Progress Schedule, on a form approved by the Project Manager, showing all Work the Contractor and all Subcontractors will perform. Such Schedule shall include the submission of Contractor's Guaranteed Maximum Price proposal. The Project Manager may require the Contractor to substitute a Critical Path Method schedule (CPM), or bar graph type schedule. The Special Conditions will state when a CPM network schedule is required.
- 2.5.2 The schedule shall be in enough detail for the Project Manager to readily determine the Work to be performed each day. When requested by the Project Manager, the Contractor shall update the schedule.
- 2.5.3 Before beginning construction, the Contractor shall give the Project Manager the dates it expects to submit Shop Drawings, manufacturers' details, catalog cuts or other required special detail Drawings and also the dates of beginning manufacture, testing, delivery and installation of special equipment and materials.
- 2.6 **Contractor's Address:** The address in the Bid Proposal is designated as the place to which all communications to the Contractor will be delivered or mailed. The delivery at the listed address, in person or by certified mail, of any notice, letter or other communication to the Contractor, is adequate service upon the Contractor, and the date of the service is the date of delivery.

2.7 Notification of Utility Owners

- 2.7.3 The Contractor shall cooperate with Utility Owners to mitigate damage whenever the Contractor's work affects their utilities.
- 2.7.4 The Contractor shall not excavate without first notifying the owners, operators or association of owners and operators having underground facilities in the area of such excavation. Notice may be given in person, by telephone or in writing. Notice to an association is notice to each member of the association.
- 2.7.5 Contractor shall give notice of the commencement, extent, and duration of the excavation work at least two business days before beginning Work.
- 2.7.6 If the Project affects fences, landscaping, mailboxes, driveways and other improvements, the Contractor shall notify the affected property owners or occupants IN WRITING at least



two business days before beginning Work. The Contractor shall cooperate with the owners or occupants to reduce inconvenience where reasonably possible.

2.8 **Department of Revenue Forms**

- 2.8.1 It is the responsibility of the Contractor to apply for a Colorado State Sales and Use Tax Exemption Certificate from the State Dept. of Revenue and to use it when purchasing materials or supplies in connection with the Project.
- 2.8.2 The Town's Tax Exemption Numbers are to be used only when obtaining the Contractor's own Tax Exemption Certificate for each specific Town project:
 - a. Federal Tax Exemption Number: 84-6000640
 - b. State of Colorado Tax Exemption Number: 98-05820-0000
- 2.9 **Phased Construction**: The Project will be designed and constructed in one Work Package. The Contractor will work with the Owner and Owner's Design Consultant in preparing a detailed description of the Work to be included in the Work Package and all documents appurtenant thereto, including Drawings and Specifications. The Contractor shall take into consideration cost reductions, cost information, constructability, provisions for temporary facilities and procurement and construction scheduling issues in preparing detailed estimates, an Initial GMP, and a Final GMP for the Work Package.

2.10 **Preliminary Cost Estimates**

- 2.10.1 Within 21 days of Contract execution, the Contractor will prepare an Initial GMP based on the available design documents for the Owner's Design Consultant's review and Owner's approval. If the Owner's Design Consultant suggests alternative materials and systems, the Contractor shall provide cost evaluations of those alternative materials and systems. Once the Initial GMP is approved by the Owner, the Initial GMP will become the cost basis that the entire team will work toward as the design evolves.
- 2.10.2 At the time of the Initial GMP, the General Conditions Costs will be converted to a guaranteed maximum amount within the Initial GMP, which may be increased or decreased by Change Order per the process noted in section 11.4. An Initial Guaranteed Maximum Price will be developed for the Work Package, which will include an allocation of General Conditions Costs for the Work Package. The Initial Work Package GMP will ultimately be developed into the Final GMP at the end of the design work. Applications for Payment may allocate General Conditions Costs by Work Package.
- 2.10.3 As the Owner's Design Consultant progresses with the preparation of the Design and Construction Documents, the Contractor shall prepare and update, at appropriate intervals agreed to by the Owner, Contractor and Owner's Design Consultant, estimates of the Cost of the Work of increasing detail and refinement and allowing for the further development of the design, including cost studies on alternate systems and materials, until such time as the Owner and Contractor agree on a Guaranteed Maximum Price for the Work Package. Such estimates shall be provided for the Owner's Design Consultant's review and the Owner's approval using estimating systems and procedures which are acceptable to the Owner. The Contractor shall inform the Owner and Owner's Design Consultant when estimates of the Cost of the Work exceed the Initial GMP and make recommendations for



corrective action. The Contractor and Owner's Design Consultant shall work together to jointly ensure that Guaranteed Maximum Price for the Project does not exceed the Initial GMP. If the Guaranteed Maximum Price exceeds the Initial GMP, then the Contractor and the Owner's Design Consultant shall work together to bring the Work within the Initial GMP through value engineering and acceptable alternates to reduce the cost.

2.11 **Representations**

- 2.11.1 The Contractor shall exercise reasonable care in preparing schedules and estimates. The Contractor, however, does not warrant or guarantee estimates and schedules except as may be included as part of the Final Guaranteed Maximum Price and the guarantee on the total General Conditions Costs. The Contractor is not required to ascertain that the Drawings and Specifications are in accordance with applicable laws, statutes, ordinances, codes, rules and regulations, or lawful orders of public authorities, but the Contractor shall promptly report to the Owner's Design Consultant and Owner any nonconformity discovered by or made known to the Contractor as a request for information in such form as the Owner's Design Consultant may require.
- 2.11.2 Contractor hereby represents, promises, and warrants that Contractor is financially solvent and possesses sufficient experience, licenses, authority, personnel and working capital to complete the Work required hereunder.

Article 3--DRAWINGS AND SPECIFICATIONS

3.1 Intent of Drawings and Specifications

- 3.1.1 In the Drawings and Specifications, the Town intends that the Contractor furnish all superintendence, labor, materials, tools, equipment, supplies, machinery and transportation necessary for the proper execution of the Work unless specifically noted otherwise. The Contractor shall do all the Work shown on the Drawings and described in the Specifications and all incidental Work reasonably necessary to complete the Project in a substantial and acceptable manner, and to complete fully the Work, ready for use, by the Town.
- 3.1.2 The Contractor shall complete all Work according to the Specifications and Plans, and in compliance with applicable laws of Colorado and ordinances of the Town.
- 3.1.3 In interpreting the Contract, words describing materials or work having a well-known technical or trade meaning, unless otherwise specifically defined, will be construed according to well-known meanings as recognized by engineers, architects, and the trades.
- 3.1.4 When the Contract refers to a provision of the General Conditions or another Contract Document, the Contract means the provision as amended or supplemented by other provisions of the Contract.
- 3.1.5 When the Specifications state the words "as directed," or "as required," or "as permitted," or words of like meaning, it is understood that the direction, requirement or permission of the Project Manager is intended. Similarly, the words **approved, acceptable or satisfactory** shall refer to approval by the Project Manager.
- 3.1.6 The Contract Documents are intended to be complementary, and Work called for on any Drawing and not mentioned in the Specifications, or Work described in the Specifications



and not shown on any Drawing, is included under the Contract as if set forth in both the Specifications and Drawings.

- 3.2 **Copies of Drawings and Specifications Furnished:** The Project Manager will furnish to the Contractor, free of charge, four copies of Drawings and Specifications of the Work. All additional copies will be furnished at reproduction costs.
- 3.3 **Discrepancies in Drawings:** Contractor shall immediately report any discrepancies found between the Drawings and Specifications and site conditions or any errors or omissions in the Drawings or Specifications to the Project Manager, who shall promptly correct such error or omission IN WRITING. Any Work done by the Contractor after discovery of such discrepancies, errors or omissions is done at the Contractor's risk. In all cases, the Project Manager shall decide the intent of the Drawings and Specifications. The decision is final.
- 3.4 **Dimensions:** Figured dimensions shall govern over scaled dimensions.
- 3.5 **Drawings and Specifications at Job Site:** The Contractor shall keep one complete set of all Drawings and Specifications at the job-site, available to the Project Manager or the Manager's representative at all times.

3.6 Shop Drawings

- 3.6.6 The Contractor shall provide Shop Drawings, settings, schedules, and such other Drawings as may be necessary for the prosecution of the Work in the shop and in the field as required by the Drawings, Specifications or Project Manager's instructions.
- 3.6.7 The Contractor shall submit for approval four reproducible copies of all Shop Drawings and descriptive data as applicable showing all features not fully detailed on the Contract Plans but essential for a completely coordinated installation.
- 3.6.8 The Town's approval of Shop Drawings indicates only that the type and kind of equipment, general method of construction or detailing are satisfactory, but the Contractor may not construe the approval as a complete check. The Contractor has the responsibility for incorporating into the Work satisfactory materials and equipment meeting the requirements of the Contract Plans and Specifications, the proper dimensions, and the detailing of connections.
- 3.6.9 The review of Shop Drawings is only to check for compliance with the design concept of the Project and general compliance with the Contract Documents. Approval does not indicate the waiver of any contract requirement. Changes in the Work are authorized only by separate written Change Order.



3.7 **Record Documents**: The Contractor shall keep one record copy of all Addenda, Change Orders, Drawings, Field Orders, Modifications, and Shop Drawings and Specifications in good order. The Contractor shall record any changes made during construction on the record copies. The Contractor shall make a set of "Record Drawings" by marking this set of prints with all changes from the original Drawings as bid, including all Change Orders, alignment changes, depth changes of underground pipes and utilities, and all other items that are not the same as originally drawn. The Contractor shall keep the Record Drawings up to date as the Project progresses. The Project Manager may require, as a condition of the approval of the monthly progress payment, periodic inspection of the Record Drawings. The Contractor will deliver the Record Drawings to the Project Manager upon completion of the Project before Final Payment.

3.8 **Differing Site Conditions**

- 3.8.9 The Contractor shall promptly, before such conditions are further disturbed, notify the Project Manager in writing of:
 - (a) Subsurface or latent physical conditions at the job-site differing materially from those indicated in the Contract; or
 - (b) Unknown physical conditions at the job-site, of an unusual nature, differing materially from those ordinarily encountered and generally recognized as inherent in Work of the character provided for in the Contract.
- 3.8.10 Upon receipt of written notification from the Contractor of alleged differing site conditions, the Project Manager shall promptly investigate the conditions and if it finds the conditions materially differ, and so cause an increase or decrease in the Contractor's cost of or the time required for performance of any part of the Work under the Contract, an equitable adjustment will be made and the Contract modified in writing as provided for in Article 11 of these General Conditions.
 - (a) No claim will be allowed under this Article unless the Contractor has given the written notice required in Article 3.8.1.
 - (b) No claim will be allowed under this Article if Final Payment has been made.

3.9 Surveys

- 3.9.1 The Project Manager shall develop and arrange for all detail surveys necessary. The Contractor assumes full responsibility for construction according to the established lines and grades.
- 3.9.2 The Contractor shall carefully protect all monuments and property markers from disturbance or damage.

Article 4--AVAILABILITY OF RIGHT-OF-WAY

4.1 Acquisition of Right-of-Way

4.1.1 Before issuance of Notice to Proceed, the Town shall obtain all land and right-of-way necessary for carrying out and completion of the Work to be performed pursuant to the Contract, unless otherwise mutually agreed.



- 4.1.2 The Town shall provide to the Contractor information which delineates and describes the lands owned and rights-of-way acquired, when necessary. The Contractor shall confine its operations within the areas designated by the Project Manager.
- 4.2 Access to Right-of-Way: The Town will provide right of access to all places necessary for the performance of the Work. Nothing contained in the Contract shall give the Contractor exclusive occupancy of the area provided by the Town. The Town, other Contractors of the Town and utility companies may enter upon or occupy portions of the land furnished by the Town for any purpose, but without unreasonably interfering with the completion of the Project. Joint occupancy or use of the territory shall not be the basis of any claim for delay or damages.
- 4.3 **State Highway Right-of-Way:** If any part of the Project is within the right-of-way of a roadway under the jurisdiction of the Colorado Division of Transportation (CDOT) the Town shall obtain the necessary permits from CDOT to perform such Work. Town, at its option may assign the responsibility to Contractor to obtain the necessary permits from CDOT to perform such Work. The Contractor shall conform to all the requirements and restrictions indicated on the permit. The Contractor shall restore the area to its original condition, including reseeding if necessary, at the completion of the Project.
- 4.4 **Temporary Storage Facilities:** The Contractor may secure at its own expense, and without liability to the Town, use of any additional land that the Contractor may desire for temporary construction activities, and facilities, or storage of materials.

Article 5--BONDS AND INSURANCE

5.1 Performance Bond and Labor and Material Payment Bond: The Contractor shall, within ten days after receipt of the Notice of Award, and before the commencement of any operations hereunder execute the Contract and furnish the Town with separate Performance, and Labor and Material Payment Bonds each in a penal sum equal to the amount of the Contract Price, conditioned upon the Contractor's performance of all undertakings, covenants, terms, conditions, and agreements of the Contract, and upon the Contractor's prompt payment to all persons supplying labor and materials in the prosecution of the Work provided by the Contract. The Contractor and a corporate Bonding company, licensed to transact such business in the State of Colorado and acceptable to the Town, shall execute the Bonds. The Contractor bears the expense of these Bonds. If at any time the Surety on such Bonds becomes irresponsible or loses its right to do business in the State of Colorado, the Town may require another Surety, which the Contractor shall furnish within ten days after receipt of written notice to do so. Evidence of authority of an attorney-in-fact acting for the corporate Surety shall be provided in the form of a certificate as to its power of attorney and to the effect that it is not terminated and remains in full force and effect on the date of the Bonds. The form of the Bonds is subject to the Town's approval.

5.2 Insurance

- 5.2.2 The insurance requirements contained in the Contract shall not limit or redefine the obligations of the Contractor as provided elsewhere in the Contract.
- 5.2.2 Contractor agrees to procure and maintain, at its own cost, the following policy or policies of insurance. Contractor shall not be relieved of any liability, claims, demands or other obligations assumed pursuant to the Contract Documents by reason of its failure to procure



or maintain insurance, or by reason of its failure to procure or maintain insurance in sufficient amounts, durations, or types.

5.2.3 Contractor shall procure and maintain, and shall cause each subcontractor of the Contractor to procure and maintain a policy the minimum insurance coverage listed below. Such coverage shall be procured and maintained with forms and insurers acceptable to the Town. All coverage shall be continuously maintained from the date of commencement of services hereunder. In the case of any claims-made policy, the necessary retroactive dates and extended reporting periods shall be procured to maintain such continuous coverage.

5.3 **Insurance Requirements**

- General Conditions: Contractor agrees to secure, at or before the time of execution of this 5.3.1 Agreement, the following insurance covering all operations, goods or services provided pursuant to this Agreement. Contractor shall keep the required insurance coverage in force at all times during the term of the Agreement, or any extension thereof, during any warranty period, and for eight (8) years after termination of the Agreement. The required insurance shall be underwritten by an insurer licensed or authorized to do business in Colorado and rated by A.M. Best Company as A-VII or better. Each policy shall require notification to the Town in the event any of the required policies be canceled or non-renewed before the expiration date thereof. Such written notice shall be sent to the Town. Said notice shall be sent thirty (30) days prior to such cancellation or non-renewal unless due to non-payment of premiums for which notice shall be sent ten (10) days prior. If such written notice is unavailable from the insurer, Contractor shall provide written notice of cancellation, nonrenewal and any reduction in coverage to the Town by certified mail, return receipt requested within three (3) business days of such notice by its insurer(s). Contractor shall be responsible for the payment of any deductible or self-insured retention. The insurance coverages specified in this Agreement are the minimum requirements, and these requirements do not lessen or limit the liability of the Contractor. The Contractor shall maintain, at its own expense, any additional kinds or amounts of insurance that it may deem necessary to cover its obligations and liabilities under this Agreement. All commercial and automobile liability policies shall have the following additional provisions:
 - (a) Severability of interests or separation of insureds provision;
 - (b) Provision that coverage is primary and non-contributory with other coverage maintained by the Town;
 - (c) The underlying Agreement is an "insured contract" under the policy; and
 - (d) Defense costs shall be outside the policy limits for liability coverage.
- 5.3.2 **Proof of Insurance:** Contractor may not commence services or work relating to the Agreement prior to placement of coverages required under this Agreement. Contractor certifies that the certificate of insurance attached as *Exhibit* 3, preferably an ACORD form, complies with all insurance requirements of this Agreement. The Town's acceptance of a certificate of insurance or other proof of insurance that does not comply with all insurance requirements set forth in this Agreement shall not act as a waiver of Contractor's breach of this Agreement or of any of the Town's rights or remedies under this Agreement. Each certificate shall identify the Project and shall provide that coverage afforded under the policies shall not be cancelled, terminated or materially changed until at least 30 days prior



written notice has been given to the Town. If the words "endeavor to" appear in the portion of the certificate addressing cancellation, those words shall be stricken from the certificate by the agent(s) completing the certificate. The Town may require additional proof of insurance, including but not limited to policies and endorsements.

- 5.3.3 Additional Insureds: For Commercial General Liability, Automobile Liability, Contractors Pollution Liability (if required) and Excess Liability/Umbrella (if required), Contractor and subcontractor's insurer(s) shall include the Town, its elected and appointed officials, officers, employees, agents (including the Town's Design Consultant) and volunteers acting within the course and scope of their duties for the Town as additional insured.
- 5.3.4 **Waiver of Subrogation:** For all coverages required under this Agreement, Contractor's insurer shall waive subrogation rights against the Town its elected and appointed officials, officers, employees, agents (including the Town's Design Consultant) and volunteers acting within the course and scope of their duties for the Town.
- 5.3.5 **Subcontractors and Subconsultants:** All subconsultants, subcontractors, independent contractors, suppliers or other entities providing goods or services required by this Agreement shall be subject to all of the requirements herein. Contractor shall require all of its subcontractors and subconsultants of any tier to provide insurance coverage in types and amounts required by the Contractor, but in amounts of at least \$1,000,000 Commercial General Liability, Business Automobile Liability insurance of \$1,000,000 combined single limit, statutory Workers' Compensation coverage, and \$1,000,000 professional liability for any subcontractor performing design or engineering work. Contractor agrees to provide proof of insurance for all such subcontractors, subconsultants, independent contractors, suppliers or other entities upon request by the Town.
- 5.3.6 Workers' Compensation and Employer's Liability Insurance: Contractor shall maintain the coverage as required by statute for each work location and shall maintain Employer's Liability insurance with minimum limits of \$100,000 per occurrence for each bodily injury claim, \$100,000 per occurrence for each bodily injury caused by disease claim, and \$500,000 aggregate for all bodily injuries caused by disease claims.
- 5.3.7 **Commercial General Liability:** Contractor shall maintain a Commercial General Liability insurance policy with minimum limits of \$1,000,000 for each occurrence and \$2,000,000 products and completed operations aggregate, and \$2,000,000 general aggregate (per project). The policy shall provide coverage for all claims for bodily injury, property damage (including loss of use), products and completed operations, and contractual liability.
- 5.3.8 **Business Automobile Liability:** Contractor shall maintain Business Automobile Liability, or its equivalent, with minimum limits of \$1,000,000 combined single limit applicable to all owned, hired and non-owned vehicles used in performing services under this Agreement. If transporting wastes, hazardous material, or regulated substances, Contractor shall carry a pollution coverage endorsement and an MCS 90 endorsement on their policy. Transportation coverage under the Contractors Pollution Liability policy shall be an acceptable replacement for a pollution endorsement to the Business Automobile Liability policy.
- 5.3.9 Intentionally omitted.



5.3.10 Contractor's Pollution Liability: Contractor shall maintain minimum limits of \$1,000,000 per occurrence and \$2,000,000 policy aggregate. Policy to include bodily injury; property damage including loss of use of damaged property; defense costs including costs and expenses incurred in the investigation, defense or settlement of claims; and clean-up costs. Policy shall include a severability of interest or separation of insured provision (no insured vs. insured exclusion) and a provision that coverage is primary and non-contributory with any other coverage or self-insurance maintained by the Town.

5.3.11 Additional Provisions:

- 5.3.11.1 For claims-made coverage: The retroactive date must be on or before the contract date or the first date when any goods or services were provided to the Town, whichever is earlier.
- 5.3.11.2 Contractor shall advise the Town in the event any general aggregate or other aggregate limits are reduced below the required per occurrence limits. At their own expense, and where such general aggregate or other aggregate limits have been reduced below the required per occurrence limit, the Contractor will procure such per occurrence limits and furnish a new certificate of insurance showing such coverage is in force.
- 5.3.12 **Governmental Immunity**: The parties understand and agree that the Town is relying on, and does not waive or intend to waive by any provision of this contract, the monetary limitations (presently \$424,000 per person, \$1,195,000 for two or more persons, per occurrence) or any other rights, immunities, and protections provided by the Colorado Governmental Immunity Act, \$24-10-101, et seq., C.R.S., as from time to time amended, or otherwise available to Town, its officers, or its employees.



Article 6--INDEMNIFICATION

6.1 **Responsibility for Damage Claims**

- 6.1.1 The Contractor shall indemnify, save harmless, and defend the Town, its officers and employees, and the Town's Design Consultant, from and in all suits, actions or claims of any character brought because of: any injuries or damage received or sustained by any person, persons or property because of operations for the Town under the Contract; the Contractor's failure to comply with the provisions of the Contract; the Contractor's neglect of materials while constructing the Work; because of any act or omission, neglect or misconduct of the Contractor; because of any claims or amounts recovered from any infringements of patent, trademark, or copyright, unless the design, device, materials or process involved are specifically required by Contract; from any claims or amount arising or recovered under the "Workers' Compensation Act," by reason of the Contractor's failure to comply with the act; pollution or environmental liability; or any failure of the Contractor to comply with any other law, ordinance, order or decree. The Town may retain so much of the money due the Contractor under the Contract, as the Town considers necessary for such purpose, for the Town's use. If no money is due, the Contractor's Surety may be held until such suits, actions, claims for injuries or damages have been settled. Money due the Contractor will not be withheld when the Contractor produces satisfactory evidence that it and the Town are adequately protected by public liability and property damage insurance.
- 6.1.2 The Contractor also agrees to pay the Town all expenses incurred to enforce this "Responsibility for Damage Claim" agreement and if the insurer of the Contractor fails to provide or pay for the defense of the Town of Castle Rock, its officers and employees, as additional insured, the Contractor agrees to pay for the cost of that defense.
- 6.1.3 Nothing in the **INSURANCE PROVISIONS** shall limit the Contractor's responsibility for payment of claims, liabilities, damages, fines, penalties, and costs resulting from its performance or nonperformance under the Contract.
- 6.1.4 This indemnification obligation shall survive the expiration or termination of this Contract.

Article 7--CONTRACTOR'S RESPONSIBILITIES

7.1 **Control of the Work**

- 7.1.1 When the Contractor is not present on the Project it shall have a Superintendent or other representative acceptable to the Town present who shall, during the absence of the Contractor, be its representative and have immediate charge of the Project. The Superintendent or representative shall have the Contractor's authority to act in its absence.
- 7.1.2 Any person employed on the Project who fails, refuses or neglects to obey the Superintendent or Contractor's other designated representative, shall, upon the order of the Project Manager, be at once removed from the Project and not again employed on any part of the Project.



7.2 General Use of Subcontractors

- 7.2.1 The Contractor may utilize the services of specialty Subcontractors on those parts of the Work which, under normal contracting practices, are performed by specialty Subcontractors.
- 7.2.2 The Contractor shall not sublet or subcontract any portion of the Work to be done under the Contract until approval of such action has been obtained from the Town.
- 7.2.3 The Contractor is fully responsible to the Town for the acts and omissions of its Subcontractors, and of persons either directly or indirectly employed by them.
- 7.2.4 Nothing contained in the Contract creates any contractual relationship between any Subcontractor and the Town.
- 7.2.5 The Contractor shall put appropriate provisions in all Subcontracts relative to the Work to bind Subcontractors to the terms of the Contract insofar as applicable to the Work of Subcontractors, and to give the Contractor the same power to terminate any Subcontractor that the Town may exercise over the Contractor.
- 7.2.6 The Contractor shall make available to each proposed Subcontractor, before the execution of the subcontract agreement, copies of the Contract Documents to which the Subcontractor will be bound, and, upon written request of the Subcontractor, identify to the Subcontractor terms and conditions of the proposed subcontract agreement which may be at variance with the Contract Documents. Subcontractors shall similarly make copies of applicable portions of such documents available to their respective proposed Sub-Subcontractors.

7.3 Materials and Equipment Furnished by the Contractor

- 7.3.1 The Contractor shall furnish and pay the cost of all of the necessary materials not furnished by the Town, all the superintendence, labor, tools, equipment, installation, maintenance, dismantling and removal of materials, supplies, temporary facilities, machinery and transportation. The Contractor shall perform all the work required for the construction of all structures listed and itemized under the Bid Schedule of the Bid in strict accordance with the plans, Specifications and requirements and any amendments thereto and supplemental plans and Specifications hereafter approved.
- 7.3.2 Unless otherwise provided for in the Specifications, all workmanship, equipment, materials, and articles incorporated in the Project are to be the best of their respective kinds, new and undamaged.
- 7.3.3 Materials, supplies or equipment to be incorporated into the Project shall not be purchased by the Contractor or any Subcontractor subject to chattel mortgage or under a conditional sales contract or other agreement by which an interest is retained by the seller.
- 7.3.4 The Contractor shall furnish the Project Manager, for the Manager's approval, the name of the manufacturer of machinery and other equipment for materials the Contractor contemplates incorporating in the Project. The Contractor shall also furnish information on capacities, efficiencies, sizes, etc., and other information as may be required by the Project Manager. The Contractor shall submit samples for approval when requested.



Machinery, equipment, materials, and articles installed or used without the Project Manager's approval are at the risk of subsequent rejection.

- 7.3.5 The Contractor shall give the Project Manager three copies of all shop manuals, operating manuals, parts lists, classifications, catalog cuts, Specifications, warranties and guarantees for all equipment and machinery installed.
- 7.3.6 Consideration of a product as an "equal" by the Project Manager may require that the manufacturer of such product furnish guarantees that extend beyond the usual product warranty time. The refusal of a manufacturer to provide such guarantees is sufficient reason for rejecting the product.

7.4 **Patents and Copyrights**

- 7.4.1 The Contractor shall provide a suitable legal agreement with the patentee giving the Contractor the right to use any design, device, material, or process covered by letters patent or copyright, in the construction of the Project when the use has not been specified or required by the Drawings and Specifications. The Contractor shall file a copy of this agreement with the Town, if requested. The Contractor and the Surety shall indemnify, defend and save harmless the Town from all claims for infringements on patented design, devices, material, process or any trademark or copyright during the prosecution or after the completion of the Project.
- 7.4.2 If any design, device, material, process or product of a particular manufacturer covered by letters patent or copyright is specified for use by the Drawings and Specifications, the Town is responsible for any claims for infringement by reason of the use of such design, device, material, process or product of a particular manufacturer; but the Contractor shall pay any royalties or license fees required.

7.5 **Existing Utilities**

- 7.5.1 The Town has collected and shown on the Drawings available information on the location of existing underground, surface and overhead structures and utilities. However, the Town does not guarantee the results of the investigations are accurate or complete. It is the Contractor's responsibility to verify all locations of existing structures and utilities shown on the Drawings and to ascertain whether any other structures and utilities exist.
- 7.5.2 The Contractor shall support, and protect from injury, existing power lines, telephone lines, water mains, gas mains, sewers, cables, conduits, ditches, curbs, walks, pavements, driveways, and other structures in the vicinity of the Project which are not authorized to be removed until completion of the Project.

7.6 **Coordination with Utilities Departments**

7.6.1 The Contractor shall always coordinate its Work with Castle Rock Water. If it becomes necessary to close portions of any water or sewer system due to construction operations, a minimum of 48 hours notification shall be given Castle Rock Water and whenever possible one week's notice should be given. It is the Contractor's responsibility to ensure continuity of the utilities.



7.6.2 All water from Castle Rock Water required for the Project will be provided at the Contractor's expense.

7.7 Laws and Ordinances

- 7.7.1 The Contractor shall perform all obligations under the Contract in strict compliance with all federal, state, and municipal laws, rules, statues, charter provisions, ordinances, and regulations, applicable to the performance of the Contractor under the Contract.
- 7.7.2 The Contractor shall obtain all other permits and licenses required in the prosecution of the Work.
- 7.7.3 IT IS UNLAWFUL AND UNETHICAL FOR ANY PERSON TO OFFER, GIVE OR AGREE TO GIVE ANY TOWN EMPLOYEE, TOWN OFFICIAL OR FORMER TOWN EMPLOYEE, OR FOR ANY TOWN EMPLOYEE, TOWN OFFICIAL OR FORMER TOWN EMPLOYEE TO SOLICIT, DEMAND, ACCEPT OR AGREE TO ACCEPT FROM ANOTHER PERSON, A GRATUITY OR AN OFFER OF EMPLOYMENT IN CONNECTION WITH ANY DECISION, APPROVAL, DISAPPROVAL, RECOMMENDATION OR PREPARATION OF ANY PART OF A PROGRAM REQUIREMENT OR A PURCHASE REQUEST, INFLUENCING THE CONTENT OF ANY SPECIFICATION OR PROCUREMENT STANDARD, RENDERING OF ADVICE, INVESTIGATION, AUDITING OR IN ANY OTHER ADVISORY CAPACITY IN ANY PROCEEDING OR APPLICATION, REQUEST FOR RULING, DETERMINATION, CLAIM OR CONTROVERSY, OR OTHER PARTICULAR MATTER, PERTAINING TO ANY PROGRAM REQUIREMENT OR A CONTRACT OR SUBCONTRACT, OR TO ANY SOLICITATION OR PROPOSAL THEREFOR.
- 7.7.4 IT IS UNLAWFUL AND UNETHICAL FOR ANY PAYMENT, GRATUITY OR OFFER OF EMPLOYMENT TO BE MADE BY OR ON BEHALF OF A SUBCONTRACTOR UNDER A CONTRACT TO THE PRIME CONTRACTOR OR HIGHER TIER SUBCONTRACTOR OF ANY PERSON ASSOCIATED THEREWITH, AS AN INDUCEMENT FOR THE AWARD OF A SUBCONTRACT OR ORDER.

7.8 **Protection of Persons**

- 7.8.1 The Contractor is responsible for the health and safety of each and every person on or at the Work site. The Contractor shall take all necessary and reasonable precautions and actions to protect all such persons from injury, death or loss. The Contractor shall furnish, erect, and maintain at its own expense all necessary precautions for the protection of the Work and safety of the public through and around its construction operations.
- 7.8.2 Contractor shall prepare and implement a safety program complying with all of the requirements in this Section. Prior to the start of construction, Contractor shall provide the safety program to the Project Manager.
- 7.8.3 Prior to the start of construction, the Contractor shall provide the Project Manager with a statement signed by the Contractor's Superintendent that all Contractor Personnel have been or will be briefed on the Contractor's safety program prior to being allowed on the Work site.



- 7.8.4 It is a condition of the Contract, and the Contractor shall make a condition of each Subcontract entered into pursuant to the Contract, that the Contractor and any Subcontractor shall not require any laborer, mechanic or other person employed in performance of the Contract to work in surroundings or under working conditions which are unsanitary, hazardous or dangerous to health or safety. The Contractor shall comply with all applicable safety rules and regulations adopted by the United States Department of Labor Occupational Safety and Health Administration (OSHA), the Industrial Commission of the State of Colorado, or the Town, whichever is most restrictive. The Town assumes no duty to ensure that the Contractor follows the safety regulations issued by OSHA or the State of Colorado.
- 7.8.5 The Town shall have the right at any time to request a safety compliance review of the Contractor's and its Subcontractor's safety policies, practices, and procedures. The Contractor shall provide to the Project Manager a complete copy of any OSHA correspondence, report, warning, citation, directive or notice within twenty-four (24) hours after it is received. The Contractor shall also provide the Project Manager a copy of any Contractor reply to any OSHA correspondence, report, warning, citation, directive or notice. This submittal is for informational purposes only and shall not alter the Contractor's responsibilities for safety of the Work site.
- 7.8.6 The Contractor shall provide written notice of any report of injury on the Work site to the Project Manager within forty-eight (48) hours after Contractor becomes aware of same. In addition, the Contractor shall provide verbal notice of the injury to the Project Manager immediately following the report of the injury. Contractor shall thereafter provide a copy of any investigation into the injury and a written statement of resolution of the injury, which should include but is not limited to, the cause of the injury and remediation steps the Contractor will take to prevent another similar injury.
- 7.8.7 The Contractor shall employ at the Work site a responsible qualified person whose duties shall include the protection of persons and property and the administration of the Contractor's safety program. This person must have safety training, a working knowledge of safety requirements, and experience administering safety programs. The Contractor shall provide the Project Manager with this person's name prior to the start of construction.
- 7.8.8 For operations involving trenching, excavation or any other underground construction, the Contractor's attention is specially directed to and its Work shall conform to the Construction Safety and Health Regulations, Part P Subparagraph 1926.650-653 by OSHA, latest revision.
- 7.8.9 The Contractor shall provide all necessary protective devices and safety precautions. Such devices and precautions may include but are not limited to: posting of danger signs warning against hazards such as, but not limited to, hoists, well holes, elevator hatchways, scaffolding, openings, stairways, trip and fall hazards and falling materials; placement of warning flares; equipment back-up alarms; installation of barricades; promulgation and application of safety regulations and employment of safety personnel and guards. Signs will not be considered to be an adequate substitute for physical protective barriers. The costs of all protective devices and the planning and implementing of safety precautions are considered to be included in the Contract Amount.



7.8.10 This Section shall be interpreted in its broadest sense for the protection of persons and property, and no act or omission to act by the Town, its officers, employees or agents, or by any consultant shall relieve the Contractor of its obligations and duties hereunder.

7.9 **Protection of Property**

- 7.9.1 The Contractor shall continuously and adequately protect the Work from damage, injury or loss arising in connection with the Contract. It shall repair or replace at its expense any such damage, injury or loss, except such as may be directly due to error in the Contract or caused by agents or employees of the Town. It shall provide and maintain at its expense all passageways, barricades, guard fences, lights, and other protection facilities required by public authority or local conditions.
- 7.9.2 The Contractor is responsible for protection of all public and private property on and adjacent to the site of the Work. It shall use every precaution necessary to prevent damage to curbs, sidewalks, driveways, trees, shrubs, sod, mailboxes, fences, and other private and public improvements. It shall protect carefully from disturbance or damage all land monuments and property markers until an authorized agent has witnessed or otherwise referenced their locations, and shall not remove them until directed.

7.10 **Protection of Historical Sites**

7.10.1 When the Contractor's excavating operations encounter remains of prehistoric people's dwelling sites or artifacts of historical or archeological significance, the Contractor shall temporarily discontinue the operations, and immediately advise the Project Manager. The Project Manager will contact archeological authorities to determine the disposition of the items in question. When directed, the Contractor shall excavate the site in such a manner as to preserve the artifacts encountered and remove them for delivery to the custody of the proper authorities. Such excavation is considered, and paid for, as extra Work.

7.11 **Responsibility to Repair**

- 7.11.1 Should any existing property be damaged, the Contractor shall immediately notify the owner of such property. Unless authorized in writing by the owner of the property or directed by the Project Manager, the Contractor shall not attempt to make repairs. Written authorization from the owner to make repairs must be so worded as to save the Town harmless from any responsibility whatsoever relative to the sufficiency of the repairs. The Contractor shall give the Project Manager a copy of the written authorization to make repairs.
- 7.11.2 When any direct or indirect damage or injury is done to any public or private property or utility by or on account of any act, omission, neglect or misconduct in the execution of the Work, the Contractor shall restore the damaged property at its own expense to a condition equal to or better than that existing before such damage or injury.
- 7.11.3 The Contractor shall replace any materials and equipment lost, stolen, damaged or otherwise rendered useless during the performance of Work on the Project.

7.12 **Traffic Control**



- 7.12.1 The Contractor shall arrange Work to disrupt traffic as little as possible. All traffic Control Devices used shall conform to the latest edition of the Manual of Uniform Traffic Control Devices, (MUTCD). Except as otherwise permitted, two-way traffic shall be maintained at all times in public roadways. At least 7 days before starting any Work in Town right-of-way, the Contractor shall submit a detailed traffic control plan for review from the Public Works Department, with a copy to the Police Department. The approval shall establish the requirements for closures related to the number of lanes and time of day lanes or streets may be closed. The Traffic Control Plan (TC Plan) shall include the name of the contractor, the name and phone number of the person responsible for the traffic control, the date for beginning and ending construction activity and hours of operation expected. The TC Plan should show the widths of streets involved, traffic lanes, the size and location of the Work area with distances from the curb, distance to the nearest intersection and the type and location of traffic control devices. No changes to the TC Plan shall be permitted without prior approval by the Public Works Director.
- 7.12.2 The Contractor shall furnish and maintain all necessary signs, barricades, lights, and flaggers necessary to control traffic and provide for safety of the public, all in compliance with the MUTCD with subsequent revisions and additions, and to the satisfaction of the Public Works Director.
- 7.12.3 Whenever a police officer is necessary for traffic control, the Contractor shall hire and pay a uniformed off-duty police officer with authority in the Town to direct traffic. The police department will determine the rate of pay for the officers.
- 7.12.4 The Contractor shall make its Traffic Control plans in concurrence with the Town requirements.

7.13 Sanitary Regulations

- 7.13.1 The Contractor is responsible for providing proper health and sanitation facilities for its employees, in compliance with any rules and regulations of the State Board of Health or any other bodies having jurisdiction.
- 7.13.2 The Contractor shall always provide an abundant supply of safe drinking water for its employees and shall give orders against the drinking of any water known to be unsafe in the vicinity of the Project.
- 7.13.3 At convenient places, the Contractor shall provide fly-proof outside toilets which are to be maintained in a sanitary condition. Toilets shall not be permitted in any reservoir area and shall not be permitted where they may pollute a water supply.

7.14 **Pollution Control**

- 7.14.1 The Contractor shall comply with all applicable Federal and State laws, orders, and regulations concerning the control, prevention, and abatement of water pollution and air pollution in all operations pertaining to the Contract whether on right-of-way provided by the Town or elsewhere.
- 7.14.2 The Contractor shall use construction methods that prevent release, entrance or accidental spillage of solid matter, contaminants, debris, and other objectionable pollutants and wastes including, but not restricted to refuse, garbage, cement, concrete, sewage effluent,



industrial waste, radioactive substances, oil and other petroleum products, aggregate processing tailings, mineral salts, and thermal pollution. Non-regulated solid wastes shall be disposed of by methods approved under applicable laws and regulations, including, the Resource Conservation and Recovery Act (RCRA), Subtitle D, as administered by Colorado and local Health Departments and the EPA. Contaminated and hazardous materials are regulated by RCRA, Subtitles C and D. The Contractor shall notify the Colorado Department of Health, local Health Departments, and Town Fire Departments if suspect materials are encountered.

- 7.14.3 The Contractor shall utilize methods and devices that are reasonably available to control, prevent, and otherwise minimize atmospheric emissions or discharges of air contaminants including dust in its construction activities and operation of equipment.
- 7.14.4 The Contractor shall not emit dust into the atmosphere during any operations, *including but not limited to*: grading; excavating; manufacturing, handling or storing of aggregates; trenching; or cement or pozzolans. The Contractor shall use the necessary methods and equipment to collect, deposit, and prevent dust from its operations from damaging crops, orchards, fields or dwellings or causing a nuisance to persons. The Contractor is liable for any damage resulting from dust.
- 7.14.5 The Contractor may not operate equipment and vehicles with excessive emission of exhaust gases due to improper mechanical adjustments, or other inefficient operating conditions, until repairs or adjustments are made.
- 7.14.6 Burning trash, rubbish, trees, brush or other combustible construction materials is not permitted.
- 7.14.7 De-watering for structure foundations or earthwork operations adjacent to or encroaching on lakes, streams or water courses shall be done in a manner which prevents muddy water and eroded materials from entering the lakes, streams or water courses, by construction of intercepting ditches, bypass channels, barriers, settling ponds or by other approved means. Excavated materials may not be deposited or stored in or alongside lakes or water courses where they can be washed away by high water or storm runoff.
- 7.14.8 The Contractor may not allow waste water from aggregate processing, concrete batching or other construction operations to enter lakes, streams, water courses or other surface waters without turbidity control methods such as settling ponds, gravel-filter entrapment dikes, approved flocculation processes that are not harmful to fish, recirculation systems for washing of aggregates or other approved methods. Any waste waters discharged into surface waters shall conform to applicable discharge standards of the Colorado Department of Health and the Federal Government.

7.15 Cleaning Up and Restoration

7.15.1 The Contractor shall clean up all refuse or scrap materials so the site presents a neat, orderly, and workmanlike appearance at all times.



- 7.15.2 Upon completion of the Project, and before Final Inspection, the Contractor shall remove from the construction site and any occupied adjoining property all plants, buildings, refuse, unused materials, forming lumber, sanitary facilities, and any other materials and equipment that belong to the Contractor or its Subcontractors.
- 7.15.3 The Town may clean up and restore the construction site satisfactorily when the Contractor fails to do so. Any costs the Town incurs will be deducted from the Final Payment due the Contractor.

7.16 Initial GMP

- 7.16.1 The Contractor has been selected through a qualitative and cost-related process. The proposal has identified specific terms and conditions that, once approved by the Owner, shall be incorporated into the Initial GMP and carried through to the Final GMP, unless specific adjustments are approved in writing by the Owner. The Owner reserves the right to accept or reject the Initial GMP.
- 7.16.2 The Contractor is required to develop an Initial GMP bound report including detailed estimates, assumptions in developing the report, project schedules, fixed (not-to-exceed) General Conditions Costs, staffing matrices, approved billable rates and equipment rental rates, and additional information as required by the Owner during the qualitative and cost related process. The Contractor is not required to execute a formal guarantee of this Initial GMP, however the Owner is relying on the accuracy and reasonableness of the Initial Guaranteed Maximum Price. Therefore, the Initial GMP should be the Contractor's most realistic estimate of what the Contractor believes will be for the Work's final cost once the design is 100% complete and the Final GMP is executed.
- 7.16.3 Once the Initial GMP has been approved in writing by the Owner, the Contractor and the Owner's Design Consultant shall work together throughout the evolution of the design to be certain that the Final GMP remains within the approved Initial Guaranteed Maximum Price. In the event that the Initial GMP, any interim estimate, or the Final GMP are trending beyond the approved Initial GMP, it is the responsibility of the Contractor and the Owner's Design Consultant in collaboration with the Owner to provide preconstruction services including but not limited to value engineering to bring the project back within the approved Initial GMP.
- 7.16.4 The Contractor will work with the team to refine the assumptions leading to the Initial GMP. The Initial GMP may include review and pricing input from critical Subcontractor trades. Once the Initial GMP is approved by the Owner, this Initial GMP will become the basis that the entire team will work toward as the design evolves.

7.17 Budget Updates

7.17.1 Contractor's estimating and budgeting systems must be flexible to allow comparisons of building systems and components. It must include a means to provide a variance analysis throughout each budget update starting from the Initial GMP to the Final GMP. The format of the estimating system will include detailed sheets for each scope that will reflect unit prices, quantities, and extensions for labor and materials. The estimate must be in a detailed open book collaborative manner that provides adequate information to allow the Owner to make informed decisions. If the Owner does not feel the estimate is in a format that meets



the Owner's requirements, the Contractor shall restructure the format and detail as directed by the Owner.

- 7.17.2 The Contractor shall provide, as directed by the Town, a complete budget update based on 30% Design Development, 60% Design Development documents, 90% Design Documents for the Work Package, and 100% Construction Documents. These budget updates are to include review and pricing input from critical Subcontractor trades. The budget updates are intended to confirm the status of the Initial GMP and the Contractor shall include any value engineering/scope adjustments necessary to assure that the budget remains within the Owner's approved Initial GMP.
- 7.17.3 Each budget shall also include a detailed list of clarifications as they relate to the preparation of each budget update. Allowances are also to be clearly identified within each budget update.
- 7.17.4 At the request of the Owner, Contractor shall also develop interim budgets and participate in additional budget and estimating exercises throughout the Preconstruction Phase.

7.18 **Final GMP Proposal**

- 7.18.1 When the design for the Work Package is sufficiently complete to describe the clear intent and scope of the Work Package, at 90% Design Documents for the Work Package, the Contractor shall prepare a GMP proposal for the Work Package for the Owner's review and acceptance unless the Owner and Contractor have mutually agreed in writing to a different time for the GMP proposal. The Contractor shall implement a competitive bid process with Subcontractors, suppliers and vendors with a minimum of three Subcontractors or material suppliers for each scope of Work. Only when the Contractor can demonstrate that there are not three qualified bidders for a particular scope of the Work the Owner may consider a reduction in the number of bidders required. The Owner must authorize a reduction in the number of bidders required. The GMP in the proposal shall be the sum of the Contractor's estimate of the Cost of the Work as defined in section 11.4, including Contractor Contingency, and the Contractor's Fee.
- 7.18.2 To the extent that the Drawings and Specifications are anticipated to require further development by the Owner's Design Consultant, the Contractor shall provide within the GMP for such further development consistent with the Contract Documents and reasonably inferable therefrom. Such further development does not include such things as changes in scope, systems, kinds and quality of materials, finishes or equipment, all of which, if required, shall be incorporated by Change Order as described in section 11.4.
- 7.18.3. The Contractor shall include with the GMP proposal a written statement of its basis, which shall include the following:
 - (a) A list of the Drawings and Specifications, including all Addenda thereto, and the Conditions of the Contract;
 - (b) A list of the clarifications and assumptions made by the Contractor in the preparation of the GMP proposal, to supplement the information provided by the Owner and contained in the Drawings and Specifications;



- (c) A statement of the proposed GMP, including a statement of the estimated Cost of the Work organized by CSI categories or systems, allowances, Contractor's Contingency, and the Contractor's Fee;
- (d) The anticipated date of Substantial Completion upon which the proposed GMP is based; and
- (e) A date by which the Owner must accept the GMP.
- 7.18.4. In preparing the Contractor's GMP proposal, the Contractor shall include a Contractor's Contingency for the Contractor's use to cover costs to the extent that the Drawings and Specifications are anticipated to require further development by the Owner's Design Consultant, to cover costs to expedite the schedule, and other unanticipated costs which are properly considered reimbursable as a Cost of the Work but do not form the basis for a Change Order as a result of changes in the scope of the Work. The Contractor's Contingency shall not exceed five percent (5%) for the Initial GMP, and shall not exceed three percent (3%) for individual Bid Packages or in the Final GMP. No Fee is added to the Contractor's Contingency at the time the GMP is prepared.
- 7.18.5 The Contractor shall report and reconcile the Contractor's Contingency to the Owner on a monthly basis. Contractor's Contingency will be allocated to specific line items in the Estimate through the use of a Change Order signed by the Owner and Contractor, including a description of the items covered by the Contractor's Contingency. A Fee as defined within the Contract Documents will be added to the Change Order on the contingency amount at the time the contingency is allocated to individual line items, and deducted from the entire contingency amount so as not to cause an increase in the GMP.
- 7.18.6 The Owner shall not unreasonably withhold approval of a Change Order as described in section 10.4 to utilize the Contractor's Contingency so long as:
 - (a) the contingency amount does not exceed the GMP,
 - (b) the Contractor utilizes the Contractor's Contingency for items required for the Project that are otherwise recoverable as Costs of the Work under the Contract Documents, and
 - (c) the Contractor's Contingency is used for any of the following items:
 - (i) Scope of the Work that is unclear, incomplete or conflicting on the Contract Documents but which is Work consistent with the intent of with the Contract Documents and reasonably inferable as being necessary to produce the intended results.
 - (ii) Additional resources necessary to recover lost time. If overtime is required to maintain the schedule, the Contractor shall obtain the Owner's prior written approval before moving forward with such overtime.
 - (iii)_ Delays caused by market, labor, material or transportation conditions, labor disputes, weather or other causes which are costs of the Work but do not justify an increase in the GMP.



7.18.7 The Contractor's Contingency is not available for:

- (a) use by the Contractor for mistakes that result from Self- Performed Work secured through competitive bidding, mistakes of Subcontractors or vendors, Subcontractor's warranty work, or manufacturer's warranty work.
- (b) use by the Owner for allowance overruns, changes in the Scope of Work, differing or changed site conditions, or design errors.
- 7.18.8. At Construction Completion of the Project, any Contractor's Contingency remaining in the Final GMP will be returned 100% to the Owner.
- 7.18.9. The Contractor shall meet with the Owner and Owner's Design Consultant to review the GMP proposal for the Work Package. In the event that the Owner and Owner's Design Consultant discover any inconsistencies or inaccuracies in the information presented, they shall promptly notify the Contractor, who shall make appropriate adjustments to the GMP proposal, its basis, or both. If the GMP exceeds Initial GMP, the Contractor will work with the Owner and the Owner's Design Consultant to bring the project back within budget in a timely manner at the Contractor's sole expense.

7.19 **Final GMP Amendment**

- 7.19.1 If the Owner notifies the Contractor that the Owner has accepted the Final GMP proposal in writing, the GMP proposal shall be deemed effective without further acceptance from the Contractor. Following acceptance of a GMP, the Owner and Contractor shall execute a Written Amendment to the Contract incorporating the Final GMP ("Final GMP Amendment"), a copy of which the Owner shall provide to the Owner's Design Consultant. The Final GMP Amendment shall set forth the agreed upon Final GMP with the information and assumptions upon which it is based, including the Final GMPs on both individual Work Packages.
- 7.19.2. The Owner shall authorize the Owner's Design Consultant to provide the revisions to the Drawings and Specifications to incorporate the agreed-upon assumptions and clarifications contained in the Final GMP Amendment. The Owner shall promptly furnish those revised Drawings and Specifications to the Contractor as they are revised. The Contractor shall notify the Owner and Owner's Design Consultant of any inconsistencies between the Final GMP Amendment and the revised Drawings and Specifications.
- 7.19.3 The Owner, Owner's Design Consultant and Contractor will work together to assure that the scope, budget and schedule meets the Owner's requirements. The team will rely on the Contractor's knowledge of pricing and scheduling to provide guidance to the team in key areas. Each team member shall make contributions from their respective areas of expertise to work together to assure that the Final GMP is established within the prior approved Initial GMP.
- 7.19.4 In the event the Contractor's proposed Final GMP exceeds the approved Initial GMP, if the Owner so directs, the Contractor and the Owner's Design Consultant shall work together to bring the Project back within the Owner's approved budget, all within the Owner's approved scope based on the Owner's written acceptance of the 100% Construction Documents. The Contractor's expenses associated with this effort shall be the



sole responsibility of the Contractor and Owner shall have no obligation to pay or reimburse any expenses thereof.

7.19.5 The Contractor's Fee is established as a percentage during the selection process and remains as a percentage for the Initial GMP up to the establishment of the Final GMP. With the establishment of the Final GMP, the fee shall be converted to a fixed dollar amount that corresponds to the fee percentage determined in the Initial GMP.

Article 8--OTHER WORK

8.1 The Town reserves the right to award other Contracts in connection with the Project. The Contractor shall cooperate with and afford other contractors reasonable opportunity for the introduction and storage of their materials and the execution of their Work, and shall coordinate its Work with theirs.

Article 9--TOWN'S RESPONSIBILITIES

9.1 The Town will furnish the data required by the Contract and will make payments to the Contractor as provided by these General Conditions.

Article 10--PROJECT MANAGER'S RESPONSIBILITIES

10.1 The Project Manager is designated by the Town to exercise all authority on its behalf under the Contract and to see that the Project is completed according to its terms and conditions. The Project Manager may assume exclusive control of the performance of the Contractor whenever such performance is located in or upon the Town's property. The Project Manager will furnish all explanations, directions, stakes or markers, and inspections necessary to carry out and complete the Project.

10.2 Lines and Grades

- 10.2.1 The Contractor shall survey and stake as needed to complete project.
- 10.2.2 The Project Manager may appoint a Surveyor who will furnish all lines and grades. The Contractor shall give assistance, as required by the Surveyor, to aid in the staking, including clearing, improving access, exploratory excavations, and suspending operations to permit the Surveyor to perform its Work.
- 10.2.3 The Contractor shall give notice to the Surveyor at least three full days before initial lines and grades are needed. Thereafter, the Contractor shall give the Surveyor notice at least one full day before additional line and grade stakes are needed. The Project Manager is not responsible for providing lines and grades until the Contractor meets this Article's notice requirements.
- 10.2.4 The Contractor shall preserve all stakes, bench marks, and any other survey points. If they are destroyed by the Contractor or its employees, the Contractor shall pay for their replacement.

10.3 Inspection



- 10.3.1 The Project Manager shall appoint Inspectors to inspect the Project. Inspection may extend to all or any part of the Project. The Inspectors are not authorized to alter the provisions of the Drawings or Specifications or to delay the fulfillment of the Contract by failure to inspect materials and Work with reasonable promptness.
- 10.3.2 An Inspector has authority to reject defective materials and to suspend any Work that is being done improperly subject to the final decision of the Project Manager.
- 10.3.3 The Contractor shall give the Project Manager due and timely notice of readiness when the Project is to be inspected, tested or approved by someone other than the Inspector. The Contractor shall give the Project Manager required certificates of inspection, testing or approval. Inspection, tests or approvals by the Project Manager or others does not relieve the Contractor from its obligations to perform the Work according to the requirements of the Contract.
- 10.3.4 If the Project Manager considers it necessary or advisable that previously completed or covered Work be inspected or tested, the Contractor shall uncover, expose or otherwise make the Work available to the Project Manager for inspection and testing. The Contractor shall furnish all tools, labor, material, and equipment necessary to make the Work available. If the Project Manager finds the Work defective, the Contractor shall pay for the cost of satisfactory reconstruction and making the Work available. However, if the Work is not found defective, the Contractor will be allowed an increase in the Contract Price and/or an extension of the Contract Time for costs and time directly attributable to making the Work available and for reconstruction.
- 10.3.5 If the Contractor's operations require inspecting, testing or surveying to be done outside normal working hours or on Town holidays, it shall be at the Contractor's expense.

10.4 **Stop Work Order**

- 10.4.1 The Project Manager has the authority to suspend Work on the Project either in whole or in part, for as long as the Project Manager deems necessary due to:
 - (a) Unsuitable weather;
 - (b) Faulty workmanship;
 - (c) Improper superintendence;
 - (d) Contractor's failure to carry out orders or to perform any provision of the Contract;
 - (e) Conditions which may be considered unfavorable for the prosecution of Work on the Project; or
 - (f) Work being carried on in an unsafe manner.
- 10.4.2 If it is necessary to stop work for an indefinite period, the Contractor shall, if directed by the Project Manager, store all materials in such a manner that they will not become an obstruction or become damaged in any way. The Contractor shall take every precaution to prevent damage to or deterioration of the Work, providing suitable drainage and erecting temporary structures where necessary.



10.4.3 The Project Manager will put the Stop Work order in writing and the Contractor may not proceed with Work on the suspended portion of the Project until notified in writing by the Project Manager.

10.5 **Disputes**

- 10.5.1 If the Contractor considers any Work directed by the Town to be outside the Contract requirements, or if it considers any ruling of the Project Manager to be unfair, it shall immediately ask for a written instruction or decision and shall perform the Work in conformance with the Project Manager's ruling. If the Contractor considers such instructions unsatisfactory, it shall file a written protest with the Project Manager within ten days after their receipt.
- 10.5.2 All claims, disputes and other matters in question arising out of or relating to the Contract shall be submitted to the Project Manager before the Contractor can begin litigation.

Article 11--CHANGES

11.1 General

- 11.1.1 The Town may make alterations to the Project without the consent of the Surety at any time during the Work. The Contractor shall perform the Work as changed, as if originally specified. The alterations do not invalidate the Contract in any way.
- 11.1.2 The Project Manager may, at any time, without notice to the Surety, by written notice to the Contractor, make any change in the Work to be performed within the general scope of the Contract, including but not limited to changes:
 - (a) In the Specifications (including Drawings and designs);
 - (b) In the method or manner of the performance of the Work;
 - (c) In facilities, equipment, materials, services or site furnished by the Town; or
 - (d) Directing acceleration in the performance of the Work.
- 11.1.3 Any other written order or verbal order (which terms as used in this Article shall include direction, instruction, interpretation or determination) from the Project Manager, which causes the change, will be treated as a Change Order under this Article, provided that the Contractor gives the Project Manager written notice stating the date, circumstances, and source of the order and that the Contractor regards the order as a Change Order.
- 11.1.4 The Contractor may not treat any order, statement or conduct of the Project Manager as a change under this Article nor become entitled to an equitable adjustment in the Contract Price or Performance Time, except as provided in this Article.
- 11.1.5 If any change under this clause causes an increase or decrease in the Contractor's cost or the time required for the performance of any part of the Work under the Contract, whether or not changed by any order, an equitable adjustment will be made and the Contract modified in writing accordingly.



- 11.1.6 Claims for changes in the Contract Price or Contract Time of Performance will not be considered after the Final Payment has been made.
- 11.2 **Compliance with §24-91-103.6:** Notwithstanding any other language in this contract, the issuance of any Change Order or other form of order or directive by the Town requiring additional compensable work to be performed which will cause the Contract Price to exceed the amount appropriated for the Work is prohibited unless the Contractor is given written assurance by the Town that lawful appropriations to cover the costs of the additional work have been made or unless the Contract contains a remedy granting provision.
- 11.3 **Field Orders:** The Project Manager may make changes in the details of the Project at any time, by issuing a Field Order. The Contractor shall proceed with the performance of any changes in the Project ordered by the Project Manager. If the Contractor believes that such Field Order entitles it to a change in Contract Price or Time, or both, it shall give the Project Manager written notice within ten days after the receipt of the Field Order. Thereafter, the Contractor shall document the basis for the change in Contract Price or Time within thirty days.

11.4 Change Orders

- 11.4.6 Changes in the Contract Price or the Guaranteed Maximum Price are authorized only by a Change Order or by a Written Amendment. Changes in contract time may be made by Change Order or by other appropriate written authorization.
- 11.4.7 Any difference in cost from Change Orders shall be added to or deducted from the amount of the Contract, as the case may be. Adjustments in the amounts to be paid to the Contractor on account of changed Work will be determined by one of the following methods in the order listed:
 - (a) Unit Prices submitted in the Bid Schedule;
 - (b) Negotiated Unit Prices; and
 - (c) Negotiated lump sum.

11.5 Extras and Force Account Work

- 11.5.1 The Contractor shall perform any Work and furnish materials and equipment necessary or desirable for proper completion of the Contract if the Project Manager believes it necessary to order Work or materials or equipment which, in the Project Manager's opinion, are not susceptible to classification under the Unit Price items named in the Bid Schedule, and are not included in any lump sum bid item. The Project Manager will order such labor, material and equipment in writing before the extra Work is started. The labor, material and equipment will be classed as extra Work. The Town will not pay for extra Work unless the Town orders in extra work in writing. All claims for extra Work shall be submitted to the Project Manager, supplemented by any data the Project Manager requires.
- 11.5.2 Extra Work and Work involving a combination of increases and decreases in the Work will ordinarily be paid for at a lump sum or Unit Price agreed upon in writing by the Project Manager and Contractor before the extra Work Order is issued. In the negotiation of lump sum or Unit Prices, the agreed estimated cost of the Work plus an allowance for overhead and profit, not to exceed the allowances stated in Section 11.5.3, shall be used.



11.5.3 The allowance for overhead and profit will include full compensation for superintendence, bonds and insurance premiums, taxes (other than sales or use taxes included in the cost of materials), office expense, and all other items of expense or cost not included in the cost of labor, materials, or equipment provided under Sections 11.5.4, 11.5.5 and 11.5.6. The allowance for overhead and profit will be according to the following schedule:

ACTUAL NECESSAF	RY COST ALLOWANCE:
Labor	20 percent
Materials	15 percent
Equipment	10 percent

The Actual Necessary Cost for labor, materials, or equipment will be computed according to Sections 11.5.4, 11.5.5 and 11.5.6.

Superintendence, bond and insurance premiums, taxes (other than sales or use taxes inclusive in the cost of materials), and other general expense will not be included in the computation of actual necessary cost. When all or any part of the extra Work is performed by a Subcontractor or specialty firm, the prime Contractor may add five percent of the Subcontractor's total cost for the extra Work. The Contractor shall give the Project Manager daily report sheets covering the direct cost of labor and materials and charges for equipment. The daily report sheets shall provide names or identifications and classifications of workers and hours worked, as well as size, type and identification number of equipment and hours operated. Material charges shall be substantiated by valid copies of vendors' invoices. The Project Manager will make any necessary adjustments and compile the costs of cost-plus Work. When these reports are agreed upon and signed by both parties, they become the basis of payment for the Work performed.

11.5.4 Labor: The cost of labor used in performing the Work by the Contractor, a Subcontractor, or other forces will be the sum of the actual wages paid plus any employer payments to, or on behalf of, workers for fringe benefits including health and welfare, pension, vacation, and similar purposes; all payments imposed by State and Federal laws including, but not limited to, compensation insurance, and social security payments; and the amount paid for subsistence and travel required in accordance with the regular practice of the employer.

At the beginning of the contract or as later requested by the Project Manager, the Contractor shall furnish the Project Manager proof of labor compensation rates being paid or already paid.

11.5.5 Materials: The cost of materials used in performing the Work, including transportation charges for delivery (exclusive of machinery rentals), will be the cost to the purchaser, whether Contractor, Subcontractor or other forces, from the Supplier thereof, inclusive of sales or use taxes, except if, in the opinion of the Project Manager, the cost of materials is excessive, or the Contractor does not furnish satisfactory evidence of the cost of such material. If the Project Manager finds the cost excessive or the Contractor has not furnished evidence of the cost, then the cost will be deemed to be the lowest current wholesale price for the quantity concerned delivered to the job-site less cash or trade discounts.

The Town reserves the right to furnish materials for the Work and the Contractor may not claim costs and profit on materials furnished by the Town.



The Town reserves the right to purchase from the Contractor any materials previously purchased for a project and not used. Payment for the materials will be based on the actual material cost as shown on the Supplier's invoice, any transportation charges incurred, plus a fifteen percent handling fee.

11.5.6 Equipment: The Contractor will be paid according to the rental rates agreed upon in writing before extra or force account Work is begun, for any machinery or special equipment (other than small tools) authorized by the Project Manager. The Contractor may furnish cost data to assist the Project Manager in the establishment of the rental rate.

The rental rates paid, as provided above, shall include the cost of fuel, oil, lubrication supplies, small tools, necessary attachments, repairs and maintenance of all kinds, depreciation, storage, insurance, and all incidentals. Operator wages will be paid separately, as provided in Section 11.5.4.

Individual pieces of equipment or tools having a replacement value of \$100.00 or less, whether or not consumed by use, are considered small tools and no payment will be made for them.

Rental time will not be allowed while equipment is inoperative due to breakdowns or storage on-site.

- 11.5.7 Equipment on the Work: The rental time to be paid for equipment on the Work is the time the equipment is in productive operation on the extra Work being performed.
- 11.5.8 Eliminating Items: The Project Manager shall notify the Contractor in writing to eliminate any items contained in the proposal unnecessary for the proper completion of the Work. Such action will not invalidate the contract. The Contractor, by Change Order, will be reimbursed for actual work done and all cost incurred, including mobilization of materials and equipment before the elimination of such items.

Article 12--CONTRACT TIME

12.1 General

- 12.1.1 Time is of the essence in the performance of all Work contemplated in the Contract. Therefore, the Work shall be commenced no later than ten calendar days from and including the date of Notice to Proceed and shall be fully completed in a satisfactory and acceptable manner within the time stated in the Contract.
- 12.1.2 The capacity of the Contractor's construction plant and force shall be sufficient as to insure completion of the Project within the allotted time. The Contractor shall use multiple crews if necessary to complete the Project within the allotted time.

12.2 Delays

12.2.1 Delay claims fall into three categories: non-excusable, excusable, or compensable. Any payment for delays or the granting of time extensions require a properly executed Change Order per Article 11.



- 12.2.2 **Non-excusable delay** is one caused by factors within the Contractor's reasonable control. The delay is the Contractor's fault; no additional time or additional compensation is allowed. Typical types of non-excusable delays are:
 - (a) Late submittal of Shop Drawings;
 - (b) Late procurement of materials or equipment;
 - (c) Insufficient personnel;
 - (d) Unqualified personnel;
 - (e) Inadequate coordination of Subcontractors or other contractors;
 - (f) Subcontractor delays;
 - (g) Late response to Town and Project Manager inquiries; or
 - (h) Construction not conforming to contract requirements making repeated re-working necessary.
- 12.2.3 **Excusable delay** is caused by factors beyond the Contractor's reasonable control, but is not the result of the Town's actions or failure to act. An excusable delay entitles the Contractor to an extension of time but no additional compensation for the cost of the delay.
- 12.2.4 **Compensable delay** is one where the Town has failed to meet an obligation stated or implied in the construction contract. If the Project Manager considers a delay as compensable, the Town will grant a time extension and reimburse the Contractor for the increased cost caused by the delay. Typical types of Town-caused delays are:
 - (a) Late approval of Shop Drawings and samples;
 - (b) Delays in answers to field inquiries by the Contractor;
 - (c) Interference with the Contractor during construction;
 - (d) Town-caused schedule changes;
 - (e) Design changes; or
 - (f) Interference by other contractor's or the Town's forces.
- 12.2.5 Failure to Prosecute Work. If, in the opinion of the Town's Project Manager, or other authorized agent of the Town, the Contractor is not prosecuting the Work under the Contract, written notice will be given and the Contractor shall have seven days to resume the Work with due diligence.

12.3 Failure to Complete Work on Time--Liquidated Damages

- 12.3.1 The Town may permit the Contractor to proceed if the Contractor fails to complete the Work on or before the original date set forth for or on or before the corrected. In such case, the Town will deduct the sum specified in the Contract for each day that the Work remains uncompleted. This sum shall not be a penalty but is liquidated damages.
- 12.3.2 The parties agree that, under all of the circumstances, the daily basis and the amount set forth as liquidated damages is reasonable and equitable. The Town expends additional personnel effort in administrating the Contract or portions of it that are not completed on time, and such efforts and the costs thereof are impossible to accurately compute. In



addition, some, if not all, citizens of Castle Rock incur personal inconvenience and lose confidence in their government as a result of public projects or parts of them not being completed on time, and the impact and damages, certainly serious in monetary as well as other terms, are impossible to measure.

12.3.3 Permitting the Contractor to continue and finish the Work, or any part of it, after the time fixed for its completion, or after the date to which the time of completion may have been extended, shall not operate as a waiver on the part of the Town of liquidated damages or any of its rights under the Contract.

Article 13--WARRANTY AND GUARANTEE; SAMPLES AND TESTING; DEFECTIVE WORK AND MATERIALS

13.1 Warranty and Guarantees

- 13.1.1 The Contractor and its Surety are jointly responsible for maintenance and satisfactory operation of Work performed under the Contract for a period of one year following the Notice of Construction Completion or until warranty work is fully satisfied. They are responsible for the satisfactory repair or replacement of any Work, materials or equipment which are found defective during this period, provided any failure results directly or indirectly from faulty workmanship or negligence by the Contractor, from faulty manufacturing or from faulty erection or improper handling of materials or equipment furnished or installed by the Contractor. Neither the Contractor nor Surety are liable for any failure resulting from the Town's neglect or improper operation of facilities or the act of a third party.
- 13.1.2 The obligations of 13.1.1 shall survive termination of the Contract under the provisions of Article 15.

13.2 Samples and Testing

- 13.2.1 All materials and equipment used in the Project will be subject to sampling and testing according to generally accepted standards and as required in the Contract Documents. In the absence of direct references, the sampling and testing of materials will be done according to current Specifications of the American Society for Testing and Materials or the American Water Works Association. The Contractor shall cooperate with the Project Manager in collecting and forwarding required samples.
- 13.2.2 The Contractor shall not incorporate any materials into the Project or cover any part of the Work until it has been inspected and approved according to the Contract Documents.
- 13.2.3 The Contractor shall furnish all samples without charge. The Contractor will cooperate with the Project Manager in collecting, handling, storing, and forwarding required samples including the furnishing of manpower and equipment when necessary.
- 13.2.4 The Contractor will pay the cost of the initial test except when the Contract states otherwise. The Contractor will pay the costs for repeated tests due to failure of the initial test.

13.3 Access to Work



- 13.3.1 The Project Manager and the Manager's representatives shall have access to the Project at any time for purposes of inspection, sampling, and testing. Access shall extend to authorized representatives of participating federal or state agencies and to other public authorities having jurisdiction established by law. The Contractor shall provide proper facilities for access to the Project.
- 13.3.2 Access to the Project shall mean wherever and whenever it is in manufacture, preparation or progress. It shall include access to payrolls, records of personnel, invoices of materials, terms and conditions of sale of materials and equipment to be incorporated in the Project, files, records, books, correspondence, instructions, Drawings, receipts, subcontracts, purchase orders, vouchers, memoranda and any other relevant data and records relating to the Contract.
- 13.3.3 The Town may, at reasonable times, inspect the part of the plant, place of business or worksite of the Contractor or Subcontractor at any tier which is pertinent to the performance of the Contract.

13.4 **Defective Work and Materials**

- 13.4.1 Material and workmanship not conforming to the requirements of the Contract are deemed defective. Defective Work or material shall be removed immediately from the Project site and replaced with acceptable Work and material at the Contractor's expense.
- 13.4.2 If the Contractor fails to replace rejected materials or Work within ten days after receipt of written notice, the Town may replace or correct them and charge the cost to the Contractor and may terminate the right of the Contractor to proceed. Failure to detect previously installed defective materials or workmanship shall not impair the Town's right to receive a completed project which is free of defects and meets all of the requirements of the Contract Documents.

Article 14--PAYMENTS TO CONTRACTOR AND COMPLETION

14.1 General

- 14.1.1 Unless expressly provided otherwise, the prices shown in the Bid Schedule include the cost of all labor, materials, equipment, tools, forms, services, utilities, royalties, fees, and any other thing or expense necessary to complete the Project. Items not shown on the Plans, Specifications or Special Provisions but which are necessary to construct the Project will be considered a part of the Project whether specified or not and no separate payment will be made for these items.
- 14.1.2 Unless expressly provided otherwise in the Contract, the amount to be paid for the Work includes all labor, materials, forms, tools, scaffolding, plants, equipment, service, utilities, royalties, fees, and everything, whether temporary or permanent, necessary to complete the Project.
- 14.2 **Determination of Amounts and Quantities:** The Project Manager shall verify determinations of amounts and quantities of Work performed. The Project Manager shall have access to the records as stated in Article 13.3. The method of measurement of the Contract Bid Items will be as specified in the Special Conditions.



14.3 Variations in Estimated Quantities

- 14.3.2 Where the quantity of a pay item in the Contract is an estimated quantity and where the actual quantity of such pay item varies more than twenty-five percent below the estimated quantity stated in the Contract, the Contractor shall make an equitable adjustment in the Contract Price, upon demand of the Town. The Contract Price adjustment will be based upon any decrease in costs due solely to the variation below seventy-five percent of the estimated quantity.
- 14.3.2 Where the quantity of a pay item in the Contract is an estimated quantity and the actual quantity of such pay item is more than twenty-five percent above the estimated quantity in the Contract, the Town may elect to terminate the Contract or issue a Change Order to adjust the Contract Price.

14.4 Monthly Estimates--Partial Payments

- 14.4.2 The Contractor shall prepare monthly partial estimates (monthly estimates) for all Work completed up to that time. The authorized Town representative(s) shall approve the monthly estimates before progress payments will be made. The format of the monthly estimates will be related to the format of the Bid Proposal.
- 14.4.3 In making such progress payments, subject to the exceptions in this Article, the Town will retain five percent of the total amount earned as indicated in the monthly estimate until the Project is substantially completed, provided, however, that at any time after the value of the completed Work equals or exceeds fifty percent of the face value of the Contract, the Town shall, if it finds that satisfactory progress is being made, retain the amount previously withheld but make the remaining partial payments in full. At no time may the amount retained exceed five percent of the total Contract Price.
- 14.4.4 If the Town finds that satisfactory progress is being made in all phases of the Contract, it may, upon written request by the Contractor, authorize payment from the withheld percentage. Before such payment is made, the Town shall determine that satisfactory and substantial reasons exist for the payment and shall require written approval from any Surety furnishing Bonds for the Contract. The Contractor shall make partial payments of the amount due to each of its Subcontractors in the same manner as the Town is required to pay the Contractor under this Article, providing that the Subcontractor is satisfactorily performing under its Contract with the Contractor.
- 14.4.5 Monthly estimates may include the value of acceptable materials required in the construction which have been delivered on the site of the Work or to adjacent railway siding and for which acceptable provisions have been made for preservation and storage, providing the Contractor submits with its monthly estimate, paid invoices in duplicate for the material for which payment is being requested. Material paid for by the Town becomes the property of the Town and, in the event of the default on the part of the Contractor, the Town may use or cause to be used such materials in construction of the Work provided for in the Contract.
- 14.4.6 The Town may withhold, in addition to retained percentages from Contractor payments, such an amount or amounts as may be necessary to cover:



- (a) Claims for labor or materials furnished the Contractor or Subcontractor(s) or reasonable evidence indicating probable filing of such claims;
- (b) Failure of the Contractor to make proper payment to Subcontractors or for material or labor furnished by others;
- (c) A reasonable doubt that the Contract can be completed for the balance then unpaid;
- (d) Evidence of damage to another Contractor or private property;
- (e) Uncorrected defective Work or guarantees that have not been met;
- (g) Failure of the Contractor to submit cost breakdowns, schedules, reports and other information required under the Contract;
- (h) Persistent failure to carry out the Work according to the Contract; or
- (i) Reasonable evidence that the Work will not be completed within the Contract Time, and that the unpaid balance would not be adequate to cover actual or liquidated damages for the anticipated delay.
- 14.4.7 The Town may disburse and has the right to act as agent for the Contractor in disbursing funds, withheld pursuant to this paragraph, to the party or parties who are entitled to payment therefrom, but the Town assumes no obligation to make such disbursement. The Town will render to the Contractor a proper accounting of all funds disbursed under this paragraph.

14.5 Escrow Contract in Lieu of Retainage

- 14.5.1 When sums are withheld to assure satisfactory performance of any contract exceeding fifty thousand dollars, the Contractor may withdraw the whole or any portion of the withheld sums if the Contractor deposits acceptable securities with the Town's Director of Finance to negotiate the acceptable securities and to receive the payments due the Town pursuant to law or the terms of the Contract. To the extent there are excess funds resulting from negotiation, the balance shall be returned to the Contractor. Acceptable securities which are deposited shall have a market value at least equal in value to the amount withdrawn at all times. If at any time the Town determines that the market value of the acceptable securities deposited has fallen below the amount withdrawn, the Town's Director of Finance shall give notice to the Contractor, who shall deposit additional acceptable securities in an amount sufficient to re-establish a total deposit of securities equal in value to the amount withdrawn.
- 14.5.2 The Town may enter into an escrow contract or agreement with any national bank, state bank, trust company or savings and loan association located in this state and designated by the Contractor, after notice to the Surety, to provide an escrow agent for the custodial care and servicing of any obligations deposited with it pursuant to §24-91-106, C.R.S., as amended. Such services shall include the safekeeping of the obligations and the rendering of all services required to effectuate the purpose of §§24-91-106 and 38-26-107, C.R.S., as amended.



- 14.5.3 The Town or any national bank, state bank, trust company or savings and loan association located in the state and designated by the Contractor to serve as custodian for the obligations pursuant to §24-91-106, C.R.S., as amended, shall collect all interest and income when due on the obligations deposited and shall pay them, when and as collected, to the Contractor who deposited the obligations. If the deposit is in the form of coupon Bonds the escrow agent shall deliver each coupon, as it matures, to the Contractor. The Contractor may not charge any expense incurred for this service to the Town.
- 14.5.4 Any amount deducted by the Town, pursuant to law or the terms of a Contract, from the retained payments otherwise due to the Contractor, will be deducted first from that portion of the retained payments for which no obligation has been substituted and then from the proceeds of any deposited obligation, in which case, the Contractor is entitled to receive the interest, coupons or income only from those obligations which remain on deposit after such amount has been deducted.
- 14.5.5 Provided that the Subcontractor has performed under its Contract with the Contractor, the Contractor shall disburse to each Subcontractor all retained payments and interest disbursed to the Contractor by the Town, in proportion to the respective amounts of retained payments, if any, which the Contractor has withheld from its Subcontractors.
- 14.5.6 The provisions of this Article do not apply if a part of the Contract Price is to be paid with funds from the federal government or from some other source and if the federal government or such other source has inconsistent requirements concerning retention or payment of funds applicable to the Contract.
- 14.5.7 If it becomes necessary for the Town to take over the completion of any Contract, all of the amount owed the Contractor, including the withheld percentage, shall first be applied toward the cost of completion of the Contract and any liquidated damages. Any balance remaining in the retained percentage shall be payable to the Contractor or the Contractor's creditors. Such retained percentage, as may be due any Contractor, shall be due and payable at the expiration of thirty days from the date of the Town Project Final Acceptance.
- 14.6 **Town's Right to Accept Portion of the Project:** The Town reserves the right to accept and make use of any completed section of the Project without invalidating the Contract or obligating the Town to accept the remainder of the Project.
- 14.7 Substantial Completion: When the Contractor considers the entire work ready for its intended use, the Contractor shall notify the Project Manager in writing that the entire Work is substantially complete (except for items specifically listed by Contractor as incomplete) and request that the Project Manager issue a Notice of Substantial Completion. Within a reasonable time, the Contractor, Project Manager and any other appropriate Town representatives shall make an inspection of the Work to determine the status of completion. If the Project Manager does not consider the Work substantially complete, the Project Manager will notify the Contractor in writing giving the reasons for denial of the Notice of Substantial Completion. If the Project Manager considers the Work substantially complete, the Project Manager will prepare and deliver to the contractor a Notice of Substantial Completion which shall fix the date of Substantial Completion. The Project Manager shall attach to the certificate a tentative list ("punch list") of items to be completed or corrected before Final Payment. Warranties required by the Contract shall commence on the date set in the Notice of Construction Completion for the Project, or the date set in the Notice of Construction Completion for a designated portion of the Project, unless otherwise provided in the notice of Substantial Completion.



- 14.8 **Construction Completion:** When the Work specified in the Contract is completed and the final cleanup has been performed, the Contractor shall notify the Project Manager that all Work under the Contract has been completed and the Project Manager shall, within five days after such notice, make the final inspection. If the Project Manager finds that the Project has been completed according to the requirements set forth in the Contract, the Town, upon the recommendation of the Project Manager, shall issue a Notice of Construction Completion. Notices of Construction Completion issued orally or without proper Town authorization are void.
- 14.9 **Claims Against the Contractor:** As provided by Colorado law, persons or businesses, including Subcontractors, who have not been promptly paid by the Contractor and who have provided materials, services and labor of any kind, or labor and material incidental to the completion of the Project, may file claims and the Town may withhold from the Contractor an amount sufficient to cover such claims.

14.10 Final Payment--Pursuant to Section 38-26-107, C.R.S., as Amended

- 14.10.1 After the Notice of Construction Completion is issued by the Town, a Notice of Final Settlement shall be advertised at least twice, not less than ten days before the date of Final Settlement, in a newspaper of general circulation in the county where the Work was done. If no claims are filed before the expiration of ten days from the date of the last publication of the Notice of Final Settlement, the Final Payment, including retainage, may be made.
- 14.10.2 If any Subcontractor or Supplier files a claim before the expiration of ten days from the date of the last publication of the Notice of Final Settlement, for Work done or material furnished that has not been paid for by the Contractor, the Town shall withhold from Final Payment to the Contractor sufficient funds to insure the payment of the claims. The funds shall not be withheld longer than ninety days from the date of Final Settlement unless a legal action is started within that time to enforce payment of the claims.
- 14.10.3 At the end of ninety days, or any time before, if the person filing the claim acknowledges receipt of payment for the claim, or otherwise releases the claim in writing, the Town shall pay the Contractor the monies not subject to suit or lis pendens notices.
- 14.10.4 Monies that are the subject of a suit will be withheld until a judgment is rendered in the suit.

Article 15--CONTRACT TERMINATION

- 15.1 **Town's Right to Terminate Contract for Convenience:** The Town shall, at any time, have the right to terminate the Contract, for convenience, upon giving written notice to the Contractor. The Contractor shall be entitled to the full amount of the approved estimate for the Work satisfactorily completed under the Contract up to the time of such termination, including the retained percentage. The Town shall reimburse the Contractor for such expenditures as, in the judgment of the Project Manager, are not otherwise compensated for, together with the cost of moving to and from the Project and a reasonable profit on the Work deleted by reason of the annulment of the Contract, in order that an equitable settlement is made with the Contractor.
- 15.2 **Town's Right to Terminate Contract for Default:** The Project Manager, with the approval of the Town and acting on behalf of the Town, may serve notice upon the Contractor and its Surety of the intention to terminate the Contract if the performance of the Work set forth under the Contract



is unnecessarily or unreasonably delayed by the Contractor, or if any of the provisions of the Contract are being violated by the Contractor or its Subcontractors. The Contract is terminated unless, in the opinion of the Project Manager, the Contractor corrects the violation within five days after the notice is served. In the event of such termination, the Project Manager, acting on behalf of the Town, shall immediately serve notice of the termination and the Surety's right to complete the Contract upon the Surety and the Contractor. The Surety shall have the right to take over and perform the Work called for in the Contract. The Surety is then bound by all the provisions of the Contract. If the Surety does not commence performance of the Work within ten days from the date of the notice, the Town may take over the Project and, without prejudice to any other remedies, complete the Project and the Contractor and its Surety are liable to the Town for any excess costs incurred by the Town.

15.3 Contractor's Right to Terminate Contract

- 15.3.4 The Contractor may terminate the Contract if the Work is stopped for a period of three months under any order of any court or other public authority through no act or fault of the Contractor or of anyone employed by it.
- 15.3.2 The Contractor may suspend Work if Town fails to make payments at the times provided in the Contract and the Contractor has given the Town written notice seven days before suspending Work. The Contractor may terminate the Contract, at its option, if the Town continues to be in default thirty days after the date of the written notice. Failure by the Town to make payments at the times provided is a bar to any claim by the Town against the Contractor for delay in completion of the Project if the Contractor suspended Work for that reason.
- 15.3.3 If the Contractor terminates the Contract, it may recover the price of all Work done and materials provided and all damages sustained.

Article 16--EQUAL OPPORTUNITY

- 16.1 **General**: During the performance of the Contract, the Contractor agrees as follows:
 - 16.1.4 The Contractor shall not discriminate against any employee or applicant for employment because of race, color, age, disability, religion, sex, national origin, or as otherwise prohibited by law.
 - 16.1.5 The Contractor shall ensure that all Subcontractors shall not discriminate against any employee or applicant for employment because of race, color, age, disability, religion, sex, national origin, or as otherwise prohibited by law.

Article 17--AUDIT

17.1 **Records and Reports**

- 17.1.1 The Contractor shall keep and preserve full and detailed accounts relating to the Contract for a period of three years from the date of final payment under the Contract in which the Work is completed.
- 17.1.2 The Subcontractor shall keep and preserve full and detailed accounts relating to the Contract for a period of three years from the date of final payment under the subcontract.



17.2 Access: The Contractor shall permit the Town and the Town's accountants to have access as stated in Article 13.3 and to the records kept per Article 17.2 for the purpose of making such financial audits, or verifications as the Town deems necessary or appropriate concerning the Contractor's performance under the Contract.

Article 18--MISCELLANEOUS

- 18.1 **Reservation of Right to Bar Persons from the Work and Site**: The Town reserves the right to bar any person, including employees of the Contractor and Subcontractors, from the Town's Work site. This shall not be treated as a request for the employee's termination but a request that the employee not be assigned to work on the Town Work site. No increase in contract time or price is authorized.
- 18.2 **Provisions Construed as to Fair Meaning.** The provisions of the Contract shall be construed as to their fair meaning, and not for or against any party based upon any attributes to such party of the source of the language in question.
- 18.3 **Headings for Convenience**: All headings, captions and titles are for convenience and reference only and of no meaning in the interpretation or effect of the Contract.
- 18.4 **No Implied Representations:** No representations, agreements, covenants, warranties, or certifications, express or implied, exist as between the parties, except as specifically set forth in the Contract.
- 18.5 **Financial Obligations of Town**: All financial obligations of the Town under the Contract are contingent upon appropriation, budgeting, and availability of specific funds to discharge such obligations. Nothing in the Contract shall be deemed a pledge of the Town's credit, or a payment guarantee by the Town to the Contractor.
- 18.6 **Assignment/transference**: The Contractor may not assign or transfer any interest in the Contract, including any money due or to become due, without the prior written consent of the Town.
- 18.7 **Amendments.** The parties shall only amend the Contract in writing with the proper official signatures and, if required elsewhere in this Contract, on the proper forms.
- 18.8 **Waiver.** No waiver of a breach or default under the Contract is a waiver of any other or subsequent breach or default.
- 18.9 **Governing Law.** The Contract is governed and to be construed according to the laws of the State of Colorado.
- 18.10 **Binding Contract.** The Contract is binding upon the parties hereto and their respective heirs, executors, administrators, successors and assigns.
- 18.11 **Colorado Labor Preference.** In accordance with the requirements of the Colorado Labor on Public Works Act, Section 8-17-101, *et seq.*, C.R.S., Contractor shall ensure that Colorado labor shall be employed to perform at least 80% of the work. It shall be the sole responsibility of Contractor to ensure that Subcontractors comply with this requirement.



EXHIBIT 3

CONTRACTOR'S CERTIFICATE OF INSURANCE

GLOBUND-01

MHOFF

ACORD	EF	RTI	FICATE OF LIA	ABILITY	INS	SURAN	CE		e (MM/DD/YYYY) 0/7/2024
THIS CERTIFICATE IS ISSUED AS A CERTIFICATE DOES NOT AFFIRMAT BELOW. THIS CERTIFICATE OF IN REPRESENTATIVE OR PRODUCER, A	IVEL SURA	Y O	R NEGATIVELY AMEND E DOES NOT CONSTITU	, EXTEND OF	R AL	TER THE CO	OVERAGE AFFORDED	BY TI	HE POLICIES
IMPORTANT: If the certificate holde If SUBROGATION IS WAIVED, subje this certificate does not confer rights t	ct to	the	terms and conditions of	the policy, ce	rtain	policies may			
PRODUCER License # 0757776	o the	Cert	incate noider in ned of st	CONTACT Lyr					
HUB International Insurance Services (C 2000 S. Colorado Blvd Tower 2, Suite 150	OL)			PHONE (A/C, No, Ext): (303)	252-3762	FAX (A/C, No Dinternational.com	_{):} (866)	243-0727
Denver, CO 80222				ADDRESS: -J			RDING COVERAGE		NAIC #
				INSURER A : CO		• •	Ity Company		20443
INSURED							surance Company		35289
Global Underground Corpo	ratior	n		INSURER C :					
641 Winters Drive				INSURER D :					
Colorado Springs, CO 8090	,			INSURER E :					
				INSURER F :					
		-	E NUMBER:				REVISION NUMBER:		
THIS IS TO CERTIFY THAT THE POLICI INDICATED. NOTWITHSTANDING ANY F CERTIFICATE MAY BE ISSUED OR MAY	REQUI PER	REM TAIN	ENT, TERM OR CONDITIO , THE INSURANCE AFFOR	N OF ANY CC	NTRA	CT OR OTHER	R DOCUMENT WITH RESI ED HEREIN IS SUBJECT	PECT TO	O WHICH THIS
EXCLUSIONS AND CONDITIONS OF SUCH				POLIC	YEFF	POLICY EXP		170	
A X COMMERCIAL GENERAL LIABILITY	INSD	WVD	POLICY NUMBER	(MM/DD	YYYY)	(MM/DD/YYYY)		IITS	1,000,000
CLAIMS-MADE X OCCUR	x	x	6081735892	10/13	2024	10/13/2025	EACH OCCURRENCE DAMAGE TO RENTED PREMISES (Ea occurrence)	\$	100,000
X PD Deductible \$5,000							MED EXP (Any one person)	\$	1,000,000
							PERSONAL & ADV INJURY	\$	2,000,000
GEN'L AGGREGATE LIMIT APPLIES PER:								\$	2,000,000
OTHER:							PRODUCTS - COMP/OP AGO	<u>\$</u> \$, ,
B AUTOMOBILE LIABILITY							COMBINED SINGLE LIMIT (Ea accident)	\$	1,000,000
X ANY AUTO	x	x	6081735908	10/13	2024	10/13/2025	BODILY INJURY (Per person)	Ť	
OWNED AUTOS ONLY AUTOS							BODILY INJURY (Per acciden		
HIRED AUTOS ONLY AUTOS ONLY							PROPERTY DAMAGE (Per accident)	\$	
								\$	
B X UMBRELLA LIAB X OCCUR			6081735911	10/12	2024	10/13/2025	EACH OCCURRENCE	\$	10,000,000
EXCESS LIAB CLAIMS-MADE DED X RETENTION \$ 10,000	1		0001733911	10/13/	2024	10/13/2025	AGGREGATE	\$	10,000,000
WORKERS COMPENSATION							PER OTH- STATUTE ER	\$	
AND EMPLOYERS' LIABILITY									
ANY PROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED? (Mandatory in NH)	N/A						E.L. EACH ACCIDENT	\$	
If yes, describe under DESCRIPTION OF OPERATIONS below							E.L. DISEASE - EA EMPLOYE		
DESCRIPTION OF OPERATIONS below							E.L. DISEASE - POLICY LIMI	<u>ه</u>	
DESCRIPTION OF OPERATIONS / LOCATIONS / VEHIC	LES (/	ACOR	D 101, Additional Remarks Schedu	ule, may be attache	d if mo	re space is requi	red)		
Town of Castle Rock, Owners, agents and e	emplo	vees	s are included as additiona	I insureds und	er Ge	neral Liability	on a primary and non-	contribu	utorv basis.
Waiver of subrogation in favor of the additi									2
				CANCELLA					
CERTIFICATE HOLDER									
Town of Castle Rock 175 Kellogg Ct.				THE EXPI	RATIO	N DATE TH	ESCRIBED POLICIES BE IEREOF, NOTICE WILL CY PROVISIONS.		
Castle Rock, CO 80109					DDCC	-			
					RESI	-NTATIVE			
ACORD 25 (2016/03)					© 10	88-2015 AC	ORD CORPORATION.	All rid	abts reserved

© 1988-2015 ACORD CORPORATION. All rights reserved.



March 21, 2023

GLOBAL UNDERGROUND CORPORATION 641 WINTERS DRIVE

COLORADO SPRINGS, CO 80907

Re: Barrett Business Services, Inc. ("BBSI") Letter of Self-Insurance for Workers' Compensation Coverage

As the named addressee of this Letter, your company's required workers' compensation coverage is provided through BBSI's state approved Self-Insured Workers' Compensation Plan by way of your co-employment contract with BBSI. BBSI's Colorado customers can also verify BBSI's state certification at: https://www.colorado.gov/pacific/cdle/insurance-coverage

Click on "Self Insurance Permit Listing" and scroll down to Barrett Business Services, Inc (the list is alphabetical by company name).

Additional information is as follows:

State: Colorado	Workers' Compensation Limits:	Employer Liability Limits:
Self Insurance Certification #: 463	Statutory	\$2,000,000.00 Each Accident \$2,000,000.00 Disease Coverage Limit by Client \$2,000,000.00 Disease; Each Employee

Other Comments (place an "X" if applicable):

Х Waiver of Subrogation: BBSI and GLOBAL UNDERGROUND CORPORATION agree to waive their right of subrogation for the benefit of: Town of Castle Rock at

Х Named "Letter Holder": Town of Castle Rock 100N Wilcox St Castle Rock, CO 80104

Other: Effective 12/22/2014 until cancelled. 30 Day Cancel Notice. Х

Additionally, BBSI's self-insured program is further supported by an excess workers' compensation insurance policy with ACE American Insurance Co.. Copy of certificate is available upon request.

For additional information, please contact your local BBSI office at: **COLORADO SPRINGS**

(719) 260-9616 1125 Kelly Johnson Blvd, #130 Colorado Springs, CO 80920

Very truly yours,

Gary Kramer President and Chief Executive Officer

doc: LOSI-2



EXHIBIT B

SCOPE OF WORK FOR WORK PACKAGE ONE

Castle Rock Water has identified the need for sanitary sewer and water connections for properties on the East end of Fifth Street, such as Cornerstone Church, St. Francis of Assisi Catholic Church, and 2864 Fifth Street. As set forth in detail in the Construction Documents, Work Package One shall include the construction of approximately 1,700 linear feet of 8-inch sanitary sewer and manholes on Fifth Street, from approximately Castle Crest Drive to Valley Drive, with approximately 830 linear feet to be constructed near the intersection of Valley Drive and Fifth Street, and two HDD crossings of Fifth Street to connect the utilities to existing utilities from the North side of Fifth Street to Valley Drive. Work Package One shall be planned to minimize impacts to Fifth Street and completed prior to the Town's Fifth Street Improvements Project.



EXHIBIT A1

INITIAL GUARANTEED MAXIMUM PRICE COST SUMMARY



PROPOSAL

То:	Town Of Castle Rock	Contact: Erin Evans
Address:	4175 N. Castleton Court	Phone:
	Castle Rock, CO 80109 USA	Fax:
Project Name:	Fifth St. Improvements - TOCR	Bid Number:
Project Location:	Fifth St., Castle Rock, CO	Bid Date: 1/10/2025

GLOBAL UNDERGROUND CORP. HEREBY SUBMITS SPECIFICATIONS AND ESTIMATES TO:

Erin Evans, TOCR Project Fifth Street Utilities

Directional bore and install 1 Water bore, no casing and 1 Sewer HDD with casing, location(s) specified by Customer. The following unit quantities are estimates only and form the base bid; base bid plus quantities or linear feet in excess of the base bid will be billed at the calculated unit price. Open cut water and sewer lines, and appurtenances to complete a fully functional system.

Bid is based on drilling in sandy/clayey soils conditions utilizing conventional tooling. Any cobble rock, solid formations, or running sand encountered will require additional tooling, equipment, or time, which can be supplied at an additional negotiated price.

*** Please see Inclusions, Exclusions, and Clarifications below. ***

Item #	Item Description	Estimated Quantity	Unit	Unit Price	Total Price
- 0000-Gei	neral Conditions				
1	Project Manager	1.00	LS	\$38,918.86	\$38,918.86
2	Project Superintendent	1.00	LS	\$64,051.94	\$64,051.94
3	Estimator	1.00	LS	\$13,316.56	\$13,316.56
4	Safety Personnel	1.00	LS	\$9,812.00	\$9,812.00
5	Administrative Support	1.00	LS	\$10,479.77	\$10,479.77
6	Company Vehicles	1.00	LS	\$23,167.95	\$23,167.95
7	Construction Water	1.00	LS	\$15,260.00	\$15,260.00
8	Sanitary Facilities	1.00	LS	\$11,772.00	\$11,772.00
9	Staging Areas	1.00	LS	\$6,540.00	\$6,540.00
10	Site Protection	1.00	LS	\$16,350.00	\$16,350.00
11	Survey	1.00	LS	\$14,170.00	\$14,170.00
12	Weather Protection	1.00	LS	\$11,445.00	\$11,445.00
13	Dust Control	1.00	LS	\$44,982.12	\$44,982.12
14	Traffic Control/Inspections	1.00	LS	\$109,000.00	\$109,000.00
15	Street Cleaning	1.00	LS	\$23,897.69	\$23,897.69
16	TESC/Erosion Control Maintenance, Installation & Remove	val 1.00	LS	\$45,653.34	\$45,653.34
	Total Price f ^o r a	bove 0000-General (Condition	s Items:	\$458,817.23
0020-Mo	bilization				
1	0020-Open Cut Mobilization	1.00	LS	\$12,068.31	\$12,068.31
	Total Pric	e f ^o r above 0020-Me	obilizatio	n Items:	\$12,068.31
0030-Mis	sc Utilities				
1	R & R Surfacing	1.00	LS	\$161,133.61	\$161,133.61
2	Pothole Existing Utilities		EACH	\$1,162.29	\$69,737.40
	Total Price	e for above 0030-Mi	sc Utilitie	s Items:	\$230,871.01

Item #	Item Description Estir	nated Quantity	Unit	Unit Price	Total Price
0100-Sev	ver				
1	Connect To Existing Sewer	1.00	LS	\$11,235.07	\$11,235.07
2	8" PVC Sewer - Open Cut	1,592.00	LF	\$159.40	\$253,764.80
4	48" Dia. SASMH	8.00	EACH	\$17,614.97	\$140,919.76
5	72" Dia. SASMH	1.00	EACH	\$29,935.42	\$29,935.42
6	Steel Casing Under East Retaining Wall	25.00	LF	\$214.36	\$5,359.00
	Total Pr	ice for above 01	.00-Sewer	Items:	\$441,214.05
0200-Wa	ter				
1	Connect To Existing Water	3.00	EACH	\$10,208.85	\$30,626.55
2	8" PVC Water Line - Open Cut	614.00	LF	\$148.26	\$91,031.64
4	8" MJ Bends	8.00	EACH	\$2,106.07	\$16,848.56
5	8" MJ Gate Valves	2.00	EACH	\$3,878.44	\$7,756.88
6	Fire Hydrants	2.00	EACH	\$21,344.82	\$42,689.64
	Total Pr	ice for above 02	200-Water	Items:	\$188,953.27
0600-HD	D				
1	Mobilization	1.00	LS	\$8,589.38	\$8,589.38
2	Directional bore and install 16" HDPE SDR-11 casing in one location for Sanitary (108')	108.00	LF	\$1,003.98	\$108,429.84
3	Directional Bore And Install 8" FPVC Pipe In One Location For Water (215')	215.00	LF	\$537.98	\$115,665.70
11	Materials - #12 Copper Clad Tracer Wire	1.00	LS	\$240.70	\$240.70
	Total I	Price for above (0600-HDD	Items:	\$232,925.62
0800 Ind	irects				
44	Contingency - 10% Of Direct Costs Only No General Conditions	1.00	LS	\$112,625.84	\$112,625.84
45	Commercial General Liability Insurance - Rate .3256%	1.00	LS	\$5,620.77	\$5,620.77
46	P&P Bonds	1.00	LS	\$17,918.00	\$17,918.00
47	Permit/Fees (Allowance)	1.00	LS	\$28,580.00	\$28,580.00
	Total Price	for above 0800) Indirects	Items:	\$164,744.61
Alternate	#1				
48	Remove OWTS	1.00	LS	\$20,226.15	\$20,226.15
	Tatal Dri	ce for above Alt		Thomas	\$20,226.15

Total Bid Price: \$1,749,820.25

Notes:

- Inclusions:
- Mobilization & Demobilization Costs
- Equipment & Labor
- Storm Water Protection & Required Permits
- BMP Plan, Set Up, Management & Tear Down
- HDPE and FPVC Pipe
- HDPE and FPVC Pull Head
- Pipe Rollers
- Safety Fence & Barricades
- Utility Potholing
- Traffic Control
 Survey / Layout
 Material Testing
- Excavate pit(s) for HDD Operations
- Fusion of Pipe
- Backfill pit(s) for HDD Operations

- Asphalt or Concrete Saw Cutting, Removal and Restoration
- Shoring
- Assume Responsibility of Open Pit(s)
- Completion of Tie-Ins
- Spoil Disposal for Bore & Pothole Operations
- Sanitary Facilities
- Water for Bore & Pothole Operations
- · HDD rated tracer wire for trenchless installations
- Performance & Payment Bonds
- Exclusions:
- City, County or State Permit Acquisition & Fees
- CDOT Permit Acquisition & Fees
- Conflicting Utility Relocation
- Cost of Compaction Tests for Backfilled Excavations
- Grout Casing Exterior Annular Voids
- Landscape Restoration
- Private Locates
- Minimum of 3' Separation from HDD Tooling to any Structure or Utility
- <u>Clarifications:</u>
- Pricing is based on provide 30% plans and the subsurface formation shown in the geotechnical repot.
- Bid is based on drilling in sandy/clayey soils conditions utilizing conventional tooling. Any cobble rock, solid formations, or running sand encountered will require additional tooling, equipment, or time, which can be supplied at an additional negotiated cost.
- A walkover guidance system will be utilized to track the bore. If there is any interference or reasoning that will not allow a walkover system to work safely/properly, a wireline system may be required and can be supplied at an additional negotiated price.
- Any utilities that are un-locatable, mismarked, or greater than 10' in depth may require additional pothole time or the use of a large Vactor and can be supplied at a negotiated hourly rate.
- Potholes will be backfilled with sand or pea gravel. If flowable fill is required it can be supplied at cost plus 15%.
- Customer will be responsible for supplying adequate access and sufficient room to set up HDD equipment.
- Any down time out of Global Underground Corp's control will be billed at a negotiated hourly down time rate.
- Global Underground will not be able to work in winter conditions if the temperatures are below 30° or if the roads are unsafe to travel on.
- If rock is encountered, the rock adder will be billed from the exit bore pit through the identified down hole rock formation.
- The disposal or removal of hazardous or contaminated soils/materials, including testing, containment, haul-off, and remediation, are not included in this proposal and will incur additional negotiated costs if encountered.
- Working hours are Monday through Friday 7am 5pm. Any work outside of these hours will be completed at an additional overtime rate.

Payment Terms:

Payment Due in full within 30 days of invoice date.

PROPOSAL TERMS & CONDITIONS:

Global Underground will notify the State One Call for all public locates. Private locates are the responsibility of the Proposal Recipient listed above. Any solid formations, structures or rock encountered will be completed for an additional negotiated price. Pricing for completion is based upon boring by method of battery powered sonde, other methods such as wire line or true tracker will be completed for an additional negotiated price. Price and project schedule are contingent upon no incidents or delays beyond our control. Disposal costs for contaminated materials removed from the construction site are not included in this proposal and will be an additional negotiated cost if encountered.

All Material is guaranteed to be as specified above. Any deviation from the scope of work will be completed following the acceptance of a change order. All work will be completed in a skillful manner according to standard practices. Any alteration or deviation from the above specifications will be executed only upon written request and will therefore become cost in addition to the above estimate. Global Underground hereby warrants all labor and workmanship for a period of one (1) year (or longer, if so provided by law, and to the extent provided by law) from the date of completion of our portion of the project. Misuse, neglect and damage caused by others is specifically excluded.

This proposal becomes a binding agreement with all terms and conditions as set forth herein upon acceptance by both parties or by the commencement of work.

Global Underground Corp. 641 Winters Drive Colorado Springs, CO 80907 719-471-7414



EXHIBIT B1

LABOR RATES



Labor Rates for 5th Street Utility Projcet

Crew Labor Office and Open Cut Hou	<u>ırly Non-Overtime</u>	<u>Overtime</u>
Project Manager	\$119.02	
Estimator	\$122.17	
Project Coordinator	\$48.07	
Safety	\$100.02	\$150.03
Superintendent	\$97.94	\$146.91
Foreman	\$92.96	\$139.44
Equipment Operator Excavator	\$64.79	\$97.19
Equipment Operator Loader	\$54.82	\$82.23
Equipment Operator Support Equipment/Sweeper	\$53.08	\$79.62
Laborer - Pipe Layer	\$55.00	\$82.50
Laborer - General	\$51.44	\$77.16
Semi Truck Driver Mobilization	\$52.10	\$78.15
Crew Labor HDD		
Foreman	\$98.06	\$147.09
Equipment Operator Drill	\$56.32	\$84.48
Mud Tech	\$50.38	\$75.57
Truck Driver	\$59.31	\$88.97
Labor	\$53.98	\$80.97
Fustion Tech	\$60.77	\$91.16

* Normal Business Hours are 7:00 am to 5:00 pm Monday - Friday

*Overtime Hours 5:00 pm - 7:00 am Monday - Friday or any time which the crew has reached 40 hours during the work week

* Saturday - Sunday and all holidays will be charged at the overtime rate

* Above hourly rates include burden and will need to add our 9% Markup



EXHIBIT C1

IGMP DETAIL – WORK PACKAGE #1

EXHIBIT C1 - IGMP DETAIL - WORK PACKAGE #1



PROPOSAL

Cost Detail With Pricing By Work Type

Project Name:	Fifth St. Improvements - TOCR	Customer:	Town Of Castle Rock
Job Number:		Billing Address:	4175 N. Castleton Court
Bid As:	Prime		Castle Rock, CO 80109 USA
Estimator:	Nate Mast	Phone:	
Project Address:	Fifth St., Castle Rock, CO	Contact:	Erin Evans
Completion Date:			

			Unit	Total			Markup
Description	Quantity	UM	Direct Cost	Direct Cost	Unit Price	Total Price	Percent
/ork Type: 0000-General Conditio	ns						
1 - Project Manager	1.00	LS	\$35,705.38	\$35,705.38	\$38,918.86	\$38,918.86	9.00%
👤 Project Manager	300.00	HR	\$119.02	\$35,705.38			
2 - Project Superintendent	1.00	LS	\$58,763.25	\$58,763.25	\$64,051.94	\$64,051.94	9.00%
Superintendent	600.00	HR	\$97.94	\$58,763.25			
3 - Estimator	1.00	LS	\$12,217.02	\$12,217.02	\$13,316.56	\$13,316.56	9.00%
Estimator	100.00	HR	\$122.17	\$12,217.02			
4 - Safety Personnel	1.00	LS	\$9,001.83	\$9,001.83	\$9,812.00	\$9,812.00	9.00%
Safety Director	90.00	HR	\$100.02	\$9,001.83			
5 - Administrative Support	1.00	LS	\$9,614.47	\$9,614.47	\$10,479.77	\$10,479.77	9.00%
Project Coordinator	200.00	HR	\$48.07	\$9,614.47			
6 - Company Vehicles	1.00	LS	\$21,255.00	\$21,255.00	\$23,167.95	\$23,167.95	9.00%
🚕 Project Manager Truck	300.00	HR	\$19.50	\$5,850.00			
🦂 Superintendent Truck	600.00	HR	\$19.50	\$11,700.00			
A Estimator Truck	100.00	HR	\$19.50	\$1,950.00			
Afety Director Truck	90.00	HR	\$19.50	\$1,755.00			
7 - Construction Water	1.00	LS	\$14,000.00	\$14,000.00	\$15,260.00	\$15,260.00	9.00%
K Construction Water	1,000.00	MGAL	\$14.00	\$14,000.00			
8 - Sanitary Facilities	1.00	LS	\$10,800.00	\$10,800.00	\$11,772.00	\$11,772.00	9.00%
Porta-Potty	12.00	WK	\$225.00	\$2,700.00			
* Porta-Potty	12.00	WK	\$225.00	\$2,700.00			
Porta-Potty	12.00	WK	\$225.00	\$2,700.00			
Porta-Potty	12.00	WK	\$225.00	\$2,700.00			
9 - Staging Areas	1.00	LS	\$6,000.00	\$6,000.00	\$6,540.00	\$6,540.00	9.00%
* Allowance - Staging Area	2.00	EACH	\$3,000.00	\$6,000.00			
10 - Site Protection	1.00	LS	\$15,000.00	\$15,000.00	\$16,350.00	\$16,350.00	9.00%
Kite Security	3.00	MO	\$5,000.00	\$15,000.00			
11 - Survey	1.00	LS	\$13,000.00	\$13,000.00	\$14,170.00	\$14,170.00	9.00%
Surveying	1.00	LS	\$13,000.00	\$13,000.00			
12 - Weather Protection	1.00	LS	\$10,500.00	\$10,500.00	\$11,445.00	\$11,445.00	9.00%
Weather Protection	3.00	MO	\$3,500.00	\$10,500.00			
13 - Dust Control	1.00	LS	\$41,268.00	\$41,268.00	\$44,982.12	\$44,982.12	9.00%
Water Truck - 3000 Gallon	600.00	HR	\$68.78	\$41,268.00			
14 - Traffic Control/Inspections	1.00	LS	\$100,000.00	\$100,000.00	\$109,000.00	\$109,000.00	9.00%
Traffic Control		EACH	\$1,000.00	\$90,000.00			
Barrier Walls	50.00	EACH	\$200.00	\$10,000.00			

Severate Operator 300.00 HR \$50.00	Description	Quantity	ИМ	Unit Direct Cost	Total Direct Cost	Unit Price	Total Price	Markup Percent
Security Control Maintenance, Devolution: Severetry 300.00 HR \$20.00 \$41.883.80 \$41.883.80 \$45.653.34 \$4	(Work Type: 0000-General Conditions - Item 15 -	Street Cleani	ng conti	nued)				
Operator - Sweeter 300.00 IR \$15,23.08 \$15,23.48 \$15,23.48 \$41,883.80 \$44,883.80 \$44,883.80 \$44,883.80 \$44,883.80 \$45,653.34 \$45,6653.35 \$45,650.35 \$45,650.35 <td>D 15 - Street Cleaning</td> <td>1.00</td> <td>LS</td> <td>\$21,924.48</td> <td>\$21,924.48</td> <td>\$23,897.69</td> <td>\$23,897.69</td> <td>9.00%</td>	D 15 - Street Cleaning	1.00	LS	\$21,924.48	\$21,924.48	\$23,897.69	\$23,897.69	9.00%
Instructional Maintenance, Installation Removal 1.00 LS \$41,833.80 \$42,833.81 \$45,653.34 \$45,653.34 \$9.00% If Force Installation 1.620.00 IF \$5.15 \$5,033.00 \$45,653.34 \$9.00% If Force Installation 1.620.00 IF \$5.15 \$5,033.00 \$45,663.34 \$9.00% If Force Installation 2.00 IHAT \$22,000.00 \$42,000.00 \$12,000.00 \$12,000.00 \$12,000.00 \$12,000.00 \$12,000.00 \$12,006.31 \$12,068.31 \$12,06	weeper	300.00	HR	\$20.00	\$6,000.00			
Installation & Removal Sile Front Installation 3.00 EAC \$15,00.00 \$44,00.00 Work Transform Mt 2.00 U.H. \$14,000 \$24,00.00 Work Transform Mt 2.00 U.H. \$14,000 \$24,000.00 Work Transform Mt 1.00 U.S \$55,00.00 \$12,006.00 Work Type: 0020-MpoLitization 1.00 U.S \$11,071.84 \$11,071.84 \$11,2068.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$12,066.31 \$10,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$12,066.31 \$12,066.31 \$10,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84 \$11,071.84	👤 Operator - Sweeper	300.00	HR	\$53.08	\$15,924.48			
Bit Sease Catrol Hobilization 3.00 EACH 51,500.00 94,500.00 Vehice Tracking Met 2.00 UNIT \$1480.00 \$24,000.00 Ensise Catrol Hobilization 1.00 US \$1480.00 \$12,008.01 I - 002-0 Part Mobilization 1.00 US \$11,071.84 \$11,071.84 \$11,071.84 \$12,068.31 \$12,068.31 \$0.00% I - 002-0 Part Mobilization 1.00 LS \$11,071.84 \$11,071.84 \$11,071.84 \$12,068.31 <td></td> <td>1.00</td> <td>LS</td> <td>\$41,883.80</td> <td>\$41,883.80</td> <td>\$45,653.34</td> <td>\$45,653.34</td> <td>9.00%</td>		1.00	LS	\$41,883.80	\$41,883.80	\$45,653.34	\$45,653.34	9.00%
Write Trading Net 2.00 UNIT \$12,000.0 \$22,000.0 Production - Dandy Bogs 1000 US \$40,000 \$12,000.0 Monison Control Ren & Remmt 1.00 US \$40,000 \$12,000.0 Monison Control Ren & Remmt 1.00 US \$11,071.84 \$11,071.84 \$12,068.31 \$12,068.31 \$00% Hasey Heal Express Mobilization 1.00 US \$11,071.84 \$11,071.84 \$11,071.84 \$12,068.31 \$12,068.31 \$00% Hasey Heal Express Mobilization 1.00 US \$11,071.84 \$11,071.84 \$11,071.84 \$12,068.31 \$12,068.31 \$00% Traiter - Lowday J10K 1.00 US \$11,071.84 \$11,071.84 \$12,068.71 \$10 \$10.00 \$10.00 \$2,086.67 Work Type: 0030-Misc Utilities 100 UF \$10,00 \$147,873.00 \$147,873.00 \$147,873.00 \$161,133.61 \$163,133.61 \$00% Swo Catting - Concrete Demo 2.200 UF \$74,00 \$31,074.00 \$31,478.30.00 \$147,873	K Silt Fence Installation	1,652.00	LF	\$3.15	\$5,203.80			
Processor Processor <t< td=""><td>Erosion Control Mobilization</td><td>3.00</td><td>EACH</td><td>\$1,500.00</td><td>\$4,500.00</td><td></td><td></td><td></td></t<>	Erosion Control Mobilization	3.00	EACH	\$1,500.00	\$4,500.00			
Inter Protection - Cancerly Magis 1.00 INT 4400.00 \$1,200.00 Ension Control Plan & Permit 1.00 IS \$65,000.00 \$65,000.00 \$1,071.84 \$11,071.84 \$12,068.31 \$12,068.31 \$0.00% Meary Head Engineers Mobilization (0.15 (0.75, 65 Tb) 51.33 HR \$41.00 \$2,186.67 Tailer - Lowboy Stinger 53.33 HR \$41.00 \$2,778.51 Work Type: 00.30-Misc Utilities 51.47,829.00 \$147,829.00 \$147,829.00 \$161,133.61 \$161,133.61 \$0.00% Swo Ching - Asphat 2,390.00 SF \$44.00 \$32,200.00 \$161,133.61 \$161,133.61 \$161,133.61 \$161,133.61 \$161,133.61 \$161,133.61 \$161,133.61 \$0.00% Swo Ching - Asphat 2,390.00 SF \$44.00 \$32,200.00 \$161,133.61 \$161,133.61 \$161,133.61 \$161,133.61 \$161,133.61 \$161,133.61 \$160,03 Swo Ching - Asphat 2,390.00 SF \$45.00 \$13,074.00 \$151,000.00 \$161,030.00 \$161,030.00 Apphat Kabro	🌮 Vehicle Tracking Mat	2.00	UNIT	\$12,000.00	\$24,000.00			
Enson Control Plan & Permit 1.00 LS 46,500.00 95,500.00 Work Type: 0020-00 CitM oblitization 1.00 LS \$11,071.84 \$11,071.84 \$12,068.31 \$12,068.30 <td>🌮 Rock Sock Bags - Wire Mesh</td> <td>100.00</td> <td>LF</td> <td>\$4.80</td> <td>\$480.00</td> <td></td> <td></td> <td></td>	🌮 Rock Sock Bags - Wire Mesh	100.00	LF	\$4.80	\$480.00			
Work Type: 0020-Mobilization 1.00 15 \$11,071.84 \$12,066.31 \$12,066.31 \$12,066.31 \$00% Heavy Heat Engineent Mobilization 1.00 L5 \$11,071.84 \$11,071.84 \$12,066.31 \$12,066.31 \$00% Heavy Heat Engineent Mobilization 1.00 L5 \$11,071.84 \$11,071.84 \$12,066.7 Truck-thewy Heat Semin 53.33 HR \$93.00 \$2,778.51 Work Type: 0030-Misc Utilities 1.00 L5 \$147,829.00 \$151,133.61 \$161,133.61	🌮 Inlet Protection - Dandy Bags	3.00	UNIT	\$400.00	\$1,200.00			
I - 0020-Open Cut Mobilization 1.00 LS \$11,071.84 \$11,071.84 \$12,068.31 \$12,068.31 \$12,068.31 \$0.09% Heavy Hat Buigment Mobilization (0.15 1.00 LS \$11,071.84 \$10,071.05 \$10,071.05 \$10,071.05 \$10,071.05 \$10,071.05 \$10,071.05 \$10,071.05 \$10,071.05	Kontrol Plan & Permit	1.00	LS	\$6,500.00	\$6,500.00			
Image: Heaver Handi Equipment Mobilization (0.15 1.00 LS \$11,071.84 \$11,071.84 LigOV, 65 TDY) Trailer - Lowboy Ditinger 53.33 HR \$15.00 \$2,286.67 Trailer - Lowboy Ditinger 53.33 HR \$55.00 \$800.00 Trailer - Lowboy Ditinger 53.33 HR \$52.10 \$2,778.51 Work Type: 0030-Misc Utilities 1.00 LS \$147,829.00 \$161,133.61 \$161,133.61 \$0.094 Sw Cutting - Aphalt 2,392.00 LF \$4,50 \$33,200.00 \$38,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$38,200.00 \$52,200.00 \$52,200.00 \$52,200.00 \$52,200.00 \$52,200.00 \$52,200.00 \$52,200.00 \$52,200.00 \$52,200.00 \$52,200.	Work Type: 0020-Mobilization							
LSOY. 6.57 DY Trailer - Lowboy 110K 53.33 HR \$41.00 \$2,186.57 Trailer - Lowboy 110K 53.33 HR \$15.00 \$800.00 Trailer - Lowboy 110K 53.33 HR \$95.0 \$53.06.67 Trailer - Lowboy 110K 53.33 HR \$95.0 \$53.06.67 Truck Driver 53.33 HR \$95.0 \$51.06.77 Truck Driver 53.33 HR \$95.00 \$161,133.61 \$161,133.61 Sw Outling - Aphalt 2,392.00 LF \$4.50 \$10,761.00 Sw Outling - Concrete 25.00 LF \$7.00 \$175.00 Apphalt Removal 9,800.00 SF \$4.00 \$39,200.00 Concrete Stem 1.00 LS \$2,500.00 \$1,200.00 Apphalt Removal 9,800.00 SF \$5.00 \$5.25 \$51.156.00 Concrete Stem 1.00 EACH \$1,200.00 \$8,750.00 \$8,750.00 Concrete Stati-Mobilization 1.00 EACH \$1,066.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00%	1 - 0020-Open Cut Mobilization	1.00	LS	\$11,071.84	\$11,071.84	\$12,068.31	\$12,068.31	9.00%
Trailer - Lowboy Stinger 53.33 HR \$15.00 \$800.00 Truck - Heavy Hau Stemi 53.33 HR \$995.00 \$1,200.00 Truck - Heavy Hau Stemi 53.33 HR \$995.00 \$147,829.00 \$161,133.61 \$161,133.61 \$00% Saw Cutting - Asphat 2,392.00 LF \$45.00 \$107,64.00 \$175,60.00 Saw Cutting - Concrete 2,200.00 S44.00 \$30,200.00 \$175,00.00 \$2,200.00 Concrete Demo 120.00 LF \$45.00 \$107,60.00 \$30,00.00 Concrete Sub-Mobilization 1.00 LS \$2,200.00 \$2,200.00 \$3,200.00 Concrete Sub-Mobilization 1.00 LS \$2,200.00 \$5,200.00 \$2,200.00 Concrete Sub-Mobilization 1.00 LS \$2,200.00 \$2,200.00 \$3,200.00 Curb And Gutter 9,800.00 SF \$2,22 \$2,200.00 \$3,200.00 Dump Fee - Large 2,200.00 F \$2,22 \$3,200.00 \$3,162.29 \$69,737.40 \$0.00% 2. Pothole Existing Utilities 60,000 Read Base Placement <t< td=""><td></td><td>1.00</td><td>LS</td><td>\$11,071.84</td><td>\$11,071.84</td><td></td><td></td><td></td></t<>		1.00	LS	\$11,071.84	\$11,071.84			
Truck - Heavy Haul Semi 53.33 HR \$99.50 \$53.06.67 Truck Driver 53.33 HR \$92.10 \$2.778.51 Image: Semi Cuting - Asphalt 2.392.00 LF \$44.50 \$10.764.00 Saw Cuting - Asphalt 2.392.00 LF \$44.50 \$10.764.00 Saw Cuting - Asphalt 2.392.00 LF \$44.50 \$10.764.00 Saw Cuting - Sphalt 2.392.00 LF \$44.00 \$33.200.00 Saw Cuting - Sphalt 2.392.00 LF \$44.00 \$33.200.00 Saw Cuting - Sphalt 2.300.00 LF \$45.00 \$52.00.00 Concrete Demo 1.00 LS \$2.2500.00 \$2.200.00 Concrete Stab-Mobilization 1.00 LS \$52.25 \$51.450.00 Concrete Stab-Mobilization 9.800.00 SF \$52.25 \$51.450.00 \$1.162.29 \$69,737.40 9.00% More Texaviting - Large 25.00 EACH \$1.066.32 \$63,3979.16 \$1.162.29 \$69,737.40 9.00% Loburge Texaviting - Large (3.00 EACH/DY, 200.00 Hg/dro Exaviting - Large (3.00 EACH/DY, 200.00 \$1.0207	🛶 Trailer - Lowboy 110K	53.33	HR	\$41.00	\$2,186.67			
Truck Driver 53.33 HR \$52.10 \$2,778.51 Work Type: OOS-Misc Utilities \$147,829.00 \$147,829.00 \$145,133.61 \$161,133.61 \$161,133.61 \$9.00% Saw Cutting - Concrete 25.00 LF \$7.00 \$175,000 \$157,000 Kask Removal 9.000.00 SF \$44.00 \$332,00.00 \$175,000 \$175,000 Concrete Demo 120.00 LF \$44.00 \$39,00.00 \$554,00.00 \$25,00.00 \$25,00.00 Asphalt Removal 40.00 HR \$113.00 \$5,25 \$51,450.00 \$22,00.00 \$31,000.00 \$57 \$22,25 \$22,050.00 \$31,000.00 \$500.00 \$500.00 \$500.00 \$500.00 \$500.00 \$500.00 \$500.00 \$51,162.29 \$69,737.40 9.00% Pothole Existing Utilities 60.00 EACH \$1,066.32 \$63,379.16 \$11,235.07 \$11,235.07 \$11,235.07 \$10,207.40 Pothole Existing Severt 200.00 HR \$11,027.40 \$10,207.40 \$10,207.40	🚕 Trailer - Lowboy Stinger	53.33	HR	\$15.00	\$800.00			
Work Type: 0030-Misc Utilities Image: 1 - R & R Surfacing 1.00 LS \$147,829.00 \$147,829.00 \$161,133.61 \$161,133.61 \$00% Saw Cutting - Asphelt 2,392.00 LF \$44.50 \$10,764.00 \$157,500 Saw Cutting - Concrete 2500 LF \$44.00 \$139,200.00 \$161,133.61 \$161,133.61 \$00% Concrete Demo 120.00 LF \$44.00 \$39,200.00 \$52,200.00 \$120.00 \$11.00 \$120.00 \$11.00 \$120.00 \$11.00 \$120.00 \$11.00 \$10.00.00 \$120.00 \$11.00 \$120.00 \$120.00 \$11.00.00 \$11.00.00	🛺 Truck - Heavy Haul Semi	53.33	HR	\$99.50	\$5,306.67			
1 - R & R Surfacing 1.00 LS \$147,829.00 \$147,829.00 \$161,133.61 \$161,133.61 \$161,133.61 \$00% Saw Cutting - Asphalt 2,392.00 LF \$45.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$57.00.00 \$175.00 \$51.00.00 \$175.00 \$50.00.00 \$57.00.00 \$57.00.00 \$57.00.00 \$57.00.00 \$57.00.00 \$57.00.00 \$57.00.00 \$51.450.00 <td< td=""><td>Truck Driver</td><td>53.33</td><td>HR</td><td>\$52.10</td><td>\$2,778.51</td><td></td><td></td><td></td></td<>	Truck Driver	53.33	HR	\$52.10	\$2,778.51			
1 - R & R Surfacing 1.00 LS \$147,829.00 \$147,829.00 \$161,133.61 \$161,133.61 \$161,133.61 \$00% Saw Cutting - Asphalt 2,392.00 LF \$45.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00 \$57.00.00 \$175.00 \$51.00.00 \$175.00 \$50.00.00 \$57.00.00 \$57.00.00 \$57.00.00 \$57.00.00 \$57.00.00 \$57.00.00 \$57.00.00 \$51.450.00 <td< td=""><td>Work Type: 0030-Misc Utilities</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>	Work Type: 0030-Misc Utilities							
Sav Cutting - Asphalt 2,392.00 LF \$4.50 \$10,764.00 \$ sav Cutting - Concrete 25.00 LF \$7.00 \$175.00 Asphalt Removal 9,800.00 SF \$4.00 \$39,200.00 Concrete Demo 120.00 LF \$4.50 \$5,200.00 Asphalt Sub-Mobilization 1.00 LS \$2,200.00 Concrete Sub-Mobilization 9,800.00 SF \$2.25 \$25,1450.00 Cut And Gutter 120.00 LF \$50.00 Road Base Placement 9,800.00 SF \$2.25 \$22,500.00 Dump Fee - Large 2.500 EACH \$1,066.32 \$63,979.16 Public Pier - Large 2.500 EACH \$1,066.32 \$63,979.16 Public Exavator - Vactor 200.00 HR \$10,66.32 \$63,979.16 Laborer 200.00 HR \$1156.00 \$31,000.00 Foreman 200.00 HR \$151.50 Crew Truck 200.00 HR \$19.50 \$31,900.00 Foreman 200.00 HR \$19.50 \$31,900.00 Crew Truck 200.00 HR \$10,307.40 \$10,207.40 Foreman 200.00 HR \$19.50 \$10,207.40 S10,207.40 Crew Truck 100 LS \$10,207.40 S10,207.40		1.00	LS	\$147,829.00	\$147,829.00	\$161,133.61	\$161,133.61	9.00%
Asphalt Removal 9,800.00 SF \$4.00 \$39,200.00 Concrete Demo 120.00 LF \$4.50 \$54.00 Trucking - Spalis Removal 40.00 HR \$130.00 \$52,200.00 Asphalt Sub-Mobilization 1.00 LS \$2,500.00 \$2,500.00 Concrete Sub-Mobilization 9,800.00 SF \$55.25 \$51,450.00 Curb And Gutter 120.00 LF \$50.00 \$6,000.00 Road Base Placement 9,800.00 SF \$2.25 \$51,450.00 Dump Fee - Large 25.00 EACH \$31,006.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% P 2 - Pothole Existing Utilities 60.00 EACH \$1,066.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% P 1/ydro Excavator - Vactor 200.00 HR \$15.00 \$31,200.00 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40		2,392.00	LF	\$4.50	\$10,764.00			
Asphalt Removal 9,800.00 SF \$4.00 \$39,200.00 Concrete Demo 120.00 LF \$4.50 \$54.00 Trucking - Spalis Removal 40.00 HR \$130.00 \$52,200.00 Asphalt Sub-Mobilization 1.00 LS \$2,500.00 \$2,500.00 Concrete Sub-Mobilization 9,800.00 SF \$55.25 \$51,450.00 Curb And Gutter 120.00 LF \$50.00 \$6,000.00 Road Base Placement 9,800.00 SF \$2.25 \$51,450.00 Dump Fee - Large 25.00 EACH \$31,006.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% P 2 - Pothole Existing Utilities 60.00 EACH \$1,066.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% P 1/ydro Excavator - Vactor 200.00 HR \$15.00 \$31,200.00 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40	Saw Cutting - Concrete	25.00	LF	\$7.00	\$175.00			
Trucking - Spoils Removal 40.00 HR \$130.00 \$5,200.00 Apphalt Sub-Mobilization 1.00 LS \$2,200.00 \$1,200.00 Concrets Sub-Mobilization 9,800.00 SF \$5,25 \$51,450.00 Curb And Gutter 120.00 LF \$50.00 \$6,000.00 Road Base Placement 9,800.00 SF \$2,25 \$24,050.00 Dump Fee - Large 25.00 EACH \$1,066.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% Hydro Excavator - Vactor 20.00 HR \$10,666.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% Hydro Excavator - Vactor 20.00 HR \$10,666.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% Laborer 20.00 HR \$10,66.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% Cower Tuck 20.00 HR \$151.00 \$41,020.00 \$1,230.00 \$10,207.40 \$11,235.07 \$11,235.07 \$11,235.07 \$11,235.07 \$11,235.07 \$11,235.07 \$11,235.07 \$11,235.07 \$10,00% \$11,235.07 \$11,235		9,800.00	SF	\$4.00	\$39,200.00			
Asphalt Sub-Mobilization 1.00 LS \$2,500.00 \$2,500.00 Concrete Sub-Mobilization 1.00 EACH \$1,200.00 \$1,200.00 Asphalt Restoration 9,800.00 SF \$5,25 \$51,450.00 Curb And Gutter 120.00 LF \$50.00 \$6,000.00 Dump Fee - Large 25.00 EACH \$1,066.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% 2 - Pothole Existing Utilities 60.00 EACH \$1,066.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% Poter Scavating - Large (3.00 EACH/DY, 20.00 HR \$106.632 \$63,979.16 \$1,162.29 \$69,737.40 9.00% Laborer 200.00 HR \$106.632 \$63,979.16 \$1,1235.07 \$0.00 \$0.00 Crew Truck 200.00 HR \$195.00 \$10,207.40 \$11,235.07 \$10,207.40 C - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 LS/P, 10.00 Y) 1.00 LS \$10,207.40 \$11,235.07 \$11,235.07 \$0.0% C - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 LS/P, 10.00 Y) 1.00 HR \$13.00	Concrete Demo	120.00	LF	\$4.50	\$540.00			
Concrete Sub-Mobilization 1.00 EACH \$1,200.00 \$1,200.00 Asphalt Restoration 9,800.00 SF \$5.25 \$51,450.00 Curb And Gutter 120.00 LF \$50.00 \$6,000.00 Road Base Placement 9,800.00 SF \$2.25 \$222,050.00 Dump Fee - Large 25.00 EACH \$330.00 \$8,750.00 Hydro Excavator - Vactor 200.00 HR \$1,066.32 \$63,3979.16 \$1,020.70 Hydro Excavator - Vactor 200.00 HR \$11,006.32 \$63,3979.16 \$1,00.00 Laborer 200.00 HR \$156.00 \$31,200.00 \$11,235.07 \$10,287.33 Cew Truck 200.00 HR \$195.00 \$11,235.07 \$11,235.07 \$10,207.40 Concret To Existing Sewer 1.00 LS \$10,207.40 \$11,235.07 \$11,235.07 \$00% Concret To Existing Sewer 1.00 LS \$10,207.40 \$11,235.07 \$11,235.07 \$00% Connect To Existing Sewer 1.00 LS \$10,207.40 \$11,235.07 \$11,235.07 \$10,004	Trucking - Spoils Removal	40.00	HR	\$130.00	\$5,200.00			
Asphalt Restoration 9,800.00 SF \$5.25 \$51,450.00 Curb And Gutter 120.00 LF \$50.00 \$6,000.00 Road Base Placement 9,800.00 SF \$22,050.00 \$6,000.00 Dump Fee - Large 25.00 EACH \$350.00 \$8,750.00 2 - Pothole Existing Utilities 60.00 EACH \$1,066.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% Hydro Excavator - Vactor 200.00 HR \$15.00 \$31,200.00 \$31,200.00 \$31,200.00 \$31,200.00 \$33,900.00 \$50 \$3,979.16 \$10,207.40 \$10,207.40 \$11,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,235.07 \$10,00 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,235.07 \$11,235.07 \$11,235.07 \$11,235.07 \$10,235.07 \$10,235.07 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$10,235.07 \$11,235.07	Asphalt Sub-Moblilzation	1.00	LS	\$2,500.00	\$2,500.00			
 Curb And Gutter Road Base Placement 9,800.00 SF \$2,255 \$22,050.00 \$8,750.00 \$8,750.00 \$8,750.00 \$8,750.00 \$8,750.00 \$8,750.00 \$8,750.00 \$1,162.29 \$69,737.40 9.00% \$1,120.00 Hydro Excavator - Vactor 20.00 HR \$10,200.0 HR \$10,200.00 HR \$10,200.00 HR \$10,207.40 \$11,235.07 \$11,235.07	Concrete Sub-Mobilization	1.00	EACH	\$1,200.00	\$1,200.00			
 Curb And Gutter Road Base Placement 9,800.00 SF \$2,255 \$22,050.00 \$8,750.00 \$8,750.00 \$8,750.00 \$8,750.00 \$8,750.00 \$8,750.00 \$8,750.00 \$1,162.29 \$69,737.40 9.00% \$1,120.00 Hydro Excavator - Vactor 20.00 HR \$10,200.0 HR \$10,200.00 HR \$10,200.00 HR \$10,207.40 \$11,235.07 \$11,235.07	Asphalt Restoration	9,800.00	SF	\$5.25	\$51,450.00			
Dump Fee - Large 25.00 EACH \$350.00 \$\$7,750.00 2 - Pothole Existing Utilities 60.00 EACH \$1,066.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% Hydro Excavator - Vactor 200.00 HR \$156.00 \$31,200.01 \$31,200.01 \$31,200.01 \$31,200.01 \$31,200.01 \$31,200.01 \$31,200.01 \$31,200.01 \$31,200.01 \$31,200.01 \$31,200		120.00	LF	\$50.00	\$6,000.00			
2 - Pothole Existing Utilities 60.00 EACH \$1,066.32 \$63,979.16 \$1,162.29 \$69,737.40 9.00% Hydro Excavator - Vactor 200.00 HR \$156.00 \$31,200.00 100 100 100 HR \$156.00 \$31,200.00 100 100 100 HR \$156.00 \$31,200.00 100 100 100 11 100 100 11 \$10,307.40 \$10,307.40 \$11,235.07 \$11,235.07 \$10,307.40 \$10,307.40 \$11,235.07 \$11,235.07 \$00% I - Connect To Existing Sewer 1.00 LS \$10,307.40 \$10,307.40 \$11,235.07 \$11,235.07 \$00% I - Connect To Existing Sewer 1.00 LS \$10,207.40 \$10,207.40 \$11,235.07 \$11,235.07 \$00% I - Connect To Existing Sewer 1.00 LS \$10,207.40 \$10,207.40 \$11,235.07 \$11,235.07 \$10,307 \$11,235.07 \$10,307 \$11,235.07 \$10,307 \$11,235.07 \$10,307 \$11,235.07 \$10,00% \$10,207.40 \$10,207.40 \$11,235.07 \$11,235.07 \$10,007 \$10,00 \$10,300 \$	Road Base Placement	9,800.00	SF	\$2.25	\$22,050.00			
Image: Hydro Excavating - Large (3.00 EACH/DY, 20.00 PK) 60.00 EACH \$1,066.32 \$63,979.16 Image: Hydro Excavator - Vactor 200.00 HR \$156.00 \$31,200.00 Image: Laborer 200.00 HR \$11,235.07 \$3,900.00 Image: Laborer 200.00 HR \$10,307.40 \$11,235.07 \$11,235.07 Image: Crew Truck 200.00 HR \$10,307.40 \$11,235.07 \$11,235.07 \$00% Image: Crew Truck 200.00 HR \$10,207.40 \$10,207.40 \$11,235.07 \$11,235.07 \$00% Image: Crew Truck 1.00 LS \$10,207.40 \$10,207.40 \$10,207.40 \$11,235.07 \$00% Image: Crew Truck 10.00 HR \$10,207.40 \$11,235.07 \$11,235.07 \$10,207.40 \$10,207.40 \$10,207.40 \$10,207.40 \$11,235.07 \$11,235.07 \$11,235.07 \$11,235.07 \$11,235.07	Dump Fee - Large	25.00	EACH	\$350.00	\$8,750.00			
20.00 DY) Hydro Excavator - Vactor 200.00 HR \$156.00 \$31,200.00 Hydro Excavator - Vactor 200.00 HR \$51.44 \$10,287.33 Crew Truck 200.00 HR \$19.50 \$33,900.00 Foreman 200.00 HR \$92.96 \$18,591.83 Work Type: 0100-Sewer Image: Comment To Existing Sewer 1.00 LS \$10,307.40 \$11,235.07 \$11,235.07 \$10,207.40 C - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 L5/DY, 1.00 DY) 1.00 LS \$10,207.40 \$10,207.40 C - Ver Truck 10.00 HR \$19.50 \$195.00 Trailer - Tool (Small) 10.00 HR \$11,235.07 \$11,235.07 \$00% Excavator - Compaction Wheel 10.00 HR \$13.00 \$130.00 Loader - JD 644K (4 CY) 10.00 HR \$125.00 \$465.00 Misc Equipment 10.00 HR \$929.59 \$12,25.88 Operator - Loader 10.00 HR \$929.59 \$929.59 Operator - Loader 10.00 HR \$929.59 \$12,95.88 Pipe Layer 10.00 HR \$55.00 \$550.04 Laborer [3] 10.00 H	2 - Pothole Existing Utilities	60.00	EACH	\$1,066.32	\$63,979.16	\$1,162.29	\$69,737.40	9.00%
Laborer 200.00 HR \$51.44 \$10,287.33 Crew Truck 200.00 HR \$19.50 \$3,900.00 Foreman 200.00 HR \$92.96 \$18,591.83 Work Type: 0100-Sewer 1 - Connect To Existing Sewer 1.00 LS \$10,307.40 \$11,235.07 \$11,235.07 \$00% OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 LS/DV, 1.00 DY) 1.00 LS \$10,207.40 \$11,235.07 \$11,235.07 \$00% Crew Truck 10.00 HR \$10,207.40 \$10,207.40 \$10,207.40 Crew Truck 10.00 HR \$10,207.40 \$11,235.07 \$11,235.07 \$00% Crew Truck 10.00 HR \$10,207.40 \$10,207.40 \$10,207.40 Excavator - Compaction Wheel 10.00 HR \$10,207.40 \$10,00 \$10,00 Loader - JD 644K (4 CY) 10.00 HR \$127.00 \$465.00 \$135.00 \$135.00 Foreman 10.00 HR \$51.50 \$135.00 \$135.00 \$135.00 \$100.00 \$10.00 \$10.00 \$10.00 <td< td=""><td></td><td>60.00</td><td>EACH</td><td>\$1,066.32</td><td>\$63,979.16</td><td></td><td></td><td></td></td<>		60.00	EACH	\$1,066.32	\$63,979.16			
Crew Truck 200.00 HR \$19.50 \$3,900.00 Foreman 200.00 HR \$92.96 \$18,591.83 Work Type: 0100-Sewer 1 - Connect To Existing Sewer 1.00 LS \$10,307.40 \$11,235.07 \$11,235.07 9.00% OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 LS/DY, 1.00 DY) 1.00 LS \$10,207.40 \$10,207.40 Crew Truck 10.00 HR \$19.50 \$195.00 \$10,207.40 \$10,207.40 Trailer - Tool (Small) 10.00 HR \$13.00 \$130.00 \$130.00 Excavator - Compaction Wheel 10.00 HR \$127.72 \$1,277.20 Trench Shield [3] 1.00 DY \$155.00 \$465.00 Misc Equipment 10.00 HR \$92.96 \$929.59 Operator - Loader 10.00 HR \$55.00 \$550.04 Laborer [3] 10.00 HR \$51.50 \$550.04 Laborer [3] 10.00 HR \$51.50 \$515.00 Vater Truck - 2000 Gallon 10.00 HR \$12.767 \$2.553.40 <	🤙 Hydro Excavator - Vactor	200.00	HR	\$156.00	\$31,200.00			
Foreman 200.00 HR \$92.96 \$18,591.83 Work Type: 0100-Sewer Image: Comparison of the stating Sewer 1.00 LS \$10,307.40 \$11,235.07 \$11,235.07 9.00% OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 LS/DY, 1.00 DY) LS \$10,207.40 \$10,207.40 \$11,235.07 \$11,235.07 9.00% Crew Truck 10.00 HR \$195.00 \$10,207.40 \$10,207.40 \$10,207.40 Trailer - Tool (Small) 10.00 HR \$195.00 \$10,207.40 \$10,207.40 Excavator - Compaction Wheel 10.00 HR \$10,207.40 \$10,207.40 Excavator - Compaction Wheel 10.00 HR \$10,207.40 \$10,207.40 Misc Equipment 10.00 HR \$10,207.40 \$10,207.40 \$10,207.40 Misc Equipment 10.00 HR \$10,207.40 \$10,207.40 \$10,207.40 Misc Equipment 10.00 HR \$12,272 \$1,277.20 Operator - Loader 10.00 HR \$51,200 \$2929.59 \$2929.59 <td>👤 Laborer</td> <td>200.00</td> <td>HR</td> <td>\$51.44</td> <td>\$10,287.33</td> <td></td> <td></td> <td></td>	👤 Laborer	200.00	HR	\$51.44	\$10,287.33			
Work Type: 0100-Sewer 1 - Connect To Existing Sewer 1.00 LS \$10,307.40 \$11,235.07 \$11,235.07 \$00% OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 LS/DY, 1.00 DY) 1.00 LS \$10,207.40 \$10,207.40 Crew Truck 10.00 HR \$19.50 \$195.00 Trailer - Tool (Small) 10.00 HR \$13.00 \$130.00 Excavator - Compaction Wheel 10.00 HR \$127.72 \$1,277.20 Loader - JD 644K (4 CY) 10.00 HR \$135.00 \$465.00 Misc Equipment 10.00 HR \$13.50 \$135.00 Foreman 10.00 HR \$12.55.00 \$465.00 Misc Equipment 10.00 HR \$12.50 \$465.00 Operator - Loader 10.00 HR \$12.50 \$465.00 Operator - Loader 10.00 HR \$54.82 \$548.19 Operator - Loader 10.00 HR \$55.00 \$550.04 Laborer [3] 10.00 HR \$5	🚕 Crew Truck	200.00	HR	\$19.50	\$3,900.00			
1 - Connect To Existing Sewer 1.00 LS \$10,307.40 \$11,235.07 \$11,235.07 9.00% OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 LS/DY, 1.00 DY) 1.00 LS \$10,207.40 \$10,00 \$10,207.40 \$10,00 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,00 \$10,00 \$10,00 \$10,00 \$10,00 \$10,00 \$10,00 \$10,00 \$10,00 \$10,00 \$10,00 \$10,00 \$10,00 \$10,00 \$10,00 \$10,000 \$10,000	👱 Foreman	200.00	HR	\$92.96	\$18,591.83			
OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 LS/DY, 1.00 DY) 1.00 LS \$10,207.40 Crew Truck 10.00 HR \$19.50 Trailer - Tool (Small) 10.00 HR \$70.00 Excavator - Compaction Wheel 10.00 HR \$13.00 Loader - JD 644K (4 CY) 10.00 HR \$127.72 Trench Shield [3] 1.00 DY \$155.00 Misc Equipment 10.00 HR \$12.50 Operator - Loader 10.00 HR \$12.50 Operator - Loader 10.00 HR \$54.82 Operator - Excavator [2] 10.00 HR \$55.00 Pipe Layer 10.00 HR \$55.00 Laborer [3] 10.00 HR \$55.00 Vater Truck - 2000 Gallon 10.00 HR \$51.50 Excavator - 300 Class [2] 10.00 HR \$12.767 Sewer Connection Materials 1.00 EACH \$100.00	Work Type: 0100-Sewer							
Equipment (1.00 LS/DY, 1.00 DY) Crew Truck 10.00 HR \$19.50 Trailer - Tool (Small) 10.00 HR \$7.00 Excavator - Compaction Wheel 10.00 HR \$13.00 Loader - JD 644K (4 CY) 10.00 HR \$127.72 Trench Shield [3] 1.00 DY \$155.00 Misc Equipment 10.00 HR \$13.50 Foreman 10.00 HR \$92.96 Operator - Loader 10.00 HR \$54.82 Operator - Loader 10.00 HR \$55.00 Pipe Layer 10.00 HR \$55.00 Vater Truck - 2000 Gallon 10.00 HR \$55.00 Water Truck - 2000 Gallon 10.00 HR \$51.50 Excavator - 300 Class [2] 10.00 HR \$127.67 Sewer Connection Materials 1.00 Excavator \$10.00	1 - Connect To Existing Sewer	1.00	LS	\$10,307.40	\$10,307.40	\$11,235.07	\$11,235.07	9.00%
Trailer - Tool (Small)10.00HR\$7.00\$70.00Excavator - Compaction Wheel10.00HR\$13.00\$130.00Loader - JD 644K (4 CY)10.00HR\$127.72\$1,277.20Trench Shield [3]1.00DY\$155.00\$465.00Misc Equipment10.00HR\$92.96\$929.59Operator - Loader10.00HR\$54.82\$548.19Operator - Loader10.00HR\$64.79\$1,295.88Pipe Layer10.00HR\$55.00\$550.04Laborer [3]10.00HR\$51.50\$515.00Water Truck - 2000 Gallon10.00HR\$127.67\$2,553.40Excavator - 300 Class [2]10.00HR\$100.00\$100.00Sewer Connection Materials1.00EACH\$10.00\$100.00		1.00	LS	\$10,207.40	\$10,207.40			
Excavator - Compaction Wheel 10.00 HR \$13.00 \$130.00 Loader - JD 644K (4 CY) 10.00 HR \$127.72 \$1,277.20 Trench Shield [3] 1.00 DY \$135.00 \$465.00 Misc Equipment 10.00 HR \$13.50 \$135.00 Foreman 10.00 HR \$92.96 \$929.59 Operator - Loader 10.00 HR \$54.82 \$548.19 Operator - Excavator [2] 10.00 HR \$55.00 \$550.04 Laborer [3] 10.00 HR \$51.44 \$1,543.10 Water Truck - 2000 Gallon 10.00 HR \$51.50 \$515.00 Excavator - 300 Class [2] 10.00 HR \$127.67 \$2,553.40 Sewer Connection Materials 1.00 EACH \$100.00 \$100.00	🦂 Crew Truck	10.00	HR	\$19.50	\$195.00			
Loader - JD 644K (4 CY) 10.00 HR \$127.72 \$1,277.20 Trench Shield [3] 1.00 DY \$155.00 \$465.00 Misc Equipment 10.00 HR \$13.50 \$135.00 Foreman 10.00 HR \$92.96 \$929.59 Operator - Loader 10.00 HR \$54.82 \$548.19 Operator - Excavator [2] 10.00 HR \$64.79 \$1,295.88 Pipe Layer 10.00 HR \$55.00 \$550.04 Laborer [3] 10.00 HR \$51.44 \$1,543.10 Water Truck - 2000 Gallon 10.00 HR \$51.50 \$515.00 Excavator - 300 Class [2] 10.00 HR \$127.67 \$2,553.40 Sewer Connection Materials 1.00 EACH \$100.00 \$100.00	🚕 Trailer - Tool (Small)	10.00	HR	\$7.00	\$70.00			
Trench Shield [3] 1.00 DY \$155.00 \$465.00 Misc Equipment 10.00 HR \$13.50 \$135.00 Foreman 10.00 HR \$92.96 \$929.59 Operator - Loader 10.00 HR \$54.82 \$548.19 Operator - Excavator [2] 10.00 HR \$64.79 \$1,295.88 Pipe Layer 10.00 HR \$55.00 \$550.04 Laborer [3] 10.00 HR \$51.50 \$515.00 Water Truck - 2000 Gallon 10.00 HR \$51.50 \$515.00 Excavator - 300 Class [2] 10.00 HR \$127.67 \$2,553.40 Sewer Connection Materials 1.00 EACH \$100.00 \$100.00	🚕 Excavator - Compaction Wheel	10.00	HR	\$13.00	\$130.00			
Misc Equipment 10.00 HR \$13.50 \$135.00 Foreman 10.00 HR \$92.96 \$929.59 Operator - Loader 10.00 HR \$54.82 \$548.19 Operator - Excavator [2] 10.00 HR \$64.79 \$1,295.88 Pipe Layer 10.00 HR \$55.00 \$550.04 Laborer [3] 10.00 HR \$51.44 \$1,543.10 Water Truck - 2000 Gallon 10.00 HR \$51.50 \$515.00 Excavator - 300 Class [2] 10.00 HR \$127.67 \$2,553.40 Sewer Connection Materials 1.00 EACH \$100.00 \$100.00	🥢 Loader - JD 644K (4 CY)	10.00	HR	\$127.72	\$1,277.20			
Foreman 10.00 HR \$92.96 \$929.59 Operator - Loader 10.00 HR \$54.82 \$548.19 Operator - Excavator [2] 10.00 HR \$64.79 \$1,295.88 Pipe Layer 10.00 HR \$55.00 \$550.04 Laborer [3] 10.00 HR \$51.44 \$1,543.10 Water Truck - 2000 Gallon 10.00 HR \$51.50 \$515.00 Excavator - 300 Class [2] 10.00 HR \$127.67 \$2,553.40 Sewer Connection Materials 1.00 EACH \$100.00 \$100.00	🥠 Trench Shield [3]	1.00	DY	\$155.00	\$465.00			
Operator - Loader 10.00 HR \$54.82 \$548.19 Operator - Excavator [2] 10.00 HR \$64.79 \$1,295.88 Pipe Layer 10.00 HR \$55.00 \$550.04 Laborer [3] 10.00 HR \$51.50 \$51.50 Water Truck - 2000 Gallon 10.00 HR \$51.50 \$515.00 Excavator - 300 Class [2] 10.00 HR \$127.67 \$2,553.40 Sewer Connection Materials 1.00 EACH \$100.00 \$100.00	🚕 Misc Equipment	10.00	HR	\$13.50	\$135.00			
Operator - Excavator [2] 10.00 HR \$64.79 \$1,295.88 Pipe Layer 10.00 HR \$55.00 \$550.04 Laborer [3] 10.00 HR \$51.44 \$1,543.10 Water Truck - 2000 Gallon 10.00 HR \$51.50 \$515.00 Excavator - 300 Class [2] 10.00 HR \$127.67 \$2,553.40 Sewer Connection Materials 1.00 EACH \$100.00 \$100.00	👤 Foreman			\$92.96				
Pipe Layer 10.00 HR \$55.00 Laborer [3] 10.00 HR \$51.44 Water Truck - 2000 Gallon 10.00 HR \$51.50 Excavator - 300 Class [2] 10.00 HR \$127.67 Sewer Connection Materials 1.00 EACH \$10.00	🔔 Operator - Loader	10.00	HR	\$54.82	\$548.19			
Laborer [3] 10.00 HR \$51.44 \$1,543.10 Water Truck - 2000 Gallon 10.00 HR \$51.50 \$515.00 Excavator - 300 Class [2] 10.00 HR \$127.67 \$2,553.40 Sewer Connection Materials 1.00 EACH \$100.00 \$100.00	📕 Operator - Excavator [2]	10.00	HR	\$64.79	\$1,295.88			
Water Truck - 2000 Gallon 10.00 HR \$51.50 Excavator - 300 Class [2] 10.00 HR \$127.67 \$2,553.40 Sewer Connection Materials 1.00 EACH \$100.00 \$100.00	📕 Pipe Layer			\$55.00				
Excavator - 300 Class [2] 10.00 HR \$127.67 \$2,553.40 Sewer Connection Materials 1.00 EACH \$100.00 \$100.00	Laborer [3]	10.00	HR	\$51.44	\$1,543.10			
Sewer Connection Materials 1.00 EACH \$100.00 \$100.00	🚕 Water Truck - 2000 Gallon			\$51.50	\$515.00			
	🛁 Excavator - 300 Class [2]			\$127.67	\$2,553.40			
2 - 8" PVC Sewer - Open Cut 1,592.00 LF \$146.24 \$232,815.80 \$159.40 \$253,764.80 9.00%				\$100.00	\$100.00			
	2 - 8" PVC Sewer - Open Cut	1,592.00	LF	\$146.24	\$232,815.80	\$159.40	\$253,764.80	9.00%

(Work Type: 0100-Sewer - 1tem 2 - 8" PVC Sewer - Open Cut continued) ○ C - Pipe Crew - 300 Class Excavator - Owned Equipment (10.00 LF/PH, 15.92 DY) 1,592.00 LF \$102.07 \$162,501.80 ○ C - Wiruck 159.20 HR \$17.00 \$1,114.40 ○ Excavator - Compaction Wheel 159.20 HR \$13.00 \$2,069.60 □ Lader - JD 64HK (4 CY) 159.20 HR \$127.72 \$20,033.02 ○ Trench Shield [3] 15.92 DY \$155.00 \$7,402.80 ○ Misc Equipment 159.20 HR \$127.72 \$20,630.35 ○ Operator - Loader 159.20 HR \$41.799.09 ○ Operator - Loader 159.20 HR \$54.82 \$8,727.25 ○ Operator - Excavator [2] 159.20 HR \$51.50 \$8,756.60 □ Dere [3] 159.20 HR \$51.50 \$8,198.80 ○ Excavator - 300 Class [2] 159.20 HR \$51.50 \$8,198.80 ○ Pice Truck - 2000 Gallon 159.20 HR \$12.767 \$40,650.13 ○ Pice Truck - 2000 Gallon 159.20 HR \$12.00 \$19,104.00 ○ Trucking - Spoils Removal 130.00 HR \$10.00 HR \$10.207.40 \$81,659.19 ○ C Pipe Crew - 3	9.00%
OC. Pipe Crew - 300 Class Excavator - Owned Equipment (10.00 LF/PH, 15.92 DY) 1,592.00 LF \$102.07 \$162,501.80 Trailer - Tool (Small) 159.20 HR \$19.50 \$3,104.40 Trailer - Tool (Small) 159.20 HR \$102.07 \$162,501.80 Loader - JD 644K (4 CY) 159.20 HR \$127.72 \$20,333.02 Tranch Shield [3] 159.20 HR \$135.00 \$7,402.80 Misc Equipment 159.20 HR \$135.00 \$2,149.20 Operator - Loader 159.20 HR \$20,630.35 Operator - Loader 159.20 HR \$55.00 \$8,756.60 Laborer [3] 159.20 HR \$51.50 \$8,198.80 Vater Truck 2000 Galion 159.20 HR \$51.50 \$8,198.80 Excavator - 300 Class [2] 159.20 HR \$51.50 \$8,198.80 Excavator - 300 Class [2] 159.20 HR \$127.67 \$40,650.13 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 IF \$12.00 \$19,104.00 Trucking - Spoils Removal 1,000.07 \$31.30 \$1,650.01	9.00%
Trailer - Tool (Small) 159.20 HR \$7.00 \$1,114.40 Excavator - Compaction Wheel 159.20 HR \$13.00 \$2,069.60 Loader - JD 644K (4 CY) 159.20 HR \$127.72 \$20,333.02 Trench Shield [3] 15.92 DY \$15.50 \$7,402.80 Misc Equipment 159.20 HR \$13.50 \$2,149.20 Foreman 159.20 HR \$54.82 \$8,727.25 Operator - Loader 159.20 HR \$55.00 \$8,756.60 Laborer [3] 159.20 HR \$55.00 \$8,756.60 Laborer [3] 159.20 HR \$51.44 \$24,566.15 Water Truck - 2000 Gallon 159.20 HR \$12.00 \$8,198.80 Excavator - 300 Class [2] 159.20 HR \$12.00 \$19,104.00 Trucking - Spoils Removal 130.00 HR \$10.50.00 \$13,550.00 PIC - SDR-35 - Pipe, 08 Inch 1,592.00 L \$10,207.40 \$81,659.19 Modeling Material - Squeege 1,200.00 TON \$31.30 \$17,614.97 \$140,919.76	9.00%
Excavator - Compaction Wheel 159.20 HR \$13.00 \$2,069.60 Loader - JD 644K (4 CY) 159.20 HR \$127.72 \$20,33.02 Trench Shield [3] 15.92 DY \$155.00 \$7,402.80 Misc Equipment 159.20 HR \$21,49.20 \$2,149.20 Operator - Loader 159.20 HR \$22,66 \$141,799.09 Operator - Loader 159.20 HR \$22,66 \$147,799.09 Operator - Loader 159.20 HR \$24.66 \$157.72 Operator - Excavator [2] 159.20 HR \$55.00 \$8,756.60 Laborer [3] 159.20 HR \$51.44 \$24,566.15 Excavator - 300 Class [2] 159.20 HR \$127.67 \$40,650.13 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 LF \$120.00 \$13,650.00 Trucking - Spoils Removal 130.00 HR \$10,207.40 \$81,659.19 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 LF \$10,207.40 \$13,650.00 C - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 EACH/DV, 8.00 DV) EACH \$10,0207.40	9.00%
Loader - JD 644K (4 CY) 159.20 HR \$127.72 \$20,33.02 Trench Shield [3] 15.92 DY \$155.00 \$7,402.80 Misc Equipment 159.20 HR \$13.50 \$2,149.20 Foreman 159.20 HR \$92.96 \$14,799.09 Operator - Loader 159.20 HR \$48,727.25 Operator - Excavator [2] 159.20 HR \$55.00 \$8,756.60 Laborer [3] 159.20 HR \$51.50 \$8,756.60 Laborer [3] 159.20 HR \$51.44 \$24,566.15 Water Truck - 2000 Gallon 159.20 HR \$127.67 \$40,650.13 Excavator - 300 Class [2] 159.20 HR \$127.67 \$40,650.13 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 LF \$120.00 \$10,007.40 \$31,650.00 PC - Pipe Crew - 300 Class Excavator - Owned 8.00 EACH \$16,160.52 \$129,284.19 \$17,614.97 \$140,919.76 Crew Truck 80.00 HR \$10,007.40 \$81,650.00 \$156.000 \$156.000 \$1,560.00 \$1,560.00 \$10,207.40	9.00%
Trench Shield [3] 15.92 DY \$155.00 \$7,402.80 Misc Equipment 159.20 HR \$13.50 \$2,149.20 Foreman 159.20 HR \$92.96 \$14,799.09 Operator - Loader 159.20 HR \$55.00 \$8,727.25 Operator - Excavator [2] 159.20 HR \$55.00 \$8,756.60 Laborer [3] 159.20 HR \$51.44 \$24,566.15 Water Truck - 2000 Gallon 159.20 HR \$51.44 \$24,566.15 Water Truck - 2000 Gallon 159.20 HR \$11.00 \$19.104.00 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 HR \$12.00 \$19,104.00 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 HR \$12.00 \$19,104.00 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 HR \$12.00 \$13,650.00 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 HR \$12.00 \$13,650.00 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 HR \$10,207.40 \$81,659.19 C - Pipe Crew - 300 Class Excavator - Owned 8.00 EACH \$10,207.40 \$	9.00%
Misc Equipment 159.20 HR \$13.50 \$2,149.20 Foreman 159.20 HR \$92.96 \$14,799.09 Operator - Loader 159.20 HR \$54.82 \$8,727.25 Operator - Excavator [2] 159.20 HR \$64.79 \$20,630.35 Pipe Layer 159.20 HR \$51.44 \$24,566.15 Laborer [3] 159.20 HR \$51.44 \$24,566.15 Water Truck - 2000 Gallon 159.20 HR \$127.67 \$40,650.13 PVC - SDR.35 - Pipe, 08 Inch 1,592.00 LF \$12.00 \$19,104.00 Trucking - Spoils Removal 130.00 HR \$13,050.00 \$13,650.00 PVC - SDR.35 - Pipe, 08 Inch 1,592.00 LF \$12.00 \$17,614.97 \$140,919.76 Bedding Material - Squeege 1,200.00 TON \$31.30 \$37,560.00 \$17,614.97 \$140,919.76 CC - Pipe Crew - 300 Class Excavator - Owned Equipment 80.00 EACH \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Trailer - Tool (Small) 80.00 HR \$19,50.00 \$1,560.00	9.00%
Foreman 159.20 HR \$92.96 \$14,799.09 Operator - Loader 159.20 HR \$54.82 \$8,727.25 Operator - Excavator [2] 159.20 HR \$64.79 \$20,630.35 Pipe Layer 159.20 HR \$55.00 \$8,756.60 Laborer [3] 159.20 HR \$51.44 \$24,666.15 Water Truck - 2000 Gallon 159.20 HR \$51.50 \$8,198.80 Excavator - 300 Class [2] 159.20 HR \$127.67 \$40,650.13 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 LF \$12.00 \$11,650.00 Trucking - Spoils Removal 130.00 HR \$105.00 \$13,650.00 Bedding Material - Squeege 1,200.00 TON \$31.30 \$17,614.97 \$140,919.76 O C - Pipe Crew - 300 Class Excavator - Owned EACH \$16,160.52 \$129,284.19 \$17,614.97 \$140,919.76 Maigument (1.00 EACH/DY, 8.00 DY) 80.00 HR \$10,207.40 \$81,650.10 \$1,7614.97 \$140,919.76 Maigument (1.00 EACH/DY, 8.00 DY) 80.00 HR \$10,207.40 \$1,040.00 <td< td=""><td>9.00%</td></td<>	9.00%
Operator - Loader 159.20 HR \$54.82 \$8,727.25 Operator - Excavator [2] 159.20 HR \$64.79 \$20,630.35 Pipe Layer 159.20 HR \$55.00 \$8,756.60 Laborer [3] 159.20 HR \$51.44 \$24,566.15 Water Truck - 2000 Gallon 159.20 HR \$51.44 \$24,566.15 Excavator - 300 Class [2] 159.20 HR \$112.00 \$199.104.00 Trucking - Spoils Removal 130.00 HR \$105.00 \$13,650.00 Beding Material - Squeege 1,200.00 TON \$31.30 \$37,560.00 C - Pipe Crew - 300 Class Excavator - Owned 8.00 EACH \$16,160.52 \$129,284.19 \$17,614.97 \$140,919.76 O - Pipe Crew - 300 Class Excavator - Owned 8.00 EACH \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Crew Truck 80.00 HR \$10,207.40 \$81,659.19 \$1,640.00 \$1,40.40 \$1,040.00 \$1,40.41 \$1,040.00 \$1,040.00 \$1,040.00 \$1,040.00 \$3,72.00 \$3,72.00 \$3,72.00 \$3,72.00 \$3,72.0	9.00%
Operator - Excavator [2] 159.20 HR \$64.79 \$20,630.35 Pipe Layer 159.20 HR \$55.00 \$8,756.60 Laborer [3] 159.20 HR \$51.44 \$24,566.15 Water Truck - 2000 Gallon 159.20 HR \$51.44 \$24,650.13 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 LF \$12.00 \$19,104.00 Trucking - Spoils Removal 130.00 HR \$10,207.40 \$13,650.00 Bedding Material - Squeege 1,200.00 TON \$31.30 \$37,560.00 C - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 EACH/DY, 8.00 DY) 80.00 EACH \$16,160.52 \$129,284.19 \$17,614.97 \$140,919.76 C rew Truck 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 C rew Truck 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Tailer - Tool (Small) 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Tailer - Tool (Small) 80.00 HR \$10,207.40 \$10,207.40 \$10,207.40 \$10,	9.00%
Pipe Layer 159.20 HR \$55.00 \$8,756.60 Laborer [3] 159.20 HR \$51.44 \$24,566.15 Water Truck - 2000 Gallon 159.20 HR \$51.50 \$8,198.80 Excavator - 300 Class [2] 159.20 HR \$127.67 \$40,650.13 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 LF \$12.00 \$19,104.00 Trucking - Spoils Removal 130.00 HR \$105.00 \$13,650.00 Bedding Material - Squeege 1,200.00 TON \$31.30 \$37,560.00 OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 EACH/DY, 8.00 DY) EACH \$16,160.52 \$129,284.19 \$17,614.97 \$140,919.76 Crew Truck 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Trailer - Tool (Small) 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Excavator - Compaction Wheel 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Excavator - Compaction Wheel 80.00 HR \$1,50.00 \$31,500.00 \$15,60.00 \$33,7	9.00%
Laborer [3] 159.20 HR \$51.44 \$24,566.15 Water Truck - 2000 Gallon 159.20 HR \$51.50 \$8,198.80 Excavator - 300 Class [2] 159.20 HR \$127.67 \$40,650.13 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 LF \$12.00 \$19,104.00 Trucking - Spoils Removal 130.00 HR \$105.00 \$13,650.00 Bedding Material - Squeege 1,200.00 TON \$31.30 \$37,560.00 4 - 48" Dia. SASMH 8.00 EACH \$16,160.52 \$129,284.19 \$17,614.97 \$140,919.76 OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 EACH/DY, 8.00 DY) 80.00 HR \$10,207.40 \$81,659.19 Trailer - Tool (Small) 80.00 HR \$11,0207.40 \$81,659.19 \$17,614.97 \$140,919.76 Excavator - Compaction Wheel 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Excavator - Compaction Wheel 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Excavator - Compaction Wheel 80.00 HR \$10,207.40 \$81	9.00%
Water Truck - 2000 Gallon 159.20 HR \$51.50 \$8,198.80 Excavator - 300 Class [2] 159.20 HR \$127.67 \$40,650.13 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 LF \$12.00 \$13,650.00 Trucking - Spoils Removal 130.00 HR \$105.00 \$13,650.00 Bedding Material - Squeege 1,200.00 TON \$31.30 \$37,560.00 C - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 EACH/DY, 8.00 DY) 8.00 EACH \$10,207.40 \$81,659.19 C Crew Truck 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Trailer - Tool (Small) 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Excavator - Compaction Wheel 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Excavator - Compaction Wheel 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Excavator - Compaction Wheel 80.00 HR \$12,020.00 \$1,040.00 \$1,040.00 \$1,040.00 \$1,040.00 \$1,040.00 \$1,040.00	9.00%
Excavator - 300 Class [2] 159.20 HR \$127.67 \$40,650.13 PVC - SDR-35 - Pipe, 08 Inch 1,592.00 LF \$12.00 \$19,104.00 Trucking - Spoils Removal 130.00 HR \$105.00 \$13,650.00 Bedding Material - Squeege 1,200.00 TON \$31.30 \$37,560.00 4 - 48" Dia. SASMH 8.00 EACH \$16,160.52 \$129,284.19 \$17,614.97 \$140,919.76 C - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 EACH/DY, 8.00 DY) 800 HR \$10,207.40 \$81,659.19 Crew Truck 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Excavator - Compaction Wheel 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Excavator - Compaction Wheel 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Loader - JD 644K (4 CY) 80.00 HR \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Misc Equipment 1.00 HR \$10,207.40 \$81,659.10 \$1,600.00 \$1,040.00 \$1,040.00 \$1,040.00 <td>9.00%</td>	9.00%
PVC - SDR-35 - Pipe, 08 Inch 1,592.00 LF \$12.00 \$19,104.00 Trucking - Spoils Removal 130.00 HR \$105.00 \$13,650.00 Bedding Material - Squeege 1,200.00 TON \$31.30 \$37,560.00 Image: A - 48" Dia. SASMH 8.00 EACH \$16,160.52 \$129,284.19 \$17,614.97 \$140,919.76 Image: OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 EACH/DY, 8.00 DY) 8.00 EACH \$10,207.40 \$81,659.19 Image: Oc - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 EACH/DY, 8.00 DY) 80.00 HR \$19.50 \$1,560.00 Image: Oc - Ripe Crew Truck 80.00 HR \$19.50 \$1,040.00 Image: Oc - Ripe Crew Truck 80.00 HR \$120.72 \$10,217.60 Image: Oc - JD 644K (4 CY) 80.00 HR \$13.50 \$1,040.00 Image: Oc - JD 644K (4 CY) 80.00 HR \$127.72 \$10,217.60 Image: Oc - Spectrum Structure (13) 80.00 HR \$13.50 \$1,080.00 Image: Oc - Spectrum Structure (13) 80.00 HR \$13.50 \$1,080.00 Image: Oc - Spectrum Structure	9.00%
Trucking - Spoils Removal 130.00 HR \$105.00 \$13,650.00 Bedding Material - Squeege 1,200.00 TON \$31.30 \$37,560.00 4 - 48" Dia. SASMH 8.00 EACH \$16,160.52 \$129,284.19 \$17,614.97 \$140,919.76 OC - Pipe Crew - 300 Class Excavator - Owned guipment (1.00 EACH/DY, 8.00 DY) 8.00 EACH \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 Crew Truck 80.00 HR \$19.50 \$1,560.00 \$11,560.00 \$11,900.00 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,000 \$10,010,00 \$10,01	9.00%
Bedding Material - Squeege 1,200.00 TON \$31.30 \$37,560.00 4 - 48" Dia. SASMH 8.00 EACH \$16,160.52 \$129,284.19 \$17,614.97 \$140,919.76 Image: OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 EACH/DY, 8.00 DY) 80.00 HR \$10,207.40 \$81,659.19 Image: Crew Truck 80.00 HR \$19.50 \$1,560.00 Image: Crew Truck 80.00 HR \$120.00 \$10,040.00 Image: Crew Truck 80.00 HR \$127.72 \$10,217.60 Image: Crew Truck 80.00 HR \$13.30 \$1,040.00 Image: Crew Truck 80.00 HR \$127.72 \$10,217.60 Image: Crew Truck 80.00 HR \$13.50 \$1,080.00 Image: Crew Truch Shield [3] 80.00 HR	9.00%
4 - 48" Dia. SASMH 8.00 EACH \$16,160.52 \$129,284.19 \$17,614.97 \$140,919.76 C - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 EACH/DY, 8.00 DY) 8.00 EACH \$10,207.40 \$81,659.19 \$17,614.97 \$140,919.76 C crew Truck 80.00 HR \$19.50 \$1,560.00 \$1,560.00 \$1,560.00 \$1,040.00	9.00%
OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.00 EACH/DY, 8.00 DY) 8.00 EACH \$10,207.40 \$81,659.19 Crew Truck 80.00 HR \$19.50 \$1,560.00 Trailer - Tool (Small) 80.00 HR \$77.00 \$560.00 Excavator - Compaction Wheel 80.00 HR \$13.00 \$1,040.00 Loader - JD 644K (4 CY) 80.00 HR \$127.72 \$10,217.60 Trench Shield [3] 80.00 HR \$13.50 \$3,720.00 Misc Equipment 80.00 HR \$13.50 \$1,080.00 Foreman 80.00 HR \$92.96 \$7,436.73 Operator - Loader 80.00 HR \$54.82 \$4,385.55 Operator - Excavator [2] 80.00 HR \$64.79 \$10,367.01	9.00%
Equipment (1.00 EACH/DY, 8.00 DY) Crew Truck 80.00 HR \$19.50 \$1,560.00 Trailer - Tool (Small) 80.00 HR \$7.00 \$560.00 Excavator - Compaction Wheel 80.00 HR \$13.00 \$1,040.00 Loader - JD 644K (4 CY) 80.00 HR \$127.72 \$10,217.60 Trench Shield [3] 8.00 DY \$155.00 \$3,720.00 Misc Equipment 80.00 HR \$13.50 \$1,080.00 Foreman 80.00 HR \$92.96 \$7,436.73 Operator - Loader 80.00 HR \$54.82 \$4,385.55 Operator - Excavator [2] 80.00 HR \$64.79 \$10,367.01	
Trailer - Tool (Small) 80.00 HR \$7.00 \$560.00 Excavator - Compaction Wheel 80.00 HR \$13.00 \$1,040.00 Loader - JD 644K (4 CY) 80.00 HR \$127.72 \$10,217.60 Trench Shield [3] 80.00 HR \$13.50 \$3,720.00 Misc Equipment 80.00 HR \$13.50 \$1,080.00 Foreman 80.00 HR \$92.96 \$7,436.73 Operator - Loader 80.00 HR \$54.82 \$4,385.55 Operator - Excavator [2] 80.00 HR \$64.79 \$10,367.01	
Excavator - Compaction Wheel 80.00 HR \$13.00 \$1,040.00 Loader - JD 644K (4 CY) 80.00 HR \$127.72 \$10,217.60 Trench Shield [3] 8.00 DY \$155.00 \$3,720.00 Misc Equipment 80.00 HR \$13.50 \$1,080.00 Foreman 80.00 HR \$92.96 \$7,436.73 Operator - Loader 80.00 HR \$54.82 \$4,385.55 Operator - Excavator [2] 80.00 HR \$64.79 \$10,367.01	
Loader - JD 644K (4 CY) 80.00 HR \$127.72 \$10,217.60 Trench Shield [3] 8.00 DY \$155.00 \$3,720.00 Misc Equipment 80.00 HR \$13.50 \$1,080.00 Foreman 80.00 HR \$92.96 \$7,436.73 Operator - Loader 80.00 HR \$54.82 \$4,385.55 Operator - Excavator [2] 80.00 HR \$64.79 \$10,367.01	
Trench Shield [3] 8.00 DY \$155.00 \$3,720.00 Misc Equipment 80.00 HR \$13.50 \$1,080.00 Foreman 80.00 HR \$92.96 \$7,436.73 Operator - Loader 80.00 HR \$54.82 \$4,385.55 Operator - Excavator [2] 80.00 HR \$64.79 \$10,367.01	
Misc Equipment 80.00 HR \$13.50 \$1,080.00 Foreman 80.00 HR \$92.96 \$7,436.73 Operator - Loader 80.00 HR \$54.82 \$4,385.55 Operator - Excavator [2] 80.00 HR \$64.79 \$10,367.01	
Foreman 80.00 HR \$92.96 \$7,436.73 Operator - Loader 80.00 HR \$54.82 \$4,385.55 Operator - Excavator [2] 80.00 HR \$64.79 \$10,367.01	
Operator - Loader 80.00 HR \$54.82 \$4,385.55 Operator - Excavator [2] 80.00 HR \$64.79 \$10,367.01	
Operator - Excavator [2] 80.00 HR \$64.79 \$10,367.01	
Pipe Layer 80.00 HR \$55.00 \$4,400.30	
Laborer [3] 80.00 HR \$51.44 \$12,344.80	
A Water Truck - 2000 Gallon 80.00 HR \$51.50 \$4,120.00	
A Excavator - 300 Class [2] 80.00 HR \$127.67 \$20,427.20	
48" Sanitary Manhole 8.00 EACH \$3,000.00 \$24,000.00	
P Concrete - 4000 PSI 45.00 CY \$250.00 \$11,250.00	
Rebar - Grade 60, 1/2 Inch 1,500.00 LF \$1.70 \$2,550.00	
Drop Manhole Parts 4.00 EACH \$1,300.00 \$5,200.00	
Exterior Drop Concrete - 4000 PSI (4 EA) 8.00 CY \$250.00 \$2,000.00	
Exterior Drop Rebar - Grade 60, 1/2 Inch (4 1,500.00 LF \$1.75 \$2,625.00 EA)	
D 5 - 72" Dia. SASMH 1.00 EACH \$27,463.69 \$27,463.69 \$29,935.42 \$29,935.42	9.00%
CC - Pipe Crew - 300 Class Excavator - Owned 1.00 EACH \$15,703.69 \$15,703.69 Equipment (0.65 EACH/DY, 1.54 DY)	
A Crew Truck 15.38 HR \$19.50 \$300.00	
A Trailer - Tool (Small) 15.38 HR \$7.00 \$107.69	
A Excavator - Compaction Wheel 15.38 HR \$13.00 \$200.00	
🚕 Loader - JD 644K (4 CY) 15.38 HR \$127.72 \$1,964.92	
Trench Shield [3] 1.54 DY \$155.00 \$715.38	
Misc Equipment 15.38 HR \$13.50 \$207.69	
E Foreman 15.38 HR \$92.96 \$1,430.14	
Operator - Loader 15.38 HR \$54.82 \$843.38	
Operator - Excavator [2] 15.38 HR \$64.79 \$1,993.66	
Pipe Layer 15.38 HR \$55.00 \$846.21	
Laborer [3] 15.38 HR \$51.44 \$2,374.00	
Water Truck - 2000 Gallon 15.38 HR \$51.50 \$792.31	
Excavator - 300 Class [2] 15.38 HR \$127.67 \$3,928.31	
72" Sanitary Manhole 1.00 EACH \$4,500.00 \$4,500.00	
Concrete - 4000 PSI 7.00 CY \$250.00 \$1,750.00	
Rebar - Grade 60, 1/2 Inch 300.00 LF \$1.70 \$510.00	

Description	Quantity	ИМ	Unit Direct Cost	Total Direct Cost	Unit Price	Total Price	Markup Percent
(Work Type: 0100-Sewer - Item 5 - 72" Dia. SASM	H continued)						
🌮 Drop Manhole Parts	2.00	EACH	\$1,300.00	\$2,600.00			
🌮 Exterior Drop Rebar - Grade 60, 1/2 Inch	800.00	LF	\$1.75	\$1,400.00			
nterior Drop Concrete - 4000 PSI	4.00	CY	\$250.00	\$1,000.00			
6 - Steel Casing Under East Retaining Wall	25.00	LF	\$196.66	\$4,916.48	\$214.36	\$5,359.00	9.00%
OC - Pipe Crew - 300 Class Excavator - Owned Equipment (125.00 LF/DY, 0.20 DY)	25.00	LF	\$81.66	\$2,041.48			
🥠 Crew Truck	2.00	HR	\$19.50	\$39.00			
🥠 Trailer - Tool (Small)	2.00	HR	\$7.00	\$14.00			
🚕 Excavator - Compaction Wheel	2.00	HR	\$13.00	\$26.00			
🚕 Loader - JD 644K (4 CY)	2.00	HR	\$127.72	\$255.44			
Arrench Shield [3]	0.20		\$155.00	\$93.00			
Alisc Equipment	2.00		\$13.50	\$27.00			
Eoreman	2.00		\$92.96	\$185.92			
Operator - Loader	2.00		\$54.82	\$109.64			
Operator - Excavator [2]	2.00		\$64.79	\$259.18			
Pipe Layer	2.00		\$55.00	\$110.01			
Laborer [3]	2.00		\$51.44	\$308.62			
🚕 Water Truck - 2000 Gallon	2.00	HR	\$51.50	\$103.00			
🛁 Excavator - 300 Class [2]	2.00		\$127.67	\$510.68			
Steel Casing - 12" X .375"	25.00	LF	\$115.00	\$2,875.00			
Vork Type: 0200-Water							
1 - Connect To Existing Water	3.00	EACH	\$9,365.92	\$28,097.76	\$10,208.85	\$30,626.55	9.00%
OC - Pipe Crew - 300 Class Excavator - Owned Equipment (1.25 EACH/DY, 2.40 DY)	3.00	EACH	\$8,165.92	\$24,497.76			
🚕 Crew Truck	24.00	HR	\$19.50	\$468.00			
🥠 Trailer - Tool (Small)	24.00	HR	\$7.00	\$168.00			
🚕 Excavator - Compaction Wheel	24.00	HR	\$13.00	\$312.00			
🥠 Loader - JD 644K (4 CY)	24.00	HR	\$127.72	\$3,065.28			
🦂 Trench Shield [3]	2.40	DY	\$155.00	\$1,116.00			
🚕 Misc Equipment	24.00	HR	\$13.50	\$324.00			
👤 Foreman	24.00	HR	\$92.96	\$2,231.02			
💂 Operator - Loader	24.00	HR	\$54.82	\$1,315.67			
L Operator - Excavator [2]	24.00	HR	\$64.79	\$3,110.10			
👤 Pipe Layer	24.00	HR	\$55.00	\$1,320.09			
Laborer [3]	24.00	HR	\$51.44	\$3,703.44			
🚕 Water Truck - 2000 Gallon	24.00	HR	\$51.50	\$1,236.00			
🛁 Excavator - 300 Class [2]	24.00	HR	\$127.67	\$6,128.16			
Water Connection Materials	1.00	LS	\$3,600.00	\$3,600.00			
2 - 8" PVC Water Line - Open Cut	614.00	LF	\$136.02	\$83,516.36	\$148.26	\$91,031.64	9.00%
CC - Pipe Crew - 300 Class Excavator - Owned Equipment (12.00 LF/PH, 5.12 DY)	614.00		\$85.06	\$52,227.86			
Crew Truck	51.17		\$19.50	\$997.75			
Trailer - Tool (Small)	51.17		\$7.00	\$358.17			
Excavator - Compaction Wheel	51.17		\$13.00	\$665.17			
Loader - JD 644K (4 CY)	51.17		\$127.72	\$6,535.01			
Trench Shield [3]	5.12		\$155.00	\$2,379.25			
Misc Equipment	51.17		\$13.50	\$690.75			
Foreman	51.17		\$92.96	\$4,756.41			
Operator - Loader	51.17		\$54.82	\$2,804.93			
Operator - Excavator [2]	51.17		\$64.79	\$6,630.57			
Pipe Layer	51.17		\$55.00	\$2,814.36			
Laborer [3]	51.17		\$51.44	\$7,895.53			
Water Truck - 2000 Gallon	51.17		\$51.50	\$2,635.08			
Excavator - 300 Class [2]	51.17		\$127.67	\$13,064.90			
8" C900 DR14	620.00		\$28.00	\$17,360.00			
Bedding Material - Squeege	445.00		\$31.30	\$13,928.50			
1 4 - 8" MJ Bends		EACH	\$1,932.17	\$15,457.40	\$2,106.07	\$16,848.56	9.00%
OC - Pipe Crew - 300 Class Excavator - Owned Equipment (8.00 EACH/DY, 1.00 DY)	8.00	EACH	\$1,275.92	\$10,207.40			

Description	Quantity	UM	Unit Direct Cost	Total Direct Cost	Unit Price	Total Price	Markup Percent
(Work Type: 0200-Water - Item 4 - 8" MJ Bends c		-					
🦂 Crew Truck	10.00	HR	\$19.50	\$195.00			
Angel Angel Angel (Small)	10.00	HR	\$7.00	\$70.00			
🚕 Excavator - Compaction Wheel	10.00	HR	\$13.00	\$130.00			
🦂 Loader - JD 644K (4 CY)	10.00	HR	\$127.72	\$1,277.20			
🚕 Trench Shield [3]	1.00	DY	\$155.00	\$465.00			
🚕 Misc Equipment	10.00	HR	\$13.50	\$135.00			
Left Foreman	10.00	HR	\$92.96	\$929.59			
👤 Operator - Loader	10.00	HR	\$54.82	\$548.19			
Operator - Excavator [2]	10.00	HR	\$64.79	\$1,295.88			
Pipe Layer	10.00		\$55.00	\$550.04			
Laborer [3]	10.00		\$51.44	\$1,543.10			
Water Truck - 2000 Gallon	10.00		\$51.50	\$515.00			
Excavator - 300 Class [2]	10.00		\$127.67	\$2,553.40			
MJ Bend - 45° - 08 Inch		EACH	\$500.00	\$4,000.00			
Concrete - 4000 PSI	5.00		\$250.00	\$1,250.00			
5 - 8" MJ Gate Valves		EACH	\$3,558.20	\$7,116.40	\$3,878.44	\$7,756.88	9.00%
CC - Pipe Crew - 300 Class Excavator - Owned Equipment (7.00 EACH/DY, 0.29 DY)		EACH	\$1,458.20	\$2,916.40			
🦂 Crew Truck	2.86		\$19.50	\$55.71			
Trailer - Tool (Small)	2.86		\$7.00	\$20.00			
Excavator - Compaction Wheel	2.86		\$13.00	\$37.14			
🥠 Loader - JD 644K (4 CY)	2.86		\$127.72	\$364.91			
A Trench Shield [3]	0.29		\$155.00	\$132.86			
Alisc Equipment	2.86		\$13.50	\$38.57			
Foreman	2.86		\$92.96	\$265.60			
Operator - Loader	2.86		\$54.82	\$156.63			
Operator - Excavator [2]	2.86		\$64.79	\$370.25			
Pipe Layer	2.86		\$55.00	\$157.15			
Laborer [3]	2.86		\$51.44	\$440.89			
Water Truck - 2000 Gallon	2.86		\$51.50	\$147.14			
Excavator - 300 Class [2]	2.86		\$127.67	\$729.54			
Gate Valve - 08 Inch		EACH	\$2,100.00	\$4,200.00	+24 244 02	+ 42 600 64	0.000/
6 - Fire Hydrants		EACH	\$19,582.40	\$39,164.80 \$20,414.80	\$21,344.82	\$42,689.64	9.00%
Craw Truck		EACH	\$10,207.40	. ,			
Crew Truck	20.00		\$19.50	\$390.00			
Trailer - Tool (Small)	20.00		\$7.00	\$140.00			
Excavator - Compaction Wheel	20.00		\$13.00	\$260.00			
Loader - JD 644K (4 CY)	20.00		\$127.72	\$2,554.40			
A Mice Faviance	2.00		\$155.00	\$930.00			
Misc Equipment	20.00		\$13.50	\$270.00			
Foreman	20.00		\$92.96	\$1,859.18			
Operator - Loader	20.00		\$54.82	\$1,096.39 \$2,501.75			
Dirac Laver	20.00		\$64.79	\$2,591.75			
Pipe Layer	20.00		\$55.00	\$1,100.08			
Laborer [3]	20.00		\$51.44	\$3,086.20			
Kcavator - 300 Class [2]	20.00 20.00		\$51.50 \$127.67	\$1,030.00 \$5,106.80			
		EACH					
 Fire Hydrant Assembly - 6 Inch, 6 Foot Bury Concrete - 4000 PSI 	3.00		\$9,000.00 \$250.00	\$18,000.00 \$750.00			
ork Type: 0600-HDD							
1 - Mobilization	1.00	LS	\$7,880.16	\$7,880.16	\$8,589.38	\$8,589.38	9.00%
🔭 JT 60 Crew (1.00 LS/DY, 1.00 DY)	1.00	LS	\$7,880.16	\$7,880.16			
Crew Truck [2]	12.00	HR	\$19.50	\$468.00			
🦂 Hydro Excavator - Trailer Mounted	12.00	HR	\$42.25	\$507.00			
• • · · · · · · · · ·	12.00	HR	\$77.00	\$924.00			
🥠 Drill Truck And Sam Senior	12.00						
🦂 Drill Truck And Sam Senior 🥠 Trailer - 40K	12.00		\$15.00	\$180.00			
		HR		\$180.00 \$0.00			

Description	Quantity	UM	Unit Direct Cost	Total Direct Cost	Unit Price	Total Price	Markup Percent
(Work Type: 0600-HDD - Item 1 - Mobilization co	ontinued)						
🚕 Excavator - JD 135G 30K LB	12.00		\$75.89	\$910.68			
rruck - Semi	12.00		\$48.50	\$582.00			
Trailer - Lowboy 110K	12.00		\$41.00	\$492.00			
Foreman	12.00		\$98.06	\$1,176.69			
Length Contraction - Drill	12.00		\$56.32	\$675.78			
Len Mud Tech	12.00	HR	\$50.38	\$604.58			
Truck Driver	12.00		\$59.31	\$711.68			
Laborer	12.00		\$53.98	\$647.76			
2 - Directional bore and install 16" HDPE SDR-11 casing in one location for Sanitary (108')	108.00	LF	\$921.08	\$99,476.88	\$1,003.98	\$108,429.84	9.00%
Sanitary Bore	1.00	LS	\$71,891.07	\$71,891.07			
JT 60 Crew (RU1, P1, R161, R241, S&P1, C1=6) (0.15 LS/DY, 6.50 DY)	1.00	LS	\$71,891.07	\$71,891.07			
🦂 Crew Truck [2]	78.00	HR	\$19.50	\$3,042.00			
🦂 Hydro Excavator - Trailer Mounted	78.00	HR	\$42.25	\$3,295.50			
🚕 Drill Truck And Sam Senior	78.00	HR	\$77.00	\$6,006.00			
🚕 Trailer - 40K	78.00	HR	\$15.00	\$1,170.00			
🥠 Recycler - Tulsa Rig Iron (Medium)	78.00	HR	\$100.50	\$7,839.00			
🚕 Drill - JT 60	78.00	HR	\$215.00	\$16,770.00			
🚕 Excavator - JD 135G 30K LB	78.00	HR	\$75.89	\$5,919.42			
4 Mud Truck - 80 Barrel	78.00	HR	\$39.00	\$3,042.00			
🔔 Foreman	78.00	HR	\$98.06	\$7,648.46			
💂 Operator - Drill	78.00	HR	\$56.32	\$4,392.59			
💄 Mud Tech	78.00	HR	\$50.38	\$3,929.74			
Truck Driver	78.00	HR	\$59.31	\$4,625.92			
Laborer	78.00	HR	\$53.98	\$4,210.44			
🕑 Sanitary Tooling	1.00	LS	\$2,500.00	\$2,500.00			
Sanitary Drill Fluid Additives	1.00	LS	\$1,500.00	\$1,500.00			
Trilling Fliuds	1.00	EACH	\$1,500.00	\$1,500.00			
Badger Trucks for Pull Day - RM 2 each @ 3500/dy	1.00		\$7,000.00	\$7,000.00			
Hydro Excavator - 2 Ea - Subcontracted	1.00		\$7,000.00	\$7,000.00			
Spoil Disposal Cost		EACH	\$620.00	\$620.00			
Hydro Excavator		EACH	\$1,250.00	\$2,500.00			
Fusion Crew - 18" OD or Less (0.24 LS/DY, 4.15 DY)	1.00		\$13,465.82	\$13,465.82			
Fusion Tech	49.80		\$60.77	\$3,026.24			
Laborer	49.80		\$53.98	\$2,688.20			
Husion Machine - 6" - 18"	49.80		\$40.50 ¢10.50	\$2,016.90			
Crew Truck	49.80		\$19.50 ¢7.00	\$971.10 \$348.60			
🚕 Trailer, Enclosed, Medium	49.80 49.80		\$7.00 \$88.65	\$348.60 ¢4 414 77			
Excavator - 200 Class 3 - Directional bore and install 16" HDPE	49.80 215.00		\$88.65 \$493.56	\$4,414.77 \$106,114.80	\$537.98	\$115,665.70	9.00%
SDR-11 casing in one location for Water (215')	213.00		₽ , 20,00	φ ⊥∪0 /⊥1 7 .00	4397.70	φ 113,003.7 0	2100-70
🕖 Water Bore	1.00	LS	\$82,951.23	\$82,951.23			
JT 60 Crew (P2, R162, R242, S1, P1, C1 RD1=10) (0.13 LS/DY, 7.50 DY)	1.00		\$82,951.23	\$82,951.23			
Crew Truck [2]	90.00		\$19.50	\$3,510.00			
Hydro Excavator - Trailer Mounted	90.00		\$42.25	\$3,802.50			
A Drill Truck And Sam Senior	90.00		\$77.00	\$6,930.00			
Trailer - 40K	90.00		\$15.00	\$1,350.00			
Recycler - Tulsa Rig Iron (Medium)	90.00		\$100.50	\$9,045.00			
All Drill - JT 60	90.00		\$215.00	\$19,350.00			
Excavator - JD 135G 30K LB	90.00		\$75.89	\$6,830.10			
Mud Truck - 80 Barrel	90.00		\$39.00	\$3,510.00			
Foreman	90.00		\$98.06	\$8,825.14			
👤 Operator - Drill	90.00	HR	\$56.32	\$5,068.38			
Mud Tech Truck Driver	90.00 90.00		\$50.38	\$4,534.32			

Description	Quantity	ИМ	Unit Direct Cost	Total Direct Cost	Unit Price	Total Price	Markup Percent
(Work Type: 0600-HDD - Item 3 - Directional bor	e and install 1	6" HDPE	SDR-11 casing in	one location for	Water (215') co	ntinued)	
Laborer	90.00	HR	\$53.98	\$4,858.20			
P Water Tooling	1.00		\$2,500.00	\$2,500.00			
Water Drill Fluid Additives	1.00	LS	\$2,500.00	\$2,500.00			
Reference Flinds	1.00	EACH	\$2,500.00	\$2,500.00			
Badger Trucks for Pull Day - RM 1 each @ 3500/dy	1.00	LS	\$3,500.00	\$3,500.00			
Hydro Excavator - 2 Ea - Subcontracted	1.00	LS	\$3,500.00	\$3,500.00			
🗰 Spoil Disposal Cost	1.00	EACH	\$768.00	\$768.00			
Hydro Excavator	2.00	EACH	\$1,250.00	\$2,500.00			
Fusion Crew - 18" OD or Less (0.33 LS/DY, 3.05 DY)	1.00	LS	\$9,896.56	\$9,896.56			
Left Fusion Tech	36.60	HR	\$60.77	\$2,224.11			
👤 Laborer	36.60	HR	\$53.98	\$1,975.67			
🚕 Fusion Machine - 6" - 18"	36.60	HR	\$40.50	\$1,482.30			
🦂 Crew Truck	36.60	HR	\$19.50	\$713.70			
🚕 Trailer, Enclosed, Medium	36.60	HR	\$7.00	\$256.20			
🚕 Excavator - 200 Class	36.60	HR	\$88.65	\$3,244.59			
🌮 Steel Casing	1.00	LF	\$1,499.00	\$1,499.00			
11 - Materials - #12 Copper Clad Tracer Wire	1.00	LS	\$220.83	\$220.83	\$240.70	\$240.70	9.00%
🌮 Tracer Wire - #12 Copper Clad	680.00	LF	\$0.32	\$220.83			
Work Type: 0800 Indirects							
44 - Contingency - 10% Of Direct Costs Only No General Conditions	1.00	LS	\$112,625.84	\$112,625.84	\$112,625.84	\$112,625.84	0.00%
Real Contingency	1.00	LS	\$112,625.84	\$112,625.84			
45 - Commercial General Liability Insurance - Rate .3256%	1.00	LS	\$5,620.77	\$5,620.77	\$5,620.77	\$5,620.77	0.00%
Kommercial General Liability Insurance	1.00	LS	\$5,620.77	\$5,620.77			
46 - P&P Bonds	1.00	LS	\$17,918.00	\$17,918.00	\$17,918.00	\$17,918.00	0.00%
H Bond - Performance And Payment Bond	1.00	LS	\$17,918.00	\$17,918.00			
47 - Permit/Fees (Allowance)	1.00	LS	\$28,580.00	\$28,580.00	\$28,580.00	\$28,580.00	0.00%
Permit - TOCR ROW	1.00	LS	\$25,080.00	\$25,080.00			
Permit - TOCR GESC	1.00	LS	\$3,500.00	\$3,500.00			
Work Type: Alternate #1							
48 - Remove OWTS	1.00	LS	\$18,556.10	\$18,556.10	\$20,226.15	\$20,226.15	9.00%
OC - Pipe Crew - 300 Class Excavator - Owned Equipment (0.07 LF/PH, 1.50 DY)	1.00	LF	\$15,311.10	\$15,311.10			
🦂 Crew Truck	15.00	HR	\$19.50	\$292.50			
🚕 Trailer - Tool (Small)	15.00	HR	\$7.00	\$105.00			
🚕 Excavator - Compaction Wheel	15.00	HR	\$13.00	\$195.00			
🚕 Loader - JD 644K (4 CY)	15.00	HR	\$127.72	\$1,915.80			
🥠 Trench Shield [3]	1.50	DY	\$155.00	\$697.50			
🥠 Misc Equipment	15.00	HR	\$13.50	\$202.50			
💂 Foreman	15.00	HR	\$92.96	\$1,394.39			
👤 Operator - Loader	15.00	HR	\$54.82	\$822.29			
Qperator - Excavator [2]	15.00	HR	\$64.79	\$1,943.81			
👤 Pipe Layer	15.00		\$55.00	\$825.06			
Laborer [3]	15.00		\$51.44	\$2,314.65			
🦽 Water Truck - 2000 Gallon	15.00	HR	\$51.50	\$772.50			
🚕 Excavator - 300 Class [2]	15.00		\$127.67	\$3,830.10			
K Trucking - Spoils Removal	7.00	HR	\$135.00	\$945.00			
💥 Dump Fee - Large	2.00	EACH	\$850.00	\$1,700.00			
Pumping Out Septic Tanks	1.00	LS	\$600.00	\$600.00			



EXHIBIT D1

PROJECT SCHEDULE

	Ð	Task Mode	Task Name	Duration	Start	Finish	Predecessors	ME	April B M	May F B
1			Fifth St. Improvements	87 days	Mon 3/31/25	Wed 7/30/25				<u> </u>
2			Erosion Control	3 days	Mon 3/31/25	Wed 4/2/25				
3		-	Survey	5 days	Mon 3/31/25	Fri 4/4/25				
4			HDD Scope	42 days	Thu 4/3/25	Fri 5/30/25			0	
5			HDD Mobilization	5 days	Thu 4/3/25	Wed 4/9/25	2			
6			Sanitary Bore	17 days	Thu 4/10/25	Fri 5/2/25	5			<u>ال</u>
7			Water Bore	20 days	Mon 5/5/25	Fri 5/30/25	6			
8		-,	Open Cut Scope	67 days	Mon 4/28/25	Wed 7/30/25				
9			Open Cut Mobilization	3 days	Mon 4/28/25	Wed 4/30/25	6FS-5 days			
10			Pothole Existing Utilities	10 days	Mon 4/28/25	Fri 5/9/25	6FS-5 days			
1		- 5	Connect to Sewer Bore w/ 6' Dia. MH	2 days	Mon 5/5/25	Tue 5/6/25	6			
12			Install 8" Sewer East (Inc. Manholes)	25 days	Wed 5/7/25	Tue 6/10/25	11			ſ
13		- 4	Install 8" Sewer West	5 days	Wed 6/11/25	Tue 6/17/25	12			
14			Install Sewer South (From MH In Valley DriveTo Bore)	3 days	Wed 6/18/25	Fri 6/20/25	13			
15			Install 4" Service to 2864 Fifth St. (Inc. Tank Removal)	3 days	Mon 6/23/25	Wed 6/25/25	14			
16		- 5	Install 8" Sewer @ St. Francis Access	2 days	Thu 6/26/25	Fri 6/27/25	15			
17		-	Install Hydrant @ St. Francis Access	2 days	Mon 6/30/25	Tue 7/1/25	16			
18		- ,	Connect to Existing Water E. Valley Dr.	1 day	Wed 7/2/25	Wed 7/2/25	17			
19			Water Line from E. Valley Dr. to Fifth St.	5 days	Thu 7/3/25	Thu 7/10/25	18			
20			Connect to Existing Water Bore in Valley Dr.	1 day	Fri 7/11/25	Fri 7/11/25	19			
21		- 5	Water Line from Bore to E. Valley Dr. Connection	5 days	Mon 7/14/25	Fri 7/18/25	20			
22		-5	Connect to Existing Water E. Valley Dr.(Outside ROW)	1 day	Mon 7/21/25	Mon 7/21/25	21			
23		-,	Install Fire Hydrant @ 2607 Fifth St.	2 days	Tue 7/22/25	Wed 7/23/25	22			
24			Surface Restoration	45 days	Wed 5/21/25	Wed 7/23/25	12SS+10 days			l
25			Demob & Site Cleanup	5 days	Thu 7/24/25	Wed 7/30/25	23			

	Task		Project Summary		Manual Task		Start-only	C	Dea
Project: Fifth St. Improvements	Split		Inactive Task		Duration-only		Finish-only	C	Pro
Date: Fri 1/24/25	Milestone	•	Inactive Milestone	\diamond	Manual Summary Rollup		External Tasks		Mar
	Summary	1	Inactive Summary	[Manual Summary	· · · · · ·	External Milestone	\diamond	
					Page 1				

ay B M E	June			July			August B
B M E	В	M	E	В	M	E	<u> </u>
							1)
						-	
						•	
Deadline Progress	+						
Manual Progress							